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empsHGHIdF Qatidl s @

et emLuiit auemTSSL !

2023 - 2024 gy soell g6 LSS urrgjg; Caiey

TUWESHEGSD IEMETSHS  LTEIITaITSEHD  SImUumeT o Gargdl Gum
QTS 2 PSS CaTameH&EL  I|meTs, flufsER&EGLL  Terg)
@sWL LyTanTeT heoTaemiLl Gg,rﬂs)ﬂg;gjaa Gaa

g&Hmedr L01&8 LomemTau &ememiLn,. GlLn m@m LOMETOT6LIT S6EMETLLLD SHihISH6IT
Hlemevudled @\mHgI (siTGeTmmLD 6L U'E 958 TH58IS OSTeTEmHLD
DT ES I ST EhESLD ﬂs@ggg}aﬁmm &l Gamereudled GlLimemL
Qamer&lGmear.

Lomhlev gjemedlev efldglimid Lreu L SHer LSSTD Gl Coi&d sgaisdms
2 WiggIGs mo Crrésd o @Lh. “Gaemel LGTLILITETEmLOILL LD,

IyrLiueosflii i usssflumDmid @ LSl TETMID  SLelETT6)

Y Aisud)é M7 6T6ATLIG) 6TEITEOIEDL I S(HSSI
9@$ LUSSTD uGLY THSGSL Imarsg SfliursEnn 6L,

L&TeUNM, RGSSIULL, SImoiym wreTaiisafler mer wHmId eTEsTmHmLD
&S 998 CEId 8168 9eTsEpmLiu auTpsmsuis eeflGunm Ceustor(Hiomm)
Gl (h&0smsTdlGmsir.
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This material has been prepared in accordance with The TamilNadu
Government State Board Syllabus. | am very happy to inform you that by practicing
all the problems in this material thoroughly will definitely make the students to
score more than 60 percentage of marks in Mathematics in the Public Examination.
I am in a position to express my hearty gratitude to our respected CEO Sir and
DEO Sir for having encouraged my serious attempt to prepare this‘material for

the welfare of the students. Constructive criticisms and valuable suggestions are

always welcome.

A. SIVAMOORTHY,
Government High School,
Perumbakkam,

Villupuram District.

. . w &)1 6) 1 &t e st
SIS LML & &HEN60LIL]
1 2 5 8
1 | 2DesanLd FmIL&enbLD 2 1 1 -
2 | eTauT&HEBLD QSMLTaIflensFsHerpLD 2 1 1 -
3 | BwumsenilsLd 2 1 1 1
4 | eupelied 2 1 1 1
5 | @wusHesneme alpailled 2 1 1 -
6 |WpaBasmeoraled 1 1 - -
7 | Slemalwied 2 1 1 -
8 |uerefiLiweyd BsLDSSRILD 1 2 1 -
eSS QleTTSS6T 14(12) 14(9) 14(7) 2(2)
6\LDMSH& LDSIIGIETOTEH6IT 12 18 35 16

urLiYS55 5860 2.6Tor Simarggl ‘1" wllaua afllormssamamyl HarG uulns
OUMICUSAT ePVLD IIMEUTSHOT GBS 10 WHlUaUATSHAT AUD SweyLb.
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4. augediiey

1. Qar@ssuurL. w&Garewmd POR-&@ @55
ussrisafler aildgw 3 sren SieMWLOTm)] b
alq Claurgs (yaa'»GsrrasgrLb QUENTWa]LD.

(Siemey smemfl > < 1)
giey: 5
2 gafllliuLib
P

P/

2. Qar@ssuurL w&Garewd POR -&@ @55
ussrisafler aildgw % TG SEHLOWLOTM] 62(1h
g Oanrss (p&ECHTERTL aueTa)bd,

(Siemey smriyevsf] (j6mey smiyewfl 75 1)
giey: N
P Lgaﬂ;}&m_lb

P/

~

3. Qer(@&suurL w&Carewrd POR uler 535
ussrisafler all#lgw % STEUT IEMLOWJLOMTM)] 62(1H
algOanrss (p&ECaTERTL aienTwa)d.

2
(Si6mey smyewfl 3 <1.

Siey: P

4. Qar(&ssuurL. w&Csrewrd LMN-af @55
ussrEsaflear all#lgwn % ST SieMLOWLOTM)] (1
alqCargs (p&ECarenTd aiamywaib.

(S16mey smyewi] 4 1).
: 5
gie:

5. Qer(&suurL yp&Garewmd ABC-uler @55
ussrisafler afl#lgwn g ST ieMLOWLOTM)] (1
algOanrss (p&ECaTaRTL aienTLa)b,
(Sierey smrewfl 3 >1).

gie:

6. Qar(hssuurL W&Carewrdy POR -af @55

sT@TDeITDl Q@
algCargs (p&EGCarenTd aiemrwab.

ussEsaflar  alldlgw %

(Siomey srrewfl 7 > 1).
3
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

2

ey P'

7. 3 Q.S Syr@peter QLD  euemra|d.
e L_gdlesr Cuoed P eresrm Leteflewws @mlss
sitierefl anfiCu QZTHCaT(H ausmruawb.

Biey:
b 1 =3 Q&1 e16v18 QaT(HSSLILL (DeTeng).
2 _gailiuL1b

8. 4 Q.S syrEsier  alLLidb euemra|d.
aLLggler gjeter L etesim Uetefl euflumrs

LorHD) auL_LSgiewi (B CapmgemgL
vweruOSs el LSInEs QsrOCHET®H
QUEMITIWQLD.
gieu:

2 _galliuL1b

M

9. 6 Q&5 alllLqpeter QLI eumTHI
aLL dlar  ewvwsIleBhE, 8§ &S
Qzrenevalled P erevtp Lieraflonws @mlssab.
siuyerefluiledimBs PA womw PB  erep
Bm OQsrOHCar@ser euemIHS Seunme
Bermsemer gjerall(Hs.

QarGCa g6 Benmbd PA = PB = 7.4 Q&8
gflumirs$ged:

QlemGanewt (p&Canevwtd OPA-ulled

PA*— 04*=64—-9=55

PA= /55 =7.4 Q.8 (CzmymuLons)
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10. P g enwowionss; Careni 3.4 Cl&.5 sy rpeTer
oM e LgdnE R eaam yereflulled
QzsrHCaT(H auemraiLb.

2 _geafliuLb

11. 4.5 Q&15 guEpsier QLD euenTWaLD.
L L_gglear 155 CseIb e LeraflsE wrmm
eI L sgiem® Coppsdeen LuaLGSSS
QzsTHCaET(H) auemraiLb.

. 5Q8.18 gy T(eTeT QILL_SFleT enwowGSeSlmHbS
10 Q&5 Qgmemevailgierer Leareflulledmbg
aLl L 53n@s CsrhHCasrhaser eiemrwajb.
Gueib AET T Y BeTEIZemeTS
STSHS() 5.

Siey:

. 4 Qa5 Sypsion QUL LD euenThl iFeT

eflumirgge0:

QemCanevet (p&Ganemid OPA ed
PA*= 0P - 04*>=10>*-5*=100-25=175
PA= 75 = 8.6 Q&uS (Carmrmwions)

enwwiSedlphgl 11 &S Cgrensvalleyerer
o yetefloows @ilggl, Sityereflulledimibg

aLlL 5dlnE Qrewi OCstOCsrOHser
QUMITILA|LD.
piey: 2 gefliuib

-~
o
W2
&
?

©

sflurigge:

ClemiGanewst (p&Caresed AOPA §ed

AP = OP* - 04*
=11°-4*=121-16=105

AP =105 =10.2 Q&.18
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14. 6 Q&.15 elllLeter e LD euedTHS

aLL gdlar  ewpwuHelmBs 5 0 Qs
Qsrenevailleter e LeTeflmws @Gnlssal.
Siisiraflufled s L 53HSS
QsTHCar(haser aemrhs CFTHCsHTL I 60T
Berrismens; sewsdl(hs.  (as0.21)(85.22)

giey:

sflumigge0:

ClemIGanewt (p&Ganevwrd AOPA Bed

AP?* = OP* — OA?
=52-32=25-9=16

AP= 16 =4 Qs.8

15. O-emeu ewwWLOTES Osrewi 3.6 ©&.15
SLTPETET QLD euemyweld. UL SHer
enwwgSedlmngl. 7.2 Q.15 Qgrensvallgyerer P
arerp Lertafloowsd @Glsa siiyereafluileflmBs
aL L 53H@&S QsTHCar(Hiser aiemrwab.

2 _galliuL1b

gflurT$ged:
ClemGaewst (p&Ganesid OPA @60
PA>= OP*— 04> =17.2*-3.6

=51.84 - 12.96 = 38.88

P4 = +/38.88 =6.2 Q&.15 (Camrmwions)

%k K
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3. Swnaawigbd

1. aifeflsr QeuaiGaum sierasafled 6 oL Eismamer auenrhgTer. L cuamenTuiled 2 eTereurm), eeibleumam
aLL sdlar afllLgg8lhgw sHmetaln@wLrer @@m amruULL amruelb. SiGmerl UwuaiLhSS,
afl_Lwrerg 6 Q.15 95 DMmEEGWEUTE aL L SSlaTr sHneTenald: SHTewTs.

el L (x) Q&5 1 2 3 4 5

yr!bwma,l (y) Qz.8 3.1 6.2 9.3 | 12.4 | 15.5

1. | L_auemewt:

el L1b (x) Q.S 1 2 3 4 5 6
ahmeney (1) 6g.15 3.1 162]93(124]155]18.6
2.  wrmur: 2 [
Crimommiuin( X &pé 'GIIG;.S.:.Iawq
3. &werur(): TR T g S e e
Y= hx ’
k=233 21.8
X B 1 B 21.7 Y3/
= 18.6 (6.18.6)
y=3lx 15.5 (5155)
4. yereflser: ¥ e | a12a
(1,3.1) (2,6.2) (3,9.3), (4, 12.4), (5, 15.5), & s
(6, 18.6) e o
o (1131)
5. diray: ' X
el L onesigy) 6 Q&5 o5 B)\(m&Eweung) @ e :m. .5.-6 LEP
UL L gdlevr &mmerey = 18.6 Q&5 g

2. @m Cumbgl werflaE S0 H.5/wewfl srarn Syrer Caiasdled Lwenflsdngl. BSCSTLTLSSETET SITLH -
Cryd auemrUL LD auenrhgl, Laraiihaiarainenmns Smewis.
(i) efl#lz&w wrfleflenws srewts. (i) 172 wenfl Crrsdled LwenfléE@w Srw ealauerea;?
(iii) 300 &.15 gTrHemg LwenllsEs aaiaera) CHIL I GW?

1. 9| L_euemewr:

pwewst Gryd x (Bidl-e0) | 60 | 1201180 [ 240|300 | 360
pwesst &y y (H.5-60) | 50°{100.| 150200 | 250 | 300

2. wrmur@: " o A O B B E
Coitommiuin(. et 2 ooy AL il

|y Lo | xede 1 6w = 30 FuSumen
3. sweiur(: 450 | yeilosdlas | -
k= 1 5 Samul L [

x 9 Lol

5 E 300- . e N T e - e

Y= g 2 250

4. yereflser: ||Eb-rzoe 5

(60, 50), (120, 100), (180, 150), (240, 200), E 150 el B = R 4

(300, 250), (360, 300) B B EaE

5. ey . o -
1) eldlgew wmed £ = 3 » o 4 | 3 |

i) 90 Blfl_misefed Liwiews @D 1 9 3 60 90 120 ﬁu mn 210 240 270 300 330 360 3%0 H
s> = 75 8.8 D S L e Lﬂer :

i) 300818 grTSems LLEES Y 1 i”"’ @ i) | | ]

610 5a150lamewT Crrw = 360 Hill_EigeT = 6 wewfl Grid.
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19 |

3. @m Bnpeuearorerg Qsr_sagdle 40 CauameownstaepLear 150 prerseafled m Coaimeenw (pig&ag

4,

Qgr_rmflugl. Ung, Caimeenw afllmreurs sl Uaramorn Camewnsiaamer Fafssg!.

(Be.lmoou.lrrsrraserﬂm ersmmﬂasm& (x) 40 50 60 73

(i) CuCev QaET(HESLILL(H6TET STEUSHEDHEHE UMTLLLD QUMNTHF] OTHILITLIG.6T MG SEHLWITETLD STEwTS.

(ii) euenyuLFHS\BHZI, Bimeueronerg 120 Cauemeowrarsener Gaumend@ sz eallmoiearmed,
Gauemev (Piqll TSSZMET BIETHET G ETEUS HTEWTS.

(iii) Ceusmeowrenrgy 30 mrersafled (g Causwr(Hid sresfled, sTEHmerr Cauemeowmaraear Cgeneu?

Siey: 1. gL Leuenewt (QsTHSsLILL (DeTers))

Geuemeowinenasilest stevtenslsens (x) 30 | 40 | 50 | 60 | 75 | 100 | 120
wreT&elest sreutTenesens (V) 200 | 150 | 120 | 100 | 80 | 60 | 50
2. orpiur: .
Gré"'l'LDngjulT@ 240 7 yew'&.!ms‘;B:ZDl_msimdv
3. &werur(): “—ﬁ: = 30,1200)
xy=k s
xy =40 x 150 = 6000 gl \ -
xy = 6000 % i }5{(40 150)
4. yereflsai: e (50,(120)
(30, 200), (40, 150), (50, 120), (60, 100), _‘E 100 : L Nyeo. o0
(75, 80), (100, 60), (120, 50) gl i 7 Nl
5 grrsq i =L 100} 60)
. 60 o \9\ {120,507
LDIHILINL G687 6uend = erdlionmuim() i i
ii. euenyLILSFle0l(hbal, inieuesioneng 120 i ' i
Geouemeowimeisenem GCeuenevd @ iOTSHS o
elmLlenmed, Couemed (lgwi @ LD O 1b 20 30 40 S0 60 70 8o do 160 tlo 130 :
LI',ITGfTG’onT =50 ‘I_I')I'I'Gfl'ﬁﬂ'l' v Geusmeouneeilepr 67 6vor

iil. euenruLSHed(HHaI, Cousneownesig 200
Breigeled (piqul Ceuem(id 616vNel, CoHemeuwines Cousneowineiaehlesr srevventNsens
= 30 Geuemeowimeira:er
Blagmig), 12 #liS grrsglhsrer wryssrear oL L Sslar Qeunmlumerir gyeurr. gjeuir wewflég 12 &5
eresrm Syner CausSgled iq., Pevsdlenar 1 wewfl CHTSSed MBS, SjaunTS CSTLTHIF Y TTSE0TT,
QurerQumryl, Qwks, ssSwr wHMW HGugr HACuTT WPenGu 6 .S/ wewfl, 4 H.5/wewfl, 3
&.15/1wewfl Hmib 2 H.5/wewfl erairn Caiss5Iled @lg uBSeTT. SQUTHT SibS FMTSMS (PermGw 2 wewfl,
3 wewfl, 4 wewfl, LHDHID 6 wewfl CErSSed JyMLbGeiT. Causd - CHIL, UMTLLL QIETHS SiSeHETL
uu.usuru@ggl wewflé @ 2.4 .15 /1wewfl Caussdled ClFeam Caerdls cr@gg&@a.rrmn_ Gg,lrgmgs STEVTS.

1. oL L_aienevr: YA .; | ]

Geusd (X) m:T:i b
(8.8 /wews) 1216432

Crybywesll | 1 | 2|3 |46

2.  wrmur(:
a1t rmiur(
3. &werur(:
xy =k,
xy=12x1=12
xy=12
4. yereflser:
(12, 1), (6,2),(4,3),(3,4), (2, 6) , : : :
5. Sirey: o | 22.43451,?591911%213,
suenTLIL $Sl60mibal ewisE 2.4 H.u8/wenfl | L | | Gouaib (B15/ecafl) |
Couagdled Clamenéls e1(nsa Oanewi Cryb S wewfl.

Gmiib (ewfl)

, 2
5 AL PSS 2
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5. @m giwflésmLurarg SaTg QMg SMESUTTTSEDSHE uMmEE@L ealterm urmefler 55w 50%
serepugmw Siflallsfingl. G5z allmeas@w SaTEpLIGSHGLTET aumTULL aiamruea|b. G,
(i) suewruL_SSeSlBHSI, 5 eumgsenawmerit T 3250 g serEpLIGWISL CUDHDTEO G5 allneoans

STERTS,
(ii) 3ss aflmeowrerg I 2500 stasfled eTEpLIGMWS SHTEwTs.
I. oL L cuemever: 55(;0{_
GDS5S 1000{2000{3000{4000{5000|{6000(7000 5000  seasgis .
X-21§860 — 1 Q&8 — 1000 6@ s6i
Qg)"m&’ 3 (x) 4500 V-2458l60 — 1 Q&8 — 500 jeo@sen
seenLlg < (Y)| 500 |1000({1500{2000{2500{3000 3500 i
2.  wrmur(: B
Crir ImILITH I e s St S
® o E)3000— (6000, 3000)
3. swerur(: - i
=k & 2500 (5000, 2500)
Y ’_ 500 1 2000 b #4000, 2000:9
~x 1000 2 1?(2)20- _________ (3000, 1500) 1}
y= 1. 1000 (3000, 1000) :
2 500 —-#(1000,1500) :
4. yereflsef: P I:I R
! 0] = [
(1000, 500), (2000, 1000), (3000, 1500), (4000, = = §§3§ e §§§ S *
2000), (5000, 2500), (6000, 3000), (7000. 3500) Ji SIS Osnens
5. direy:
euenTUL_SHedHhg!

1) @ eumgsemswreny I 3250 o setepugwrs Qluppred Ghlss ellensd = 6500
i) @nNss alemeownesg I 2500 etedled Serepuilg = I 1250
6. xy=24,x,y> 0 eretp euemnrLLSmG QUEHTILQILD. QIeTLLGnSL LweTL(HSS),
(i) x = 3 erafled y 26 swewts: HMID (ii) y =6 ererfled x—86 srewts.

1. QL L_auenever: T SieraipAL L
¥ 12 3 6 4 3 B 28 x—gqé:s\') -1 gs.gf 2 Sieu@sen
y-315860 — 1 Ql&.18 — 2 e0@a6i
y |23 ]4] 64812 26
24—
2. wmmumr(:
EAMYINELIC) i
20
3. swerur(®: i
xy=k
xy=12x2=24 i
xy =24 i
it
4. yereflser:
(12,2), (8,3), (6,4), (4,6). (3,8), ]
(2, 12) i
5. grey: i :
uenrLLSFeI B b8! i i
i) x=23etexlled, y =8 2 E
i) y =6 eteviled, x =4 oF 0 0 0 0 A A i i B
X A et AR S ol R R AR, S P
Y’
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7. y= %x ereorp Cuflw FweturL g6 /FriLiler euenruLLd euenrweayw. allflgsn wrifleflenw ewLwrerd
sewi(h), BT euenTUL- Sl Fflumirss. Cueyd (i) x = 9 eresfled y @& srewts. (ii) y = 7.5 erasfled x
5 STEWTS,
giray: 1. S| L euenewr:
x | 21416
Y 1 2 13 4 15 6 | 7 8

0]
—_
e
—_
\S]
—_
A
—_
(o)}

2.  wrmur(: L4
. 10— eSS LLb
G’IBITI:D"@JU"® x—aqirﬂa')a'— laélgflﬁ— 1 o100
3' EI.DGIITLIIT@: 9 V-216860 — 1 Qg.18 — 1 S0
y = kx, o]
1 N I e e e o s Bt et e B oty oy o ot I e
k=—== e !
2 :
1 o :
T ar 5 E
4. yereflsei: 3‘5_ --------------------------- : E
(2, 1), (4.2),(6,3), (8,4, (10,5), ; ;
(10, 5), (12, 6), (14, 7), (16, 8) | :
5. direy: ] E E
euenTLL &6 ba = i E
D) x=9 erafled, p = 4.5 e B
i) y="7.5, etetiled x = 15 XEBE s PN kg X

8. @m Gsriyew Blriug GCsemeauwmer
Gyruseaflar centenflaemsuyn Smas aHFHs Osmerennd Crrepw UeTamw L cmemruiled
Qar(ssLuL(heTerg.

| @ruseafler erentenflsans (x) 2 3 6 9
| 105315 Qamerend Cryw (Y) Blbl_Eisefled 45 30 15 10
CuHaETEmId STa|sHEHsHE almTULLD alenThal, 46
() 5 @yrismer uwaTLuHSSlerTed; CGTLIG Blywu 44
(5815 CarateriiuL CrrSmss srewrs. B ;::::::::Szfi?'i units
(ii) 9 Pfl_risefled QL 1q BlybLilermed, i
vweTUGSSULL L Gruseflet z::
eTevTeuuflGensens: SrewTs. e
Siap: 1. S| Lcuenevr: :z_
Gpmuigeest e
cTesuTEseTS6ma: (X) T3 5169110 a2
61(0 53150\ &TeETHLD % |
Cpid (1) BiB-60 4513018 15|10 9 z(z):
2. wryur@®: edimommun 18
3. swerur(: 16
xy=k 14
xy=2x45=90 12
xy =90 hh
4. yereflsenr: iR
(2,45), (3, 30), (5, 18), (6, 15), (9, 10), (10,9)  °7 |
5. Sirey: - ]
1) 5 @pnisener LwaTL(OSSlenTed, QHm g | |
Blirbu e1(0S818 GlsemenLd sreowd = 18 X'Y? bzt b did 6T 8 4 1pfripiX
Blfl_Eiger. Stema

1) 9 Bi_misefed Qs L. BlbLilesmed, LwWSTLHSSILL L Grussier srewtenisans = 10 @priser
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9. e ueteflurerg), GMILLLL Heo CurLi1gsEH&E, Uflas CgTansullener eredeor LEICHHLITETITSEHSHEGL
Uereuporm swiwors Ufl5s eupri@agns aq;ﬁlaﬂaaﬁl;ggg

umGspurerirsefler srewrenflsams (X) 4 6 8 10

eeaieurm urGspurerflear Qgrens X () 180 90 60 45 36

(i) ellflz&w wrflellenws srewts.

(ii) Cupsreyid FTOHEHHES amTULL aamrbgl, 12 uRCsHuUTTHT LECSHSFS CSHTERTLTed
saiGleur@p LEGsHuTeT@BL QUMD Lfled CFZTMS Falaeme) TRTLMSS HTERTS.

giray: 1. oL L cuenewr: B B
uriGapLrenitaefiles . e I

cemitenéane (x) 2 14|68 |10]12 iz_
elQeunm LRIGsHLIT 160
?nmm Q;fm_’ . 5) 180( 90 | 60 | 45 | 36 [30 | ]
2. wrmur@: =
EAMYINELIC) (%1 ZZ:

3. &swerur(: E j0-

xy=k g 100
xy =2 % 180 = 360 P
xy =360 :g i
4. L|6fl'61ﬂ56fl‘: % 60—
(2, 180), (4, 90), (6, 60), (8, 45), (10, 36), (12,30) = s+
5 drey: s
i) e9lsew wrdled k = 360 »
i) 12 umGanuneriser LEIGC&HSHS C\HTETTL_T6), 10~
@GﬁQm"@B uréJGas,r_f)unm@Lb ngjlb uﬂ&é_’ X/ (? I N I
Ogrens < 30 Y

10. Gumpng Blemeowd HHCs 2 ater QI FHST EUTSHETLD oAl e
BmSsIs_$3led QupLILBHIL s L ewrg CFrens Uleraimommi:

Cryib (wewflufled) (x) 4 8 12 24
sLLewrg Qgrens X (1) 60 120 180 360
QupLLIL S L ewTs CFrensrarg) eurseard Bimssuubw Crrsdlng Coir wrmuriq.ed 2 eTerg
3|6060F)] T\ LOTMILIML_Iq.60 2_6TETSIT 6TAT 4TS, QST(HSSLILLL ST SHmeT UL SS6d GnlsaayLb.
Gued, () BimiSs®w Crrw 6 wenfl arafled, sLLamrstsransamus srewrs. (i) T150 » sLLwrs
Qgremswnsé Ceiss) BmbsTed, BMSsuuLL Crrsdlear siereneas srewnrs.

girey: 1. o1 cusmenr; sl o T
Gryd (wewfulled) (x) 4 | 6 | 8 [ 10| 12| 24 P

sLLewis Qsnema 3 (v) | 60 | 90 [ 120 150] 180360 | 1]

’60)

300

2.  wrmumr(h: 280
Coimormyur® S@Lb. e
3. swerur(: ZZ:
y= kx £ 200
Y 60 8180
LTl =
y= 15x L
4. yereflser: iZZ—
s gl., 60), (6, 90), (8, 120), (10, 150), (12, 180), (24, 320) i
. drey: i
1) Bussiu@w Crrw 6 we ereed, jg_
s L ew1s Clgrens = 90. 20-
i) ¥ 150 g s Lew15 Qpnenswns Cleas5H DmboTed, < SEEEEE BN SRR R
@ngguuLL @5“’5&]6&[ é.IGTTQ_I — 10 LDGUUﬂ GEITL'D. XY, A5 L SRR L R 105"13‘.6 1416 718720 2212426
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

=2

1. LMOYSGHID SiTiiLISGmLD

2 B WICLIGHISH 6T

1.

AxB=1{@3,2),3,4),(5,2), (5, 4)} ererfled
A wpmb B-gy srewis. (e&11.20 ) (ay5.22 )
Siey:
AxB={@3,2),3,4),(5,2),(5,4)}
A=1{4 x B -Wer pged o wsblgneneoe,
2 miLiLsefest sewtid }. etevrGeu A = {3, 5}

B = {4 x B -ulles1 @rewiLnd o wiS5blgneneve,
2_miliysefest sewid | . etesiGeu B = {2, 4}

A={3,5) wpmib B = {2, 4}

Hereumeucreunnfling 4 X B, A X A wpHmb

B x A g5 srewis.

i) A={2, -2, 3} wdmd B = {1, —4}

iyA=B=1{p,q} ii)A={mn};B=0

girey:
AXB =1{2,-2,3} x {1,-4}
= {(2’ 1)9 (29 _4): (_2v 1)7 (_29 ‘4)3
G, D, 34)}
AxA =1{2,-2,3} x {2,-2,3}
= {(2a 2)a(25 72)5(27 3)7(725 2)3(72a 72)&
(_23 3)5(37 2)9(39 _2)9 (3a 3)}
BxA4 ={1,-4} x{2,-2,3}
= {(1’ 2)9 (1: _2)7 (19 3): (_4, 2)9
(-4, -2), (4. 3)}
A=B =ip,q}
AxB = ip,q} X P, q;
= . p) 0, 9 (4:2)-(.9)}
AxA4 = ip.q} *p,q4
= . p) (929), (4, P)(q ,9);
BxA4 = ip,qi 1w q;

= {(p:p) 0, 9, (4, P), (¢ .9}

iii) A= {m, n},B=¢

AXB = Amm) < {}=1{}
AxA = {(m,m)} * {m,n)

= {(m, m), (m, ), (, m), (n, m)}
BxA = {}x{mn}=1{}

A=1{1, 2,3} vombd B = {x | x etewrugl 10 -go
afl_é& Al usr erewt} eTafled, 4 X B wHmjbd
B x A gyflwaihenns smevwrs.
giey:

A=1{1,2,3}, B=1{2,3,5,7}
AxB=1{123) x {2,357

= {(1,2), (1, 3), (L, 5),(1,7),(2,2),
(2,3),(2,5),(2,7),3,2),(3,3),
(3,5), (3,1}
BxA= 123,57 x{1,2,3}
= {2, 1),(2,2),(2,3),3,1),(3,2),
(3’ 3)7 (5’ 1)’ (55 2)’ (5’ 3)9 (7’ 1),
(7,2),(7,3)}

B x A ={(-2,3), (=2, 4), (0, 3), (0, 4), (3, 3),
3, 4)} erefled, 4 wHMIS B YHweuHenms
STERTS.
A = {B x A-uilesr @revvL_meug
SHWSCFTENeve| 2 MiLiLjseles SHewwTid}
eteotGeu, 4 = {3, 4}
B = {Bx4-ulevt (pg60 15 Clzneneve
2 miliLSefleir sewrld |
etei@eu, B = {-2, 0, 3}
steiGeu, A = (3,4}, B= {-2, 0,3}

L Sefled ST CLIL Beiter (LL1b) SIBLEEH
uLionerg P womis O  SewTmsEn&sTeT
2_penais GHlsHarnsl. D65 2 nemeal

p Q

(i) sewr sL_LewLIL (penm

(ii) uLigwed wenmaefled eT(psIs.

(iii) R-er UL WHMID aIFFH5mBEH
STE0TS.

R uilevt S6w01 HL_L_60LOLIL (LPEDM
=iy |y=x-2,xeP,yeQj

R ullest L 1qu160 (Lpewm
=1(5,3),(6,4),(7,5)}

R Wllest wdliiusid = {5, 6, 7} wHmID
R Wevt ef&ga1bd = {3, 4, 5}

X=1{1,2,3,4}, Y =1{2,4, 6,8, 10} wpmb
R ={1,2), 2,9, (3, 6), (4, 8)} ererfled, R
SOTG R FTTY eTerd ST_(hs. GCueyd
SIS@T LIIILSD, Flenewr LIILILSLD LHMILD
alfes5m36 SrewTs.

X R Y
2

l;‘
’8
10
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UL GFled R @mlsaLiLiL(heTeng.

eeubleun(h x € X-&@ 1, 6T e v € Y2 miuiy
LW SlewL_sSmg,.

e16uG6u X~ 63T 676060 2 MILIL|SHEHEHGLD V-60
@G e Hlped 2_(1F 2_aTeng).

61651Geu R- L6818 62(1H FIMTL| h(GLD.
wdliusw X = {1, 2, 3,4}

glemevet s Y= {2,4,6,8, 10}
ef&sabd =12, 4, 6, 8}

7. A4={1,2,3,4,..., 45} wHpmid R eTestm 2_mey
“A-wler 1831, e erewTenfledt QufSHLD" eTewr
QuEHTWMIHSILLLTed R -g5 AxA-ullest
2 L SenTions e1(pgls. Cuoad R-&smer
wIHILSSHSWLD, TFEESMHSWLD STRTs.
A=1{1,2,3,....,45}

R={(1,1),(2,4),(3,9), (4, 16),(5,25),(6,36)}
R oyevigl (4 x A) ullest 2 L sewid eTevLIg)
QzeMeurdlmg.

wdiusn = {1,2,3,4,5, 6}

Sssan = {1,4,9, 16,25, 36}

8. R erevrm e 2-m&y {(x,y)/y=x+3,xe{0,1,
2,3, 4, 5}} etenrs; Qar(ssUuL(heterg e
wllussmsuwb alFess5mIULD semrnls.
x=10,1,2,3,4,5}
fx)=y=x+3
A0) =3 A1) =4 2) =5;
£3)=6:fi4) =T: 15)=8
~R=1{(0,3),(1,4),(2,5),(3:6),(4,7), (5, 8)}
wdliusw = {0, 1, 2, 3, 4, 5}

Ssemd = {(3,4,5,6,7,8)

9. Qem@&suuLL &sTiY f : x — x> — 5x +
6, eraflo, (i) fI=1) (i) f2) pFueupep
walif@Hs.

QriE x> x*—5x+6
=S Ax)=x*-5x+6

i) A=) =(1yY-5-1)+6

= 1+5+6
=12

ii) f2) = (2 -5(22)+6

=4-10+6
=0

10. f etevrm &mijy fix) = 3 — 2x eTawr euMTWMISHSLI
u@&ng1. f(x?) = (fix))* ereufled x @& sHrewrs.
fix)=3-2x
Qar®&suL (Haterg) fx*) = [f(x)]?

3-2x% = [3-2x]?
= 3-2x% = 9+4x2—12x
3-2x2-9-4x*+12x =0
= 6x*+12x—-6 = 0+-6
XX-2x+1=0
x-DExE-1H=0=x=1,1

11. A={1,2,3,4} wpmb B = N erers.
Guepid £ : 4 — B syemsi flx) =x° eteor
aueTunSEsILHEIDG erafled, (i) f -uller
alfess5mazs srenrs. (i) [ oralaems el
TGOS SITCTS.

A=1{1,2,3,4}, B=N
f1A—=B, fix)=x°
A==l A2)=@2)=8;
fB)=0)=27, fi4)=4) =64
i) eSesan—={1,8,27, 64}
ii). e5&aa1b # glewewwt I ILISLD 6TETLIGTED
B3l @@ 2-61 5L HGLD.
5 OB IALIGDIBET

1. A={1,3,5), B={2,3} ereslled
(i) 4% Buwpmw B x 4 - srewrs.
(ii) 4 x B =B x A gy@wr? Bedeneolesfled

eTeuT?
(iiii) (4 x B) = n(B x A) = n(A) x n(B) erewss
s ([H\s.
gijey:

QanssLiu’ (pererg: 4 = {1, 3,5}, B= {2, 3}
i) AxB={1,3,5} x{2x3)
=1{(1,2),(1,3),(3,2),(3,3),(5,2),(5,3)}
(1)
BxA={2x3}x{l,3,5}
={2,1),(2,3),(2,5),3,1),3,3),3,5)}
—©
ii) (1) wmHmibd (2)-6v1 epeoonss A X B# B < A
e0eseriled (1, 2) # (2, 1) wHmiLd
(1,3))#@3, 1)...
iii) 7(4) = 3; n(B) =2
(1) wpmibd (2)-eSlmbel Bmd srewrLg),
nAxB) =n(BxA)=6;
n(A)*xn(B)=3x2=6
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25Ceu, n(4 x B)= n(B x A)
= n(4) x n(B)

2. A={xeN|1<x<4},B={xecW|0<x<2}
wpmid C = {xe N | x < 3} ereurs.
(i) AxBUO)=A*xB)U(Ax*C()
(i) A x (BN C)=(4x B)n (4 x C)
aTeTLeTaUDDE SFFlLITTSHS.
gier:
A={xeN|1<x<4}=1{2, 3},
B={xeW|0<x<2}={0,1},
C={xeN|x<3}={1,2}
i) Ax(BUC=AxB)udxC)
BuC ={0,1} U {1,2} ={0,1,2}
Ax(BuUC) ={2,3} x{0,1,2}
=1{(2,0),(2,1),(2,2),3,0),3, 1), 3, 2);

(1)

AxB = {2,3} x{0, 1}
=(2,0),(2,1),(3,0), 3, 1)}

AxC =1{2,3} x{1,2}

={2,1,2,2),3,1),3,2)}
(AXB)u (4AxC)={(2,0),(2,1),(3,0),(3,1) }u
{(2.,1),(2,2), 3, 1), 3,2)}
=1{(2,0),(2,1),(2,2),(3,0), (3, 1),(3,2)}
eee @
(1)=@)
LAX(BUC)=(A4*xB)u (4 xC) eetiLig
FunfssiuL L g).

i) AX(BNCO)=AXxB)nAx*x0)
BN C={0,1} n{1,2} = {1}
AxX(BNC) ={2,3} x{I}
= {2, D):G, D —- (1)
AxB = {2,31x{0,1}
= 12.0),(2,1),3,0), 3, D}
AxC=42,3} x {1,2}
=12, 1),(2,2),3, 1), 3,2)}
(AxB) N (4xC) = {(2,0), (2, 1), (3, 0), 3, D}
(@2 1),(2,2),3,1),(,2)
DG Q)
(H=®
JAXBNO)=AXB)Nn(AxC)
eTevTLIg) ERLMTSSLILL L ).

3. A=1{56},B=1{4,5,6},C=15,6, 7}, erefled
AxA=(BxB)n(CxC) etenns sr_(Hhs.

siyey:
A=1{56Y,B=1{4,56),C=1{5,6,7)
LHS:
AxA = {56} x {5 6}
= {(53 5)’ (59 6)) (6’ 5)9 (69 6)} T (1)
RHS: (BXB)n(Cx ()
BxB ={4,5,6} x{4,5,6}
{4, 4, 4, 5), (4, 6), (5, 4), (5, 5),
(5, 6), (6, 4), (6,5), (6, 6)}
{5,6,7} x{5,6,7}
{(5’ 5)9 (5’ 6)’ (55 7)’ (6’ 5)5 (6’ 6)9
(6,7),(7,5),(7,6),(7, 1)}
L(BXB)N (CxC)={ (5, 5)+(3,6),(6, 5), (6,6)}
- (2)

CxC =

- (1) whHmib (2) eSmpa LHS = RHS.

4. A={1,2,3}, B =1{2,3, 5}, C = {3, 4} wHmid
D=1{1,3,5 eefled (4~ C) x (BN D)=
(4 x B) N (C % D) etatLigy) 2_emTenowim eTeur
Gengdlsaab.
Biey:
AnC=41,2,3} n {3, 4}
AN C={3}
BND=1{2,3,5} n{1,3,5}
BnD={3,5}
AN C)x(BND) ={3} x{3,5}
={3,3).6,%} (@)
AxB = {1,2,3} x{2,3,5}
{(1,2), (1, 3), (1,5), (2, 2), (2, 3),
(2,5),(3,2),(3,3),3,5)}
CxD = {3,4} x {1,3,5}
= {3, 1),3,3),(3,5),(4,1),(4,3),(4,5)}
AxB)n(CxD)={3,3),3,5} (2
(1) oHmibd (2) swibd.
AN C)yx(BND)=A*xB)n(CxD)

eTeuTLIG FRLMTSSLILIL L g).

5. A={xeW|x<2},B={xeN|1<x <4}
womw C = {3, 5} aafled, SCp CarH S
UL (erer gwearur(hsemerd SflLmTss.

(i) AxBUO=A*xB)uAxC()

(i) Ax (B C)= (4% B) (4% C) (ashiz1)
(iii) (4 UB) x C= (4 x C) U (B % C)

giey:

A={xeW/x<2}=4=1{0,1}
B={xeN/1<x<4}

= B=1{2,3,4};C=1{3,5)
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i) AxBuUuO)=AxB)uxC().
BuC=1{2,3,4, u{3,5}
BuC=1{2,3,4,5}

AXx(BuO)={0,1} x{2,3,4,5}
= {(0,2),(0,3),(0,4),(0,5), (1, 2),
(1’3)5(174)’(175)} T (1)
AxB={0,1} x {2,3,4}
={(0,2),(0,3),(0,4),(1,2),(1,3),(1,4);
AxC={0,1} x {3,5}
= {(0,3), (0,5), (1, 3), (1, 5)}
LA@AxB)yu(xC)=1{(0,2),(0,3),(0,4),
(0,5),(1,2),(1,3),
(1’ 4)’ (1’ 5)} T (2)

(1) =(2) eted1gy EfUMTESSLILL L G).

i) AX(BNC)= AXxB)n(AxC)
BAC=1{2,3,4Yn{3,5 = {3}

Ax(BnC)=1{(0,3),(1,3)} - (1)
AxB=1{0,1} x {2,3,4}
=1{(0,2),(0, 3),(0,4), (1,2), (1,3), (1,4}

AxC=1{0,1} x {3,5)
= {(0,3), (0, ), (1,3), (1, 5)}
LUXBY AU C)=1{(0,3),(1,3)} - (2)

S (1) =(2) etev1gy #flunissLLL L g).

iii) (AUB)xC=(AxC)U(Bx ()
AUB =1{0,1} U {2,3,4}
=1{0,1,2,3,4}
~(AUB)x C=10,1,2,3,4} x {3,5)
={(0, 3), (0, 5), (1, 3), (1, 5), (2,3), (2, 5),
(3,3),(3,5),(4,3),(4,5)} - (1)
AxC =101} % {3,5)
={(0, 3), (0, 5), (L, 3), (1,.5)}
BxC =12,3,4} x (3,5}
= {gZ),}3), (2,5),3,3), 3, 5), (4, 3), (4,
L@ xOuBxC)={(0,3),(0,5), (1, 3),
(1,5),(2,3),(2,5),
(3,3), (3, 95), (4,3),
(4,5)} - (2)
- (1)=(2) LHS = RHS

6. A eteiugl 8-z allé @Gewpeurer Guwed
aewiseflar sewrd, B ereiug 8-m efls
GoDeureT LT eTewiseflor sewrd wHMW C
= etaTLg DU enLLiLenL LST eTewTserler
sewTid eTeulle0, SpaenTcunenné Fflumiss.
) ANB)xC=(Ax O (B*C)
(if) AX(B ~C) = (4xB) — (4xC)

diey:
A=1{1,2,3,4,5,6,7)
B=1{2,3,5,7) C={2}
HlemL158 Gouewsrig.wig:
) UNnB)xC=A*xC)n(Bx*xC)
ANB = {1,2,3,4,5,6,7) N (2,3, 5,7}
= 2,3,5,7)
(ANB)x C=1{2,3,5,7} x {2}
C(AAB) X C=1{22),(3,2), 5, 2), (7,2}

— (1)
AxC =1{1,2,3,4,56,7 x {2}
={(1,2),(2,2),(3,2),(4,2), (5, 2),
(6,2),(7,2)}
BxC =12,3,57) x {2
={(2,2),(3,2),(5,2), (7, 2)}
(AxC)n(BxC)
= {(25 2): (3’ 2)’ (5’ 2)’ (75 2)} T (2)

- (1) whmnb Q) eSmbal, LHS = RHS.

ii) AxB-CO)=@Ax*xB)-(4xC)
B-C=42,3,5,7} — {2} = {3,5,7}
Ax (B=C)=1{1,2,3,4,5,6,7}%{3,5, 7}
={(1,3),(1,5),(1,7),(2,3),(2,9),
(2,7),(3,3),3,5),3,7), (4, 3),
(4,5),(4,7), (5, 3),(5,5), (5,7),
(6, 3), (6,5),(6,7),(7,3),(7,5),
(7, D} - (1)
AxB=1{1,2,3,4,567 x{2,3,5, 7}
= {(12), (1,3), (1,5), (1,7), (252), (2,3),
(2,5), (2,7), (352), (3,3), (3,5), (3,7),
(42), (4.3), (4.5), (4,7), (52), (5.3),
(5,5), (5,7), (622), (6,3), (6,5),(6,7),
(32), (7,3), (7,5), (7,7)}
AxC=1{1,2,3,4,5,6, 7 x{2}
= {2, (Z2), (322), (42), (572), (652),
(32)}
(AxB)—(4xC)
={(1,3), (1,5), (1,7), (2,3), (2,5), (2,7), (3,3),
(3,5), (3,7), (4.3), (4,5), (4,7), (5,3), (5,5),
(5,7), (6,3), (6,5), (6,7), (7,3), (7,5), (7,2})
(H=(2)
ZAX(B-C)=(AxB)—(4xC)

eTeuTLIG FRLMTSSLILIL L g).

7. A=1{3,4,7,8} wpmb B = {1,7, 10} erexfled &1
2 ater SewrEIZefled eTemeu A eSlBHSH B-5d
ST 2_meneus; GnlSHaTng)?
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H R, ={G,7),4,7),(7,10), (8, 1)}

(i) R,=1{@3, 1), 4,12)}

(iii)) R; = {3, 7), 4, 10), (7, 7), (7, 8), (8, 11),

8, 7), (8,10)}
giey:
AxB={(3,1),3,7),3,10),(4,1),(4,7),
4,10), (7, 1),(7,7), (7, 10), (8, 1),
(3,7), (8, 10)}

i) R, c4 x B etetiLensg s snemreontd. etesiGe,
R, etes1LIg) 4 -e0\([BBGI B -&6@ L6 2-mey
SO,

ii) @mi@, (4, 12)eR,, syevmed (4, 12) ¢ A x B.
e1e51Geu R, oyev1g) A-ed(mibgl B-6@ peur
2 me| Gedemev.

iii) @i, (7, 8) e R,, oyevmmed (7, 8) ¢ 4 x B.
e1651Geu, R, oy em1g) A-60\(bHHgI B-5@ 60
2 mey Pevemev.

8. A=1{1,2,3,7 womw B = {3, 0, -1, 7},
ereumeusreumnmiled steneu A eSl(pi5 B-&a e
2_MeyseTm@L?

B R ={2,1), (7, D} (i) R,={(-1,1)}

(iii) Ry = {(2, -1), (7, 7), (1, 3)}

(iV) R4 = {(79 _1)9 (03 3)9 (39 3)5 (Oa 7)}

girey:
A=1{1,2,3,7} wpmibd B={3,0,-1,7}
DAxB =4{1,2,3,7} x {3,0,-1,7}
=1(1,3),(1,0), (1, -1), (1, 7),/(25 3),
(2’ O)a (27 _1)5 (2’ 7): (3’ 3)a (3’ O)a
(33 _1)3 (39 7)9 (79 3)5 (77 0)) (77 _1)9
(7,7}

i) Rl = {(25 1)’ (73 1)}a (2’ 1) ERI
opeummed (2, 1) g A X B
-~ R, @m 2-mey 6v6v.

ii) R2 = {(_13 1)}5 (_19 1) €R2
Speommed (<1, 1) ¢4 x B
~ R, @@ 2-mey j606v.

iii) R3 = {(2’ _1), (77 7)5 (1’ 3)}3 R3 gA X B
5 R; @ 2-mey.

iv) R, = {(7,-1), (0, 3), (3, 3), (0, 7)},

(0, 3),(0,7)eR, etev1L181 A X B 60 2_mLiL}
3|6V6V.
"R, e 2-mey 606v.

9. QSMESSLLLL 2 paset @aiGaITaTapLD
(1) oysEGM LLLb (2) euenruLLd
(3) uLliqgwed (enmuiled GHnfléa.

(@) {C,p) [x=2y,x€e{2,3,4,5},y € {1,2,3,4}
(i) {(, ») [y = x + 3, x, y QFluemes Quied
eTesrser < 10}
Siey:
() {(x,y)|x=2y,xe{2,3,4,5},ye {1,2,3,4}
x=2y
M) =35 f) =3 =1 f3) =3

A =2=25-2

1. ouysEGM uLLb 2. euemruLLd
A
4_
X TR Y 3]
- 2 +(4,2)
’ =@
1 I 1 =
1 2 3 4

3. aflens Camg
{2,1), (4,2)}

(ii) {(x,p) |y =x+ 3, x, y spflweneu Puwied eTewts e
<10}
) =x+3;
=4, 12)=5; B)=6;, (H)=T,
A5)=8;f(6)=9

1. Suwys@G L Lb: 2.uemrLL_Lb:
A
9 *(6,9)
X /]_3\ v 87 6.9
1 1 T *(4,0)
2 2 6 *(3,6)
3 ‘ 3 51 «(2,5)
4 4 44 o(1,4)
5 5
6 6|
; N P
8 '8 5
) N TITIIE

3. auflens Gamg:
{(1,4),(2,5),3,6),4,7), (5, 8), (6,9)}
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10. e mBmeersgled 2 sellwrerjsear (4),

LA ={1,2,3, 4} vpms B = {2, 5, 8, 11, 14}

aupdziaer (C), Gueorerjser (M) wHmd
Blieundlser (F) opflw mrerg Uifleysefled
uesflurerjser 2 eterery. A, C, M wHmd
E Jfley uvesflurerjsens@ eadlumiser
weopGu I 10,000, I 25,000, T 50,000
womw I 1,00,000 sy@w. 4, 4,, 4;, A,
womw A, HHACury o gefllurerjser C,,
C,, C,, C, F0uny erwpsziser M,, M,,
M, <oACuriser GueomeriseT  LOHMILD
E,, E, o#Cury mljeundlser speuf. xRy
aerm 2. mailed X eTATUS y TATUAIHSESHS
Qar@&suuLrL. eafluw eefled R-6rerm
2 pemal, aflmss Gsmgser eYeLTSHOD
SbLSEGM UL eevwrsa|d GBILLIHs.
giey:

a) euflens Gamg:

{ (10000, 4,), (10000, 4,), (10000, 4,),
(10000, 4,), (10000, 4,) (25000, C,),
(25000, C,), (25000, Cy), (25000, C,),
(50000, M,), (50000, M,), (50000, M,)
(100000, E,), (100000, E,) }

b) sSUSGM) LLLb:

ZFP)<

=

Q00 0
E NS I )

22Z

w

leslies
o=

eTeTLeT @ SHewTEIS6T 6Teis. f 1 A — B eTgpd
griL f{x) =3x— 1 ereors Qar(HsasLIuL(heTers.
@serileners Clameswt(H
(i) SWwysSSGM uLLd

(ii) L L_cuemevor

(iii) uflenss Gamqsafler sevwrid

(iv) suemruL1d gFlweunenms Gnilss.

gio:

A=1{1,2,3,4},B=1{2,5,8,11, 14}
fix)=3x-1
SAH=3(1)-1=3-1=2;
fi2)=32)-1=6-1=5£3)=33)-1

=9-1=8§;

fA=34)-1=12-1=11

gmiy R = {(1, 2), (2, 5), (3, 8), (4, 11)}
i. QWUSSM LLLb:

x
L
2 5
3 > 8
4 > 11

14

ii. 9L L_euemevor:

iii. auflens Gamg:
(1, 2),(2,5), 3, 8), 4, 1)}

V. eUemILIL_LD:
A
12

10—

12. f: N — N etetp smijuresg) f (x) = 3x + 2,

X € N ete0r auemuUMISSLILILLTe0

(i) 1, 2, 3-uflest Bliped 2_(HEZMETS SHTEwTS.

(i) 29 wHmID 53 -ullesT (e 2 (HESMmeTS
STEoTS.

(ii) errilesr euemsmws SrewTs.

f: N — N etetip anijunengy) f(x) = 3x + 2 etewr

auenrunISsLILL (h6Teng).

x=1eefeo, f(1)=3(1)+2=5

x=2 etetle0, (2)=3(2) +2=38

x =3 eterllov, (3)=3(3)+2=11

1,2, 3 -uflevt Sliped 2 (m&sei (pewmGuwi S5, 8, 11

SSLD.
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9] 6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB
LY ]
ii) 29-uflevt (pevt 2 x e16¥l60, fx) = 29. ere81CGeu | 14. f: 4 — B ettty FTLITGTS
3x+2=29;3x=27=x=0. _X .
. . i _ Jx) == — 1 etewr suemmumiSSLILGS DI
Beng1GLTeGeu, 53-68T (L6t 2_(1h X 6T6rTleV, 2
1) = 53. eremGeu, 3x +2 = 53 i, A=1{2,4,6,10,12}, B=1{0,1,2,4,5,9}.
3¥=53-2=3x=51=x=17 25 BGHELGUrg sy f-g Uatagn
wermaafled Gnlés.
i) euflengs Camgsaflar sewrd
ii) QL L euenever
iii) QUSEGM LLLb
iv) euenruL_1D

eteurGeu, 29 MHMID 53 -ullewt (Lp6vT 2 (HSS6i
peomGui 9 wHmd 17 oy @Lb.

iii) NV -ullesr QeueiGoumi 2 mLILBEHSHES SienevwT
wHILSESHed OGeuaiGoum Hlped 2 (HSS6i

2 _6ITET6UT.

giyey:
5o f US| QRETMISE) QEITDNET SMTLINEGLD. X
Jfx)=%-1

S -ullest gremeser wliLigomesig) N. 2

efggad f= {5,8, 11, 14, 17, ....} sypevg x=2=>f2)=1-1=0
N-611 (8 2 L_&6wTIDm@)Ld. x=4=f4)=2-1=1
e1651Ge, f g6zl CoedaniyL| Bevenev. x=6=£f6)=3-1=2
SIBTeuZ, [ 2 L &L ShGSLD. x=10=A10)=5—-1=4
stenGeu, [ LeMEI RETMISHES QETTDNES HDILD x=12=/12)=6-1=5

LI_EWLI%@LD ____________________________________ i) auflmes Cargseflesr sewro:

13. f={1,2), (2, 2), (3, 2), 4, 3), (5, 4)} erextm /=12,0), (4, 1), (6, 2), (10, 4), (12, 5)}
griilener (i) QdUSEGSM) LILLb

(ii) oJL_L_euemever (iii) euenTLLLD eeVLDTSHE i) Sili-euenewr:

Splésajb. X 2 4 6 | 10 | 12
Zion fx)| 0 1 2 4 5
i SIBLHEH LLb: iii) QySEGSM) LL1b:

~N_ S

4 >1

6 >

10 4

12 5

iv) euemuL_Lb:

ii. S L_cuemewor: A

X 1 2 3 4 5 6
fx)| 2 2 2 3 4 5 «(12,5)
. 4 (10, 4)
1il. eueMFLIL_LD:
A 37 6
6_ 2— '( 5 )
1+ o(4,1)
oy 2’?) N R S
4] .(5’4) 2 4 6 8 10 12
3 *(4,3)
ol . 2,2) * %k Kk
(1,2) 3,2
1_
0 1 | >
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2. GIGBISEHID OGLITeUTENE5GHLD

2 1DFILIEHIHET

1. a’ x b* =800 eresrmeurm jewwowjd Hm Wens

P(p&s6T a HMIL b gy sTewrs.

Siey:

800 = a® x b°

800 =2x2x2x2x2x5x5=2x%x52
~a=2,b=5(e06081) a=5,b=2

2. 252525 wpmib 363636 ereirm srewraeafleur

(S \S I \S I \S I (S ) \S)

15.Qur.6u SrevwTs.

W 3 W W W NN

1
37

363636

181818

90909

30303

10101

3367

37
1

| 800
400
[200°
100
[50
25—
5

481

252525
50505
10101
3367
481

37

1

252525 =3 x 5% x 7 x 13 x 37
363636 =2% x 33 x 7 x 13 x 37

252525 wpmid 363636 Gevr 15.6lLIT.6u

=3 x7x13x37

3. 13824 =2 x 3 ererfled, a wHmd b-uflewr iy

STEoTS,
Siey:

= 13824 =

[SSIRUSTE (S I \S I (O I (S N T (O R SRS IS )

29 x 33

sa=9,b=3

13824
6912
3456
1728
864
432
216
108
54

27

=)

W

g LILIenL eTewvTevuflied CznmsmzLi
vweruBhGS 408 wHmd 170 ereirm eTevraeflest
15.0um.1o LHMID 15.CLIT.eu SHTewTs.

2

4082|170
2[204 5|85
2[102 17
351
i
408 =23 x 3 x 17
170 =2 x5 x 17

408, 170 @ev1 15.Qlumeu =2 x 17 =34
408, 170 @evr 15.8.10= 23 x 3 x 5 x 17
= 2040

owm Osr_jauflemsuler Curg 2.muy
Hereu@morm eusnrunissunhiEing.

{n(n +3);
a,=

n’+1,

nelN i e eewt

neN e @  enL erewt
11-eug) 2-mjy oHmd 18-eug) 2 ML srewTs.
1 =11 6T6¥TLIZ RMEND 6TEWT ETEVTLISHN6V, 1, SevT
i srever n = 11 616wt

a,=n(n+3)ulled ArdluiL_,

l1-eugi e miiiy a,, =11 (11 +3) =154

n =18 e1681L1g) QL enL_LILIenL 6T6w5T
STETLISN6Y, ¢ B6vT S| Sevet

n=18 etewr a,= n* + 1 uled ArHui_

18 eugl 2 mitiy a, = 182 +1=325

Spss et g jaflenssereeaitlarsarlew
n-eugl MmUY Csrssuur(Herergl. iFled
GOLLl_Heter 2 mILILSmeTs: STewTs.

n
) a,= > a; wppid a,

(i) @, = —(n* — 4); a, LOOID a,,

giey:
S5n
i. a =
" on+2
6 8 4’ 13 15

ii. a,=—(n*—4)
a,=— (16— 4)=—12
a, =—(121 - 4) =117
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

2
“ 1, of @r_eeaewt necN
~ _ | n+3
. oa,= )
LN D 60D 6TEwsT neN
i1 PP
eeTugl n-eugl 2-mi eresfled, a, LHMID @,
STERTS,
Siiey: o
n @rLenL e16vled ag Gevt mﬁuq
64-1 _ 63 +3
ag=——
111 )
n @Denm eTeled a, s Bevt LI il

(15 225
M7 3041 31

8. -11, -15, -19, .. eaim &al (NG OSTLI
aflesuilar 19-a1g 2 miLienus srewis.
ia:
Ll (DS L6t n-6ug) 2 miLiL
t, =a+(n-1)d
a =-11;d=-15+11=-4;n=19
tg=—11+18(—4)
=-11-72
to=-83

9. 16,11,6,1,...cresrm S0 (hS QsTFeuflenguiled
—54 eS| ETSSENETWITEUS] 2 MILIL|?
Sirey:

n:[l—a)+l
d

a=16; d=11-16=-5; [=+54

=2l o o

10. 9, 15, 21, 27,%..; 183 ereiip &Sal (S
Qg,rru'ymlﬂmauﬂas'r B(H 2-MILIL|SENETS SHTewRTS.

9,
it
\02

,d 6,/=183

[ )+1
_183-9 174
6

+1=——"+1=
6
o 15 peugl 2 mitigw 16 gyeug 2 mitilw kb
2_MmIUL&eTm&Lb.
t,=a+mn-1)d
Stis=a+14d L6
=9+ 14(6)
=9+84
=93

a=

8 29+1=30

=q+ 15d
=9+ 15(6)
=9+90
=99

.93, 99 eresiLien @ &8aL (DG ClGmiy
auflenaullest B 2 ML ILSeTTSLD.

11. 3+ k, 18 — k, 5k + 1 srsfruenat @@ sal -0\
Qar_ieuflenguiled 2 ereresr eresfled, £k uflewr
SIS SrewTs.
3+k 18—k, 5k+ 1 etesieneu
R FaL_(D5 OFT_Teuflens

t,—t =t,—t,
(18— k)~ (3+k) = (5k+1)— (18— k)
15-2k =6k—17
—2k—6k =-17-15
8k = -32
k=4

12. e HAeflor grEiet (p5ed auflnsulled 20
Dmemssepd Owrszw 30 aflogsepn
2_efemeur. 055055 aibleunm
aflsuileib 915MHE Wwhmsw aflmsamuai
Qrewi(h) DmEmEsaT Fa(HDFHEOTS 2_6TOTERT.
soLdl. aflmeulled assmer Qmsmsser
BmaEWw?

giey:
(WP560 2 My a =20
Qung) ellgHwingd d =2
. &enL_8& euflengulled 2_een R (moHena:saert
sresvienidens ¢ =a+ (n—1)d
tyy=a+29d
=20+ 29(2)
=20+58="78

13. pzed 2-mitiy 20 gysab Curg eflgSursw 8
SFa|b Csren saL_(hS CsT_Tauflensenw
TRSQYLD.

W36e0 2 miLiL a = 20; Glung) elgSlwngw d = 8
Ll (D& CFTiTeuflengullesr Clung) euigeuld

a, atd, a+3d, ...

Bis Hlepaled Brb Clumieug

20, 20+8, 20+2(8), 20+3(8), ...

c1eeiGeu, Caemeuwines anl” (HG OFT_Teuflens
20, 28, 36, 44, ...

14. 3,6,9, 12, ..., 111 aretrp snL'- B
Qgr_jeuflensuiled 2_arer 2 miLiseflest
CTEUUT G GHENHENILIS SHTEwTS.
(P60 2 iy a =3,
Clung) ellgHwnsd d =6 -3 =3
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B

senL & 2 miiy /=111
/-
n= (Taj + 1 et6v1 BMD HMGeuLD.

= (1“3_3)+ 1=37

eTeriGeu, Qibss dnl (HS CFTL_Teuflenagulled

37 2_mIliLs6iT 2_eierent.

15. £Gp QEr@ésULLQater o  2mIy
wHmd Curg ellfsw 2w QUHBSEGS
Qgr_jeuflesuilar (P56 epaTn 2 il sener
TS5,

() a=6,r=3 (i)a=+2,r=1+2
(iii) @ = 1000, r = %

i. Qumglenqend G.P.= a,ar, ar’, .....
a=6,r=3
G.P. = 6, 6(3), 6(3)°...

=6,18,54, ....

ii. GP. =>a,ar,ar, ......
a=2,r=2 i
G.P.= 2, J2(\2), v2(V2)

=42, 2,242

iii. G.P.=a, ar, ar’,.....

2
a=1000, r=—

2 2
G.P. = 1000, lOOOXE, 1000x [%)
G.P. = 1000, 400, 160, ....

16. 729, 243, 81,... eretp OQUEWBSSHS OSTLIT
aflmsuler 7-a1gl 2-miLienus Srewrs.

QUmBEES C\ST_fesT 1. L6 2 ML
t,=ar’
243 1
== 2 = — =% =
a=T20,r= gy =7
1 7-1 1 6
£, =729 x (_j — 729 x [_)
3 3
t=129x L Ll Ll
33 3 3 3 3

17.x + 6, x + 12 wpmid x + 15 etevruer e
QUGS CsrTafleauiler QFr_F&fwimer
eperm 2 miLiLser eTefled, x-ullet wFHLiewLIS
STEWRTS.

X+ 6,x+ 12 woHmibd x + 15 erevtLiest
QR CLMBEGS Car_Teuflens

L _ L
C
x+12 _ x+15
x+6 x+12
(x+12)* = (x+6) (x + 15)

X2 +24x+ 144 = x>+ 21x+ 90
24x —-21x = 90— 144

3x = -54

x=—ﬁ=—18

18. Ueteu@md (pypepr Csrijseflear &n(HFed
STV, 28
)9+3+1+.. (i)21+ 1455 +..

Siey: i
i. 9+3+1+....@r§1@a=9,r=?
(- —1<r<l)

19. e® puapr QumEES Osmflar e
2.miuy 8 wHMID PO 2 MILILSET euenIy

Fa (D560 32 qafled Siper Qurg alldlgw
SIS,
Sirey:
G.P. a=38, S, = ?
? = S, = 8 _32
1-r -7 3
= 24=32-32r .
=32r=28 =>r= 8 _1
32 4

20. @ CQuBmEGS CQT_Feuflensulled S, = 4095
wHmd r = 4 erafled, JFaT (PS5O 2 MILIHLIS
STEwTS.

Clung) ez =4 > 1,
P30 6 2 miiLsefles sn(hged S, = 4095

eteiGeu, S = M = 4095

r—1
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

23
. . a(46_1) n=-37 evevg n =36
r =4, e1eLIZ 160 a1 4095 n#-37 (n#-37 gNH&555556060)
=36
= ax 399 — 4095 e
. . _3 26. sa(hged sTERTS.

S e S (@) 2+4+6+...+80

21. @iy srewrs. 1 +2 +3 +...+50 (i) 1+3+5+....+55
siyeay: Sirey:

. Fa(HBO SHTEVTS.

. 8a(HB60 srewis. 17+ 22 + ... + 197

1+2+3+...+50
1+2+3+...+n= @ 6T68TM
&SSSemsl tuaLbSs
50x(50+1)
1+2+3+.....+50= f =

1+3+5+..... to 40 2 muLseaT eueniy
1+3+5+.... + n 2_mILILS6T eueniy
Fn(DG60 = 1’

1 +3+5+.....+40 2 miysem eueni
Sa(D&6d = (40)* = 1640

1P+27+ ... +19°
_a(n+)(2n+1) _ 19%(19+1)(2x19+1)

6 6
sa(Hzed srewis. 1° + 23 +33 +..... + 16°
..... 3
B+23 43+ antil6 [16“7}2
2
= [136]2
= 18496
.1+2+3+..+n=666 eresfled, n-ullesr iy
STEoTS,
Siey:
1+2+3+ ... +n =666
n(n+l) — 666
2
n®+n=1332
n’+n—1332=0

(n—36)(n+37)=0

i 2+4+6+.....+80
=2 [1+2+3+..... +40]
=2 {_”(””)} =40 x 41 = 1640
2
il. 1+3+5+.....+55
855 2 miLiLsefen sTemTenNSHen S
O&r(hSsLILL6Ned6emsv. HLD
2_mLiLseflert eTestienlsengenut 6T68Tm
GSITSmSL LwaTLHSSS sreswTGLITLD.

n= —(552_1) +1=28
sT6vTB60,

14+345+....+55=(28)>=784

(i) 1+2+3+....+60
(i) 3+6+9+....+96
(i) 1+4+9+16+..... + 225
(V)1 +3+5+ .. +71

Siey:
i 1+2+3+....+60 = ”(”2+1) _ 6O>2<61

= 30 x 61 =1830

fi. 3+6+9+....+96
=3(1+2+3+...+32)

2
:3{32;33} —3 %328 =1584

1+4+9+16+....+225
=12+22+37+ 42+ .+ 157
_a(n+D)(2n+1) _15(15+1)(2x15+1)

6
15%16X31 _

iii.

iv. 1+3+5+....+71=n°

_l-a +1:>[71—1)+1=36
d 2

1434+5+....+71=36>=1296

n
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_____________________________________________________________ 24]
28. 1+2+3+..+ k=325 ereufled 1° + 23 + 33 + 113400 = 2% x 3% x 52 x 7!
..... + I Wesr w&liy srevwis. o P/=2, P,=3, P,=5, P,=7
x, =3, x,=4, x;=2, x,= 1
142434 k= FEHD) s [T
""" 2 2. a,=1,a,=1 oOWMB> @, =20, ,+a,,n=>3,
1°+23+3° Tt K n € N, eresfled Qgm_ireuflensullesr g ed Sumi
_ k(k+1) _ ) 2 MILILSEM6TE STCwTs.
{ : } (325)" = 105625
T T e T 4= = L 0ppd 0,20, + 0, vt
1+2+3+ e + k ullett 0By Smewis. ay=2a,+a,=2(1)+1=3
i a,=2a,+ta,=23)+1=7
P +23 430+ .4 K = 44100 = _k(k”)} a5=2a,+a;=2(N+3=17
2 ag=2a;+a,=2(17)+7=41
14243+ 4= FEHD) Zopg T | e N V.4 B T
3. x, 10, y, 24, 7z UM @M Sal(HhS
-------------------------------------------------------------- Qsr_jeuflensuiled eaitener eresfled, x, y, z
30. 1P + 23 + 3% + ... erevip Qe eTSSeMme0T Spfuapdlar wHiL] srewis.
Lgujl.!aa?mé FaLlgered Sa(hized 14400 Sier
aﬂc.m_a,@u:? x, 10, y, 24, z ereiiLien sl (D& Cgm_ieuflens
giey: K(k+1) 2 ETEVTLIGTE) ) 6TEHTLIS)
1P+22+334+ .+ = |:T:| 10, 24 @aﬂ' 5@ &QJIJLIIT@Lb.
= 14400 SIS Y = 10+24 _ 34 _ 17
k(k+1) _ fraao0 = ) 2 2
= 5 = /14400 =120 o AP=x,10,17,24,z
k(k+1) = 240 d=17—-10 =7 ereviigy) Qi@ Clgefeundlng.
K +k—240 = 0 ~x=10-7=3
(k—=15)(k+16) =0 z=24+7=31
k=+15 606081 k=16 sx=3, y=17, z=31
gl CunmhHSIS. 4. 5+ 55+ 555 + ..... eresim Osr_jauflenaulles
S k=15 360 1 2 miiLseafler sn(HiSe0 Hrewrs.
Swdbouatieedr
1. poxpxp™xp = 113400 @ p,, S =5+55+555+ ...+ nemlyser euenr
Py P D, cTesiuer gmaiflonsuiled jemwhs =5[1+11 + 111 + ..... + n 2 miyseT euenn]
LUST 6TEWIS6T MM X, X,, X; X, 6TCUTLIGU 5
Wpsaer eresfled p,, p,, pi, P, OHMID X, X,, X5, =—[9+99+999 + ...+ n 2 miyseT euenr]
x, pFlweunnfler wHLILSmTS SHTewTs. ?
2| 113400 =§[(10—1)+(100—1)+(1000—1)+....n
256700 9 o mitiysen euenr]
21283 =2 [(10 4+ 100 + 1000 +....)
3 14175 ? —(I+1+1+...)]
34725 _
31575 5 10(10"—1)_n
3525 -9 9
51175 _
5(35 = Z—? (10" —1)—%4
717 -
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5. Jeraumw Ggrijseflar n e muiyser eueny

Fa(HB6O TS,

(i) 0.4 +0.44 + 0.444 +..... n 2 ML S6T CuUEDY
(i) 3 +33 +333 +..... n 2mIys6T euenIy
i. 04+044+0444+ ... n 2_mILIL|&e
= i+ﬂ+ﬂ+...ngguq&3m
10 100 1000
:4[L+£+£+...naguqa&6ﬁ}
10 100 1000
B 4{9 99 999 ) }
= —| —t—+——+..nemuyser
910 100 1000

— ﬂ [1_ij+(1_ij+(l—ij ne_mi Lsen
9 10 100 1000/ "1 =RH

4
= —[(I1+1+]1+... n 2 miiyseT) —
[ 111 111
+

—— ... a6t
10 100 1000 EDMLHesT

-(15)
o)

10| , 1

=3(1+11+111+..... + n 2 miisen)

= % (9+99+999 + ... + n 2_miliysen)

= 3 ((10-1) + (100-1) £(1000-1) + ....
n 2_mILIL|560T)

|

=3 (104100 + 1000+.... + n 2_gutiysei)
—(1+ 11 +111+..... + n 2_miiyse)

b

30 3n
== (1on-1)- 22
81( n—1) 9

6. 3+6+ 12 + ... + 1536 etesrp QUBSHESHS
Qzrifler saHSH60 STewrs.
3+6+12+....+1536
a=3,r=2

t = 1536
ar' = 1536
32 = 1536

3@ = 30

2n71 — 29
n= 10
"1 1(2° -1
S Bzed S, = ) Sy = 2"
r—1 2-1
=3(1023) = 3069
iy srewrs. 16 + 17 + 18 +..... + 75

16 +17+18+.....+75

—(1+2+3+....+75)—
(1+2+3+ .04 15)

_ | n(n+1)| [ n(n+1)

2 2
=2850-120=2730

giey:
P+10°+....+21°
=(P+22+3%. +21) - (1P+23+33.....+ 8%

y {n(n;l)lz [n(nzﬂ)r2
={21x(21+1)} _[8x(8+1)}

2 2
= (231)> - (36)* = 52065

Hereumd Qgriseflar sa(Hsameos srewrs.

i 6*+7*+8+...+21%
(i) 10° + 11% + 123 +..... + 20°

i 62+72+8%+ ... +21°
=(124+22+3%2.....+21%) -
(12+22432....+5%
B n(n+l)(2n+1) n(n+1)(2n+l)

6 6
_ 21x(21+1)(42+1) 5% (5+1)(10+1)

6
21x22x43 5x6x11
6 6
=3311-55=3256

ii. 103+113+123+..... +20°
=P3+22+33+ ....+20° -
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g

[T ]
_ [20:21}2 - {9210}2

= [210]% — (45)? = 44100 — 2025

10. pz60 n BQued ecrewrsaflar sewrmsefler

Fa([H)Fe0 2025 eterfled n-wilerr i sremwrs.
(PS60 11 G160 6TEwBTSH6NN6TT 61TSSMBIGEM6TT
Fa(hze0 = 285

12+ 22432+ .....+n* =285

n(n+1)(2n+1) g5
2x3
n(n+1)(2n+1) _ 735
6

n(nt+1) 2n+1) =285 x 6 (1)
(PS60 11 QU160 6T688T&6M6TT He6vTRIS 66N Fon (D FH60
=2025
P+2°+3+ . +n =2025
2
{—”(" s 1)} = 2025
2
n(n + l)

5 = /2025 =45

n(ntl) =45x%x2

~-(2)

1) N n(n+1)(2n+1) _ 285x6
(2) n(n+1) 45%2
2n+1 =19
2n.=19-1
= 2n =18
n =9

. Gramaily 10 Qs.5, 11 Q&.5, 12 Qs.S...,

24 Qs.f eteip LGS jerajeter 15 FHIy
Qllgal QIEHTERTS STHgmEsaT 2 aterer. PHS
uewTeRTS STHlGEISMmeTs ClETewT(h fTalaleTeay
urLienU w53 SeomSflHs (piqLd?

Siey:

QarsaLiLL(hesr 15 &5 aulg.6 eUETTETS
SNEFEISNETT LISS 6116 SH6T

10Q&.18 + 1160&.15 + 12Q&.18 + ..... + 246115
Sigest upliy = 107 + 112 + 127 + ... + 247

= (12422432 + ... +24?)
—(12+22+ ...+ 9

_ n(n+l)(2n+1) B n(n+l)(2n+l)
6 6
_ 24x25x49 9x10x19
6 6
= 4900 — 285
= 4615 Q&.15?
* % %

3. Swn&aenfgd

2 P NICNLIEHTSH 6T

1. Jeraimeastaunmlng 15.Q0m0 sremrs.
@) 4x%y, 8x°y?
(i) 9a’b*, 12a*b*c
(iii) 16m, 12m*n?, 8n*
(@iv)p*-3p +2,p> -4
(V) 2x%*—5x<3,4x*-36
(vi) (2x* =3xy)%, (4x — 6y)%, 8x° - 27y°
giey:
i. 4y, 8x%?
22x%y
832 = 232
- (4x%y, 8x*y?) -ev1 15.Qum.o =2°x%)% = 8x°)?
ii. 9a°b*, 12a*b*c
9a°h* = (1)(3)? a’b?
12a°b’c = 2> x3xa*x b xc¢
- (9a°b?, 12a°bc) -1 18.Qum.1o
= (1) x22x 32 x @* x b* x ¢ =36a’b*c

4x%y =

iii. 16m, 12m*n*, 8n?

16m = 2*xm
12m?n* = 22x3xm?xn?
8n? = 23 xp?

- (16m, 12m*n?, 8n?) -6 18.QlLm. 10

=2%x 3 x m? x n? = 48m*n’®

iv. pP-3p+2,p* -4
pPP-3p+2 = p-1H(p-2)
pP-4=p+r2)@p-2
(PP =3p+2,p°—4) -6 15.Qunm.o
=@-D@+2) p-2)

v. 2x>—5x—3,4x*—36
22 -5x-3 = (x-3)(2x+1)
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vi.

5

4x*-36 = 4(x+3)(x-3)
5 (2x2 = 5x - 3, 4x* — 36) -ev1 15.Glum.1o
—4(r—3) (x+3) 2x + 1)

(2x% = 3xp)%, (4x — 6y)°, 8x> —27y°
(2x* = 3xy)? = x*(2x —3y)?
(4x —6y)* = 23(2x-3y)?
8x*-27y° = (2x)*-(3y)?
(2x — 3y) (4x* + 6xy + 9)?)
S (2% = 3xp)%, (4x — 6y)°, (8x° —27)°) -ewr
5.6lum.o
=23 x x2x (2x = 3y)? (4x% + 6xy + 9?)
= 8x%(2x — 3y)* (4x? + 6xy + 9?)

&(H&SS.

3
i) 4x’y o 6xz4
27 20y
2 _ 2y p-12
ii) p —10p+21 P *P .
p-7 (p-3)
2 3 3
4x*y " 6xz _ 3x’z

772 20y 5y°

2 2

p -10p+21  p’+p-12
2

(p-3)

0.

Uereumd Careneusefler afleossiui L
wiy srewrs.
j) x+10 pt2

8x 8p*+13p+5

giiey:

x+10
8x

8x =0 (3606081) x = 0 e1emOCLINE)

QUM TWNISS QUeOTSHTHMS.

25Geu aflevgaliuL L i 0 g@Lb.

i. etev1D Camemeuwinesg

Tp+2

i ——
8p +13p+5

erevn Gamemeuwinesg)

8p*+ 13p + 5 =0 ggneug

Bp+5) (p+1)=0eadmHa

p= %S,p =1, eremdCung Canemeu

QUMTWNISHS QWeONTSSHTHMS).
sTeriGer, allevdaLILIL L LI s6r

— wHmw —1
3 DD

Spsaemi.  Comamaisens® alloossiu L
wdluyser @l Seunanms srewrs.

y : t
i) W
¥ —25 7 -51+6
i x*+6x+8 iv) x’-27
x'+x-2 X’ +x'—6x
giey:
y2i25 stetin Canmemeuwimeotg) > — 52 =0
y2_52 =0
@5 (-5 =0
Y+5=0,y-5=0

y=-5y=5
eTeIbCLIng) Careneu auenTWINI&HS
BueongsnHmg,.
- ellevdsliuL L wdUiLseT —5 wHmib 5.

ii. ﬁ erevn Canemeuwinenay
£-5t+6 =0
£-5t+6 =0
(t-2)(t-3) =0
t-2=0,t-3=0
t=2,t=3

e1em)bGLITg Camenel euemTwnISHS

BQueorasrSmg,.
- ellevdasliuL L wdlliygeT 2 wpmb 3.

x*+6x+8 _ (x+4)(x+2) _ x+4

X +x-2

(x+2)(x-1)  x-1

x+4

erevtLgy) X — 1 = 0 e1embGLINg)

x—1
QUEDTMISSHLILIL_a16d6me6v.
ellevsasliuL L wdliyger 1.
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I e ——————
X (x=3)(x* +3x+9) 9. gwrﬂfﬁﬂfﬂ s Bied ppib CLGSSHLIET
IERSECINE CERED oeiongamens aria
_ (x—3)()c2 +3x+9) () -9, 20 (ii) é’ 4
(¥)(x+3)(x-2) Siier 3
_F =2 sing P 6x=0 i. 9,20
¥ +x —6x Caemeuwinest @\(mLilg. Fo6TLIM(H)

6169 bGLING) euenWnISaLILL 6ledemev.
> x+3)(x-2)=0
= x =0 Ievevgl x = -3 IeV6vg X = 2
- eflevdsliuL L wéliysst 0, -3, 2
6. JeraumeuateunmieT auir&seLpeod STewrs.
400x4y12z16

o0y
x*y'z

Siey:

400x*y"z" 4522 _ y'z°

100x*y*z* ¥ x?

7. Spsseni Careneuseflar airssewpeold
SIT6VUT S,

i) 256(x — a)*(x — b)*(x — ¢)'(x — d)**
. 144a®p" "
W) ——
81f"g*h
Siey:
1) \/(256(x - a)8 (x - b)4 (x — c)]6 (x = d)zo)

=16 |[(x—a)*(x—b)*(x — ¢)’(x—d)10|
a*b’ct

i) 144a°p"c"* 4
11 —————— T T|Ta Sug\
81f12g4hl4 3 f6g2h7

8. Jetaumeuaraunmier alit&sepeod Srewrs.
121(a+5) (x+ ) (b—c)
81(b—c)' (a—b)"*(b—c)’
121(a + b)8 (x+ y)8 (b- 0)8
81(b— c)4 (a —b)12 (b- c)4

_ \/121(a+b)8(x+y)8(b—c)8

81(b - c)4 (a - b)12 (b - 0)4

x> —[o+Blx+ap=0
X [9]x+20=0
= xX*+9%x+20=0

ii. 2,4
3
Cxemeuwines @(pLilg. Foeom(h
x? — (epeomisefles Sn(HFed LievesT)x +
epevmiseiles GlLimEsmHLIevss = 0

¥ —Z x+4=0

SoUDGD 3 oped ClLmSs
3= 5x+12=0

10. Spssnggd  PwuUrE  FLATUTHSHEHEHES
epeorEisaflear sa(hBed LHNID CLmHSSHED STewTs.
@ x*+3x—28=0 (i)x*+3x=0
) x¥»+3x-28=0
a=1,b=3,c=-28
PLPEVMBIGATETT G (D60 LI6V6TT

b
=gtf=——=— 22—3
a 1
PLPEVEISATETT GILI(HESH60 LIGVEST
—ap= S =28 g
a 1

i) ¥*+3x=0
a=1,b=3,c=0
PLPEVMEISATENT G (D160 LIGV6TT

=atf=— b - 3-3
a 1
PLPEVEISATETT GILI(HEHSH60 LIGVET
—ap=S = 9_ )
1
(8 9 4 3)
- 7 V3 . .
11. A= 2 et yevsflufled,
1 4 3 0
6 8 -11 1

() e-muysefler erentenflsmaamnws srents.
(ii) jewflilesr euflens sremwrs.
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29
(iii) a,,a,,a,,a,,4a,a,,. o2 HULsemer (i N j)3
(SIS (1) a;= i—2 (2] a,= 3
sual
1) 2 miliysefe stesvrenisens i a,= ]l — 2]|
=4 x4=16
i) oewNullest euflemes =4 x 4
.. 3
iii) a,, ﬁ D ay, = £; a,,=5; a;, a4y
2 - 2| -4 Ji-¢] [1 3 5
a,=0, a,=-11; a,=1 |2 2| |2 4| |2—6| =10 2 4
12. Spsaremid BmusE  FwATUTHSHEDHES 3-2] [3-4] 3-¢] 113
eweomisaflear FaHFed wHMID QLmSESE srewrs, | 00 I
()X +3x—28=0 (ii)x2+3x=0 i j=(z+]) ]
» ' 3 8 64
) ° 3
i xX2+3x-28=0 a, 4dp A4y 6 125
a=1,b=3,c=-28 =lay ay Ay | =19 ? T
PLPEVBIGATENT G (D160 LIGV6TT ay a4y, Ay 64 125
b 3 — — 72
o+p a 1 .. . R S
epeomiseies QLimésed Lioest 15. a; = i%j* ervrm yemoLienus Qsmewr 3 x 3
c 28 mrﬂm&uml_u.l Sjewflenws srewrs.
B N

i) x2+3x=0
a=1,b=3,c=0
PLPEVMEISATEVT G (D160 LIGV6TT

b 3
=+=__=____
atf ” ] 3
PLPEVRISEMETT OILI(THESH60 LI6V6TT
S S
=af PR 0

13. 18 e miyseners Oarewi.. i SiafleE
aaiaumns aflmsser Smss QuUEID? e
siewfluiler e muLsellar aanrtenflsams 6
arerfled, eTalleuens aiflmeser Qmes Qued?
girey:

18 2 pliLseneTs CsnemTL i eilss,

1 x18 ()29 ()3 *6(2)6%3 (3
9x2 () 18 x 1 e1emILd 6UEMDSSATE0O 6uflens
Bmss Quieiid.

6 2 miiysemend Olamewi it  ewilss
1 %6 (1) 2 %3 () 3%2 () 6 % 1 eremuid
auemas6ed aflens @\(hHos Quiedib.

14. deteumeustaunenns Carewt(p 3 % 3
auflengenws Csrewr_. ojewfl 4 —la,] Wenesrs
STEWTS.

3x3‘euflemawenLw yewflullest Clung) auigeaud
a4y 4
A=\ay ay ay|a;= R
a; 4y Ay
a;;=1>x12=1x1=1; a;,=1?x22=1x4 =4;
3= 12x32=1%x9=9; g, =212 =4x] = 4;
= 22x02 = 4x4 = 16; @,y = 22x32 = 4x9 = 36
=32x12=9x1 =9; a3, = 3°x2> = 9x4 = 36;
=3?x32=9x9 = 81

1 4 9
ereeiGeu, Caemeuwnest el A = | 4 16 36
9 36 81
(5 4 3)
16.A=L1 7 9J stexfled, A ullesir lewry
3 8 2
Blred rHm| Siewflewws srewrs.
Sijey:
5 4 3
A = 1 -7 9
3 8 2
5 1 3
AT = |4 -7 8
3 9 2
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------------------------------------------------------------ 1-30 |
13 =5+z=5 x+y=6;
z=5-5 =6—x;
17.4= |5 2 | aesled, DS
V3 -5 xy =28
-A -Wilest Blenr Blyed wIHM| jewllenws x(6-x) = 8
ST6UTS;, 6x—x*—8=0
=  x6x+t8=0
J73 7 3 (x-2)(x-4=0
5 2| A= 5 o x=2=0 (&) x-4=0
x=2(or) x=4
s -3 s x=2(6'rsz‘ﬂ6\')y=§=§=4
cay={ BB i
3 2 5 x=46r61ﬁ]6\')y=Z=2
S22 x+y+z) (9
18. A=|—17 07 ; sreled i) | xyz =3
8§ 3 1 yrz ’
ty+ =
(A" = A eresrugenené sflunirés. x+y+f R (1)
B Xtz=5 ---(2)
s - ( \ Wt 2a=17 ----(3)
5 17 8 (3) g (1) 60 Ny&luil
~J17 0.7 S A=z 07 3 X+7=9=x=9-7=2
3 3] 5 5 f x =2 et6v1 (2) 60 Lyl
5 9 2 24z=5=>2z=5-2=3
5 z =3 61607 (3) 60 LNrHlui_
(A= -JV17 0.7 5 y+3=7 =2y=7-3 =>y=4
8 31 (7 8 6) (4 11 -3)
(ANy'=4 20.A=[1 3 9J,B=L—1 2 4J
19. Spssramid swarLT@safle) - DmbE X, ¥ -4 3 - 750
wHmib z -uller wlmLS sreanTs. aTeofled, 24 + B g8 srewits.
(12 3) (y 2) Sirey:
U 5) \3°5 7 8 6) (4 11 -3)
,)(x+y 26 2 24+B=2|1 3 9 +L—1 2 4J
l
L5+z xy 5 8 -4 3 -1 7 5 0
(x+y+z) [9) 14 16 12 4 11 -3
(ﬁl)txﬂ =|5 =12 6 18]|+|-1 2 4
y+z 7 8 6 -2) (7 5 0
14+4 16+11 12-3
. (12 3} (y =z =|2-1 6+2 18+4
lx s 35 —8+7 6+5 -2+0
=>12=y;, 3=z;x=3 (18 27 9)
L (x+y 2 6 2 =1 8 ZZJ
11. =
54z xy 58 -1 1 -
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371
_____________________________________________________________ e
(5 4 _2\ (_7 4 _3\ ii. A+(—A)=(—A)+A=0
|13 AERE 1 9 -1 =9} (0 0
2A.4=|_ + N2,B=) 2 o 3, A+(A)=1]3 4 |+|=3 =4|=|0 0]--(1)
1 9 4 5 6 9 8 3) |8 3 0 0
ereofled, 44-3B 26 srewts. -1 -9 1 9 (0 0)
Sie: s 4 o\ (4 3 (A)+A=|-3 —a|+|3 4]=]0 oJ ()
L3 R -8 3 g -3) L0 0
44-3B=4|- 2 V2|3 o o3 (1), Q)= A+ (-A) = (-A) + 4=0
1 9 4 N R
20 -12 9 23.4=( 4 % B=(7 38
20 16 -8 8 37° 149
=2 3 a2+ 3 2 -9 eresfled Latraumeustainenns srewnts.
436 16 145 182 . @H)B-54 (ii))34-9B
v~
20421 16-12 —8+9 o
X o (049 (73 8)
= 2= 35 42 -9 8 3 7) L1 4 9
4-15 36+18 16-27 i B-54
7 3.8 049
e 1 :149]_5(837j
5 15
=l 2 5 Moo _738+(0 20 —45)
~11 54 -1l 1 4 9) (40 -15 -35
-------------------------------------------------------------- 7 -17 -37
(19) (5 7 " 39 -n —26)
22.4=|3 4[,B=|3 3| QB
g _ . o ii. 34-9B
Ueraumeusraunenné sflumiés. = {O 4 9] —9(7 3 8]
()A+B=B+4 837 ba9
(i) A+ (-A) = (~A)+ A= 0 :(0 12 27\+ -63 =27 -72
Zoor 24 9 21) Tl 0 36 -8
i. A+B=B+4 _(
s 15 —27 —60
L N T SwPheuatiser
A+TB=13 NP3 3 1. 64x* — 16x° + 17%% — 2x + 1 er@iiLIsaT uitss
§ =3 Y CLPEULD HITEWTS.
6 16 .
D "
o 3 8 -1 1
RELS 8 64 -16 17 2 1
(5 7y (19 () 64
16 -1 —16 17
+A= +
B+4={3 3 43 @) 16 () 1
1o - 16 -2 16 2 1
616 1 (16(H-2 ()1
=6 7 —-(2) 5
9 -3

(1),2)=A+B=B+4

Caemeuwnes euirés epeotd = |8x? — x + 1|
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e
2. 9t — 127 + 28x* + ax + b soE @M iv. 121x* - 198x° — 183x% + 216x + 144
Ywairssw eaafled a, b Sweunmier 11 -9 -12
Wi semerTs Smeuis. 11 121 —-198 —-183 216 144
O121
3 2 4 22-9 - 198 -183
3[ 9 -12 28 4 b () 198 ()81
)9 22-18-12 —-264 216 144
6 2 TR (+) 264 (216 () 144
0
+)-12 ()4
) O Caemeuwnest euirssepeotd = |11x% — 9x — 12|
6 4 4 24 a b
()24 (H)-16 (=) 16 4. Spssrgmid UOWIMILILECHETmauZST (PP
a=-16, b=16 aiissrser eafled ¢ wHmL b-wiler WY

3. sz wenpulled Uletaumd LOIMILILIS
Careneusaflar auirssepeold smeswrs.

(e&.20 ) (@y5.22 )
i x*—12xX°+42x2-36x+9
I -6 3
1 1 -12 42 -36 9
)1
2 -6 -12 42
+) -12 ()36
2 -12 6 -36 9
3 -)6(+)-36 (-9
0

Caemeuwnen euiréseweold = |x* — 6x +3|

ii. 37x* 28 +4x*+42x+9
2 -7 3

2 4 28 37« 42 9
)4
4 -7 —28 ¢ 37
(=) —28.(—) 49
4 -14 —12 42 9
-3 (+) -12(—5)42 (59
0

Caemeuwmer euiissepeotd = [2x* — 7x — 3|

iii. 16x*+8x*+1

4 0 1
4 160 8 0 1
() 16
8 0 0 8
0 0
8 01 8 0 1
(080!
0

Gaemeuwnes euirsaseweold = [4x> + 1]

SITEUT S,
giyey:
i. 4x*—12x3+372 +bx+a
% 9 7
2 4 =12 37 b a
()4
4 =3 -12 37
(+) -12(-) 9
4 ~6."7 28 b a
(-) 28 (+)—-42(-) 49
a=49,b=-42

ii. ax*+bx> +361x*+220x + 100

10 11 12
10/ 100 220 361 b a
(-)100

20 11 220 361
(-) 220 (-)121

20 22 12 240 b a

(-) 240 (-)264 (-)144
a=144  b=264

5. Spssrg LoOPMILLECaTmasT W
aiisaEser erefled, m wHMID n-uller wHL.

@) 36x* —60x°> + 61x* —mx + n
6 -5 3
6 36 60 61 -m n

(-) 36

12 -5 -60 61

(+) —60 ()25

12 -10 3 36 —m n
(-)36(+)-30(-)9

-m=-30,m=30

n=9
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ii -8 +mx*+nx+16 | 1 N e
(1 1) 2) (-7
5 8. A= B= C= ereufled
1 3) L_4 2“7 s zJ
1 4 4 A(B + C) = AB + AC eteiiuensé sfiLniés.
1 1 8 m n 16
O
2 4 8 m B+C=(14 §)+[‘37 3
(+) -8()16 Y \ 6 3
2 -8 4 m-16 n 16 _Ll_ 2+6J ( ]
O8()-320)16 443 242 *
0 LHS =4 (B+C)
m—16 =38, n=-32 (1 1} (—6 8]
m =8+16 -1 3) -1 4
m =24 _(-6-1 8+4 ] > (—7 12}
-------------------------------------------------------------- 6-3 —8+12 3 4
6. 18 e muysemers Oarewi e jewllss A
aeiuens aflmesar @mss Qued? i AB = 1 1) 12
siewnfluller 2 miiysefler erenrenflsamns 6 eresfled, =1 3)(+4 2
cralauens auflmesar Pmss Puiepis? _ (-4 242 ) _ [ -3 4]
Sior -2 2+46) (13 4
18 2 milisemens Oanewi et ewildh@ 1 X P & 1) (-7 6
18 (31) 2 X9 () 3 %x6(3) 6 %3 () 9%2 -1 3 3 2
(21) 18 x 1 eremid euemasaied auflews Q\(mHés _(-7+3 6+2) _ -4 8
Quiibd. 749 —646) 16 0
6 2 milIsenens OsresT i SeilsE 1 <6 _
RHS=4B + AC
(21) 2 %3 (1) 3%2 () 6 * 1 e16m)I1D 6UIMBSHEMED 3 4 43
auflens @més Quieid. = i 4] + (16 0]
P83 (2 ;f -4 _( 3-4 4+8) _ (-7 12
7. A4=13 50 ’B_L _J’ L—13+16 4+0J 4
8 7 6 0 1 5 . LHS = RHS
(5 3 00 S
C=|-1 -7 2| aefled, 12 1 (2 -1
1 4 3 9. A—L Jmpgij -1 4
Uesrau(meuaraunenns srewrs. 2 11 0 2
34+2B-C stefled (AB)" = B"A" ersruensé sflumirés.
Sie: Siteu: 5
34+2B-C B - 1 2 1 4
1 8 3) (8 -6 —4) (5 3 0 _2—11_02

=313 5 0F2{2 11 -3—-|-1 -7 2

8 76) (0 1 5,1 4 3 _(2-2+0 -1+8+2 :LO 9]
3 24 9) (16 -12 -8) (—5 —3 0) 4+1+0 -2-4+2 5 4
(9 15 o4 22 -6+|1 7 -2 UB) = 0 5)
24 21 18) (0 2 10, |-1 —4 -3, 9 -4 L
14 9 1 B — 2 -1 oj el
{14 44 -8 -1 4 2 1
23 19 25

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

10 Syib QIGLIL - Sewfigid

www.CBSEtips.in

EYE
e
1 2 (1 7)
2 -1 0
BTAT=(_l 4 2) 2 -1 11.A=(5 2 9\,B= 1 2| ereufled,
12 8
11 5 -
(2-2+0 4+1+0) 0 9 (AB)" = B"A" ettuensé sflurissayub.
“1ege2 —2—4+2J:[5 _4j nomn
LHS = RHS 4 =529 5201 2
-------------------------------------------------------------- 12 8 5
(1 32 -

w0.4=(1 e[ T2 e
A%ls 4P s s 2T 1 3
ereofled, A(B + C) = AB + AC & sflurissajb.

Siey:
P B_1—12C_(132\
s 217 s s 2) Tl 1 3)

A(B + C)=AB + AC sflunitégs Geussst(Hid
LHS

[1—12 1 3 2

B+C= +

3 5 2 -4 1 3
(2 2 4
-1 6 5

3 2 2 4
X

-1 -1 6 5

_(2-3 2+18 4+15)
L10+1 10-6 20-5)

A(B+C)=(;

-1 20 19
= (1
11 4 15) )
1 3 1 =1 2
AB = x
5 -1 3950 2
_(1+9 —1+15. 2+6
5-3 —5-5 10-2
_ (1014 8
2 -10 8
1 3 2
g =1 3,
5 —1 -4 1 3
_(1-12 343 2+9\:(—11 6 11)
L5+4 15-1 10—3) 9 14 7
-1 20 19
AB+AC = —-(2)
11 4 15

(1), 2) = A (B+ C)= AB + AC

B - 5+2+45 35+4-9) (52 30)
T 1+2440 7+4-8 _k43 3

52 43

UB) =5, 3]

5 1
, (115 .
B'=\. Al=42/ 2
9 8
51

BTAT=[; ; SJX 2 2
J 9 8

_[5+2+45 1+2+40) (52 43)
35+4-9 7+4—8J k30 3J

(1),(2) = (4B)T = BTA"

1

3
12. 4= eteufled, 42— 54+ 71, = 0 erew
1 2) T :

-1 2

Blmies.

,_ (31 (3 1)
4 (—1 2] L—l 2J
_(9-1 342 :(8 5)
—3-2 -1+4 -5 3
A> =54+ 171,
(8 5]_5(3 1)”(1 oj
-5 3 -1 2 0 1
8 5] 15 5 (7 oj
= + +
-5 3 -5 10 0o 7
8—15+7 5—5+0}: 0 0
-5+5+0 3-10+7 0 0

A* — 54+ 71, = 0 ere01 BlemNssLILL L g,

% % Kk
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4. augaiiiev

2 FIALIEHIHET

AABC syeng ADEF-5@ eaugOeansgamel.
Gueud BC = 3 Qs.f, EF = 4 Qe.f wpmd
wp&Gamewrs AABC -wier upliy = 54 Q.8
stesfled, ADE F-ullest LpLienus Sresrs.

Om eugleunss (PsCanemTmisEnenL_(w
urligseilest elldlgwneng eunilest 55
LISSEISHEHeNL_W auTSHSEIS6MeT 018555)h @&
&LDLD 6T6VTLIS M6

AABC -WJevt uplineney  BC?

ADEF -ullest upliLieney EF’

54 _ 3
ADEF -ullest upliLieney 4?

ADEF-Wlest uplineney = 16;54
= 96 Qg.8”
S0 QarHssLILL L eupled 6ThS

W&CaremTrISeT algOaTSSmal TRTLINSS
Gerglssajw. Cueib x-ufler L srewTs.

i. uLSHeNHHg
AL, 7., T+
AC 25 2 2

AN
t
)
[N}
)

1 11
gl = —(1
) (1)

.
AB _3+5.8
3

11

AD 3

AC , AB
D),2)= —= #—
(). @) AE  AD

- AABC wmmid AADE euqOeunggene
S|6V6V.

ii. uLgHed®HE AABC wpmiw APQC
/ZABC = /ZPQC =170° (1)
(55 Canewwmige FL0OLD)

ZC = £C (Qung Ganeserid) —-(2)
s LA =ZQPC (- AAA eldlling )

AABC wpmib APOC gy dlwen auiqbleunss
(p&CanevTRISET.

4B _ BC

PO ocC
L 2-6, x=2
X 3 2

=2.5

AABC ~ ADEF-65, AABC-Wiesr upLiy 9Q0&.157,
ADEF-ullesr uiy 16 Q&8 wpmud BC = 2.1
Q&.15 ererfled, EF-uflest Semd smewrs.
gijey:

4

E F B C
AABC ~ ADEF etetiss:
(A4BC)-ev1 Lplineney BC?
(ADEF)-est uliuerey  FF?

_ 4B 4C?
DE*  DF?
9 2
- 9 _ (29
16 EF*? |
= EF? = (2.1)* x ?6
= EF =21 x %
= 2.8 Q&..8

AABC-Weir ussmiser AB whmw AC-6d
Siemwhg Leraflser weopGu D woHmw E
Guew, AB = 5.6 Q&.15, AD = 1.4 Q&.5,
AC=1.2 Qg.5, wpmid AE = 1.8 Q&.15, ererfled,
DE || BC etewrs smL_(h\s.

s 14

4.2

AB=5.6 Qg..5, AD = 1.4 Q&.15,
AC =172 Q&.5, AE=1.8 Q&.8
BD=AB—-AD=5.6—-14=42Q&.8
EC=AC-AE=72-18=540&.8

AD _14 1 pps AE-18_1
DB 42 3 EC 54 3
AD  AE
DB EC’
~.DE || BC

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

10 Spid QUL - Henfisd Eva

5. uLggdled /4 -uller @mewteaiiy AD sy @b, (i) AD=8x—-7,DB=5x -3, AE=4x—3

BD = 4 Q&.8, DC = 3 Qg5 wHmw AB =6
Q.15 ereofled, A C-emws Srewis.

B f e D 3 aeib
Siey:
AABC-ulle0, ZA-ullest @(m&wbleur g AD.
ereiGeu, Ganewst Q(mewbleauL 148 Canmedles
Liig,

BD _ 4B

DC  4C

4 6

— = — emig 44C =18
3 1C (WL

s16mGeu, AC = % 45 Q.8

Qar(&sUuL(heTer
uL5gled AD eTeiTg)
ZBAC -Wesr @m&n
Qe iqur@w. AB =10
Q&.5, AC =14 Q&.5
wHm BC = 6 Clg.15
ereofled, BD wpmid DC g
STEwTS.

Siey:
AD etes111g) ZBAC 651 @(h&FO6uLIq LIM@GLD.
AB =10 Q&.8, AC =14 G&..5, BC=6 Ql&.5
Carever Q(mawbleu’ g CoHmmLiLg,

BD _ AB
DC AC
x _ 10
6—x ﬁ
x -2
6—x 7
7x =30-5x
12x =30
30

X = o =2.50Qs&.8
~BD=250&185 DC=3.50&.18

AABC-uilesr ussmiser, AB womw AC ullet

Bgleter yereflser peomGu D woHmw E

porgl DE || BC etestpeunm] SjewohSIeTens).

. AD _ 3

(i) DB 4
AE-Wlest 1081 srewrs.

wHmd AC =15 l&.15 eresfled

womw EC = 3x — 1, eresfled, x -er gLy

SIT6WTS,
AD _3 = 15088
DB 4

AE=x, EC=15—x
DE || BC Ggeverd GgmmLiLig,

AD AE 3 X
—_— T — : — =
DB EC 4 15—x
3(15—x) = 4x
45 —-3x = 4x
45 ="Tx
x = 2ic 648 Qe

ii. QasrssLUL L emeu:
AD =8x—T7,DB= 5x — 3,
AE=4x -3, EC=3x—-1
DE || BC Ggeverd GommLiLiig

AD _AE
DB EC
8x—7 4x-3
: f—
5x-3 3x—1

= (8x-7) (Bx—1) = (5x-3) (4x-3)
=24x> —29x+7 =20x>—27x+ 9
= 4x2-2x-2=0
= 2x%>-x-1=0

x+1) (x=1) = 0

AABC-Wled D womw E eeim yereflser

weopGu  ussmEser AB  womw AC

S Flweunfler 153 S|MIDIF|6TETEDT.

Uereumeuareunniing DE || BC eter Bimieys.

(i) AB=1208.8,AD =8 Qs.8 AE =12 Q5.8
wHmib AC = 18 Qg.15.

(ii) AB = 5.6 Q818 AD = 1.4 Q&8 AC = 7.2
Q&5 wHmd AE = 1.8 Q.15

)

B C
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Uereumeuseupmier AABC-ulled AD sy ez

ZA-uller  @mELCaIly SyGLT  TaTF

Gendlssayb.

(i) AB=5Qs.8, AC=10 @s.8, BD=1.5
Q&.15 wHmid CD= 3.5 Qg5

(ii) AB=4 Q&.5, AC =6 Q&.5, BD = 1.6 Q&.8
womw CD= 2.4 Qg5

Siey: A

B 15 3506

i. AB=5Q@&.85, AC=10 Q&..5,
BD =1.5 Q&..5;, CD = 3.5 Q&..5

AB _ 5 o1 )
AC 102
BD _15_3 ®
CD 5 7

AB , BD
1),2) = — # —
(1.2 = "2 #

(. Carewer Qmawbleu g CoHmmLiLig)
/A -ev1 Canewst @QrEwblauL iy AD 36060

37
i. AB=12Q&.8, AD =8 Q&.15, A
AE =12 Q&.8, AC =18 Q&.15
AD 8 2
- -5 - Z (1 4
AB 12 3 ) ¢
AE 122
— = === ---(2)
AC 18 3 B 16 24 C
AD AE ii = =
(1)’ (2) - == ii. AB=4 Q&:.LS, AC=6 Q&.LS,
4B AC BD =1.6 Q5.18, CD = 2.4 Q&.18
ii. AB=5.6Qs.5, AD = 1.4 Qs.i5, 4C 6 3
AC=72 Qe.8, AE=1.8 Q.18 BD _16 _2 —(2)
CD 24 3
4D _14 _1 (1) AB~_ BD
4B 56 4 M,@=-"==
% _18 :% —-(2) (. Carever Qmawbleut g ComnmLiLig)
7. AE Z4 -ev1 Canewst @\m&woleuL g AD oy @Lb.
D, Q)= —7=—
AB 4AC 5 1D NIGILIGDIBHEIT
DE||BC | T e
8OO L
sigluen ailflssw Cshmimg el Binies.
(Si600051) Cgeden CzHmid.

A

3
DAL 2nNE
VAR
B C
Sapmi:
of  CrisCarl WwsCaremsdler e

LssSSIDE Qememutsad wHD G

L&SEIGmeT Oleul (RLMHID eUEDFUILILIL L T6D

9150s1(h euallyesi(h LSSBIGmEMTUD &FLo

alflgsdle0 LM&Hmg.
BlemHLIewTLD:

Qar(HssLUL L ma:

AABC-1Sled, AB-ullss Guoepisitem Lsiefl D,

AC-wilesr Goed 2_siter LjeTtefll £ gy @Lb.
AD _ AE

Hss: — = —

SjewwLiy: DE || BC euenrs.

6TGUOT Samhm| STITEUUTLD

1. |LABC = ZADE @g)g) GorevsTRISET

=Z1 FLOLD.
e1Qlestediled DE || BC
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- FIoLD. AB-&@ Qevewiwts C  eufluns e
sQewtefied DE || BC BeneriCan(n euenrs. AD Wilesr KL SAuwinena)
C eupwns Oseoed GCarigenest L-ufled
3. |4DAE = ZBAC|@m (p&Canewrmis shHEHAE.
=3 b O
@DLO e(h oINS - : -
eunent Canerisengs crclsm —iF C&;!!)glg 1E = GW.GW =
Osrest(HaTeng. ' 2?0 GDI*G
/1 QleuL 1quimesTg
AABC ~ AADE | 444 e98)apsmmuLig. Yrewi®
FTRTa Pev—— SemenCarGomn

AD  AE g FLoLd. G

eIDUIEILD

AD+ DB D wpmid E-goL epeTTmelL L

AAD c Lwe®SS AB CareswTmIGAT FLoLb.
= % ppud AC-gous 2. [ACE eieiing).  |AACE-led ZCAE
Hiflgsed B maLIGS = /CEA.
1+ DB _ |, EC | a@mé@se) (G &
AD AE AC=CE ....(1)
DB _ EC Q@ ussEISMEID 3. |AABD ~AECD |44 e9\(pemmLig

AD  AE 1-2 55@5. AB _ BD

AD  AE & ) £ b

AD  AE FHENEVS PG LOTHMIS 1 .
DB ~ EC ' j_g _BD (1)661@5916

CD AC = CE Gsppib
G . . Ij] . . .

SOOL BleplssinT L g BlemLlésriLL L g).
L0 L . G S esdo3
Gorem s abohmd G SDP, | squape spmr i S

. . (Pythagoras Theorem)
Sapmi: AM:
M WsCaremsder owm Canewsdler s
R ClgmCaevst (p&Canevsrggled

2 L' 1m Q(m&wbleu iquinesig) 2i&Canemtg e
aHliLsaSmS 2 L LmLons 5Canemisdleneut
L &S ussmssiler allflassled Lfls@Lw.

QEr(HSsLILL L mal:
AABC-ulled, AD-winevigy) £/ A-ullevt 2L Lym
BmawbleuL g

sieusSlest euissHd WwHDH B\ LSSEIS6M6ET
aUTSSEISEMET dn(HDSHNISHEGHE FLOLD.

A

B D C
Blem LiewoTLd:

Qar@&suuLrLg: AABC, /4 =90°
Klemlss: 48>+ AC* = BC?
SiemwwLi: AD | BC euenys.
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39
pp— FaHm STT6wTLD CA-e81 m(\L1yseitefl E. ereniGe,

. [AMBCopgid | ZBAC=90° _ CE _
AABD -g5 Qar(&sLILL L g CE=Ed. sigroug) EA ! @)
UGS LoHDILD AB-e51 m® L1616 F. s1601Geu
/B Qungyeunesigy | £BDA =90° AF

Sieowr1 96w iba) AF = FB. oigmeug) B =1 ----(3)
fg‘goc - <bbA (1), (2) wppid (3)-g QLSS Bd GLDICS)
stmGeu, AABC ~ | A4 e0pemmLilg BD CE AF k12
AABD DC ~ EA  FB
AB  BC e1651Geu Feurerd Cammid BlebLIlGsLILIL L ).
BD 4B &6, HHECHIDS6T e Lsiel euflé
AB?=BC x BD Q&0 HesTmEUT.

(D

2. |AABC LoHmILD /BAC =90° * % K

AADC -g5 Qar(sasLILL L g|

. . & &
LB s. oHILD 5. QWS OSTAEVEY GUYATILIC)
ZC Qungjeuneerg) | £CDA =90° . . gR

Sl mhg | | (2 Wwobauanser
/BAC = /ADC 1. (3, 5), (5, 6) wHmud (5, -2) SpFweunHenm
=90° yaerserras Oasrewi  (p&ECsmewrSSler
eteuiGer, AABC ~ |AA elldlpewmLig LITLIWLIS &T6uTs:.

AADC ey
B_C = £ A(-35) s'i/’jgm
AC  DC <
AC?=BC x DC q
(2) | T =l“==-=
(1) wopppid (2)-ggs sm" 1 b Gapetis TN
AB>+AC* = BC x BD+.BC x DC sy B Y,C56
:BC(BD+DC) (_9 ): (9_): (9)
AB*+ AC* = BC xBC=BC*
L. L ¢ XV X212 X3V3
Canmid BlepLilssiiurg).
-------------------------------------------------------------- X, » -3 5
4. 80 @sCaramsglar pOSCETHHT G My |15 -2
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5&CareTg e LTLIL SrenTs.

i. (1,-1), (-4, 6) wHmis (-3, -5)
XN -l

AGﬁTLIIIIJquxZ Y
X 21-3 -5
XN -l

%[(6+20+3) (4-18-5)]
% [620+3—4+18+5]
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(-8, 6), B(-9,0), C( ), D( ) : ‘_2_(_2) 3
XN X2, V2 X3, V3 X45 Va
P -7 -5
Brh&rSSest Ly ‘ — 56
- 0 k-3
S P ~Tk+21 = 56
217 720 2 =y - Tk = 56-21
e Tk = 35
XN
35
k=22=25
-7

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net

10 Syib QIGLIL - Sewfigid

www.CBSEtips.in

44
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ereufled, a wHmb b-uwilest wFlienus srewts.
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2. 1+ = cosect erevrLeng KlemLilssab.
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Blap&S er6v1s.

C = {TTT, TTH, THT, HTT}

n0=4 pO=2 21

ns 8 2
D = giflsu’s1b Q1 Lpss6 SlenL_&aLbd
Blap&s eTetis.
D= {TTH, THT, HTT HHT, HTH, THH, HHH}

D
n(D)y=7 PD)= “((S)) %

em euulled 5 HAaly mpuubgsEso,

6 OQeustemer RBIDLULGFZISEHL, 7 LFHE

PpLubgisEd, 8 s®mUY  EBDULBSISERY

2 _etemewr. gweuriiLiy (penpuiled enuufledmBS

S LB THESILOEIDS SIBSL LB

(i) Qeueremer

(i) s@mLUIY jedevg ALy

(iii) Qeuetemerirs Bed60rLoed

(iv) QeuetemeTITSEa|D, SHHLILTSHOILD
Dede0mined P mLILISMHSTET
BSHS50|506TS STEwTS.
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Biiey:
S={58,60eu,7u,8 &}
n(S) =26

i. A ereviug) Cleusitemen MKlp LI 6T6vTs.

6 3
nA) = 6 PU= ==
ii. B eteviugy) s@mUL (1) Haliy Bl unhg
616018
n(B)= 8+5=13; P(B)= > =1
26 2

iii. C eteviigy Gleusiiemen Blp LIBE Qevemev
616018

n(€)=20; PCO)= 2. =13

13
iv. D etev1Igy Cleusitemen 160608 S(HLIL HIM
LIS 6160155
Sl 2 6

n(D) = 12; P(D) = o = =

& GuLigufled 20 GemmLITY.e0e0TS
aflerg@aEnw e o GampurHienw
aflers@aEnd 2 arterer. QUL IgulleSiBhE
gweauruiLiy (pespuiled Csirkb0sH&sLILIHID
o aflrsararg GampuUTBLWSHTS
SmLLgHETeT euruiliy 3 erevfled,
Geopurenw aflers@aefler
cTesTemflSnEemS SmemTs.

Siey:
@ UL iquiled 20 GHeHDLIMGE06VTS
allend@a6 MHMILD X 6TETLIGI GHHDLIT(HleDL_WLI
alend @6 6TEHTLIGHT6V
n(S)=x+20
A s1etiLg) @eOpUT(HEOL L elloTd: @ S6i
d(DS@L HlHDES eT6vTs.
n(d)=x
Py="A) o X
n(S)«. x+20

Qar@ssuuL L elleursdler Lig

X 3

x+20 8
8x =3x+ 60
5x =60
x =12
. @sopunlenLw elend@asaest
cT6usTETETG6mE = 12

LOTGUOT LT 61T aflenerwim(Hid U}
aflmerwumiiged  Sjeuirsermed  erpflwliL(pid
seoeomerg e Lufifla@er  allpbsred
Swgs Qapdlursew, e LuflgssE

<

. @@ grailsr S aflossws wHmiwb wrmur”Hs

QauefiCu  Csaiuagdin@er  afllpbzred
S35 Corevalurseyd smzsLUILBEDS.

aflmemwniped  Qeupnfl  O&meTeuSMHESTET
Blawpgsea| eerer? (1 = 3.14)
4 suq
=
3
1 &ng )

Sioy:

Olorgg urLiene] =4 x 3 =12 g.9

L n(S) =12

Gleumn) GlLmd LTLiILeTey = auL L Sl LiFLiLy
=’ =n(ly =n=3.148.9

Sizmeug n(4) =3.14

. A)  3.14
P(Qeu Qlum)= na) _ -
(Qeum il Glum) i) 12
314157

1200 600

Qa9 gpFlwer erpGu 1.2 wHmID 25.6 ererfled
SiFer syreflenwus Srewrs.

ey

gredes L aflevssnd 6 = 1.2,

wmum_H& e CV = 25.6,

cv=2 %100
X
¥ =% x100= 12 x100= 1220
cv 256
X=47
. Qrewi@) msTCauriaer, Wflur  wHMIS

Sipzar wm GO L STy &E@W,
GuiLL eanmrsdled (HEsear e sefl
aueny) QFOHDITS6T. JQUTSHET EISHTIY.HEHEF
soamiiy wepuled @ealQeurm BTEHL
Qeeddprirser. SHau(bHld IEISTIYHS),
(i) &Gy prefled
(ii) QeueuGeum B _sefled
(iii) OS550'55 Brseafled CFedasMHaTET
BSLDS 56| 56T SHTEwTs.
Sirey:
n(S) =36
i. A eteiug @meumd Cr mrefed
uniremeuul(HId Hlsp&s) eTevs.
A={(8. 8), (A, @&), (4, 1), (a1, &),
(Qeu, Qev), (&, &)}
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

. @ alleTwTLIgHSTET, HlNPals &L L ewTLd

i

jii.

55
n(4)==6 C=gmeoCw alipmoed SHleoLs@Gw HapsFs
~nA) 6 1 .

PAy=22 = 2 -~ 6160155,
ii. P(CleueiGeumy Br_sefled LmTeneuudL) n(C)=1

S PA) =1 -PA)=1- L =2 poy=29 -1

6 6 e 0S8

iii. C eted1LIg) SI(DS55BHSS HIL 660 13. @rewi(h usmLseT 2 @HLLLiLHlearmerr.

umteneuull(pibd BlBLPEFS 6TevTs.
C={(8\, Qs), (@&, L), (4, &), (a1,
Clau), (Qe, &) (Ql7, F), (4, ),
(e, ), (Qlau, &), (&, Gleu)}

(©)=10
Z) - nC 10 5
©O=%®) "3 13

X 150. oipg eallemerumiqed @b BHrewruL
epeim  (peom  SewiLu(hEng. e,
L) BIenL6|F ([ aurEiglesmer.
Sjalafllemeniumiged QaTn g Brewt(®H
somevaer alpbaTed et CENiSIlw
Blewa|s SLLewTd Slpwus e ggial(Hid.
pSTM  SMeVEET  HlWL_SITD  IJjeueT
BIOWPa|S  &L_L_6wTLD Qrewr() WLLEISTSES
HewLs@w. PeoemerbluaTDIed JjQUEHHS
655 SLLewI(pd JlHoLsS HenLssng).
PaiaurQpefled, (i) Qrewr® wLEsrs (ii)
Biwpads SsULewrd  Flpwultup (i)
BORas SULSms QUUFSNG, QS
Blasp&dlaEnssnar BlsHss5easamers ST s.

S={HHH, HHT, HTH, THH, TTT, TTH, THT,
HTT} n(S) =8

B rewi(h) LOL_RBISNS HIEDLYEYSH SL L 658TLD
SwULICLD epesimiGeney clLim Ceuemt(HILb.
A = epeiim)| 56960 HewL GG BlsLH&S 616815,
A= {(HHH) () =1
P(4) = n(A) _ 1
n(s) 8
BIEDLPEYS SHL L 6vorld SlmLoLitt Cluim eevimy)
9160608 QTewT(H Hemevse SlewL_saL1 Glum
Geuswt(piLd.
B = @6im| 3160608 Qreuwi(h SHemev
SlenL_s@L HlapES eTevis.
B={TTH, THT, HTT, HHT, HTH, THH}
n(B)=6
pB)=1®

n(B) El
n(s) 4

BIDR6|S HLLeTTSms QULSNE,
FemeoCw elpmoed @(mHés Ceuemt(HILb.

6
8

14. A wimd B gy dlweneu P(4) = % P(B) = 1

Qrewi® s wHILSEHD Fowrs PmEs

S0g s wIlyseflar sabised 4 s

BmLILsHETET BlaWpSsmals STesmTs.

giey:

n(S) =36

Brewi(h LSHML ST Q6TDIG 2 (HL L LILI(HILD

QUG BT FamiGlausiuiled 6 X 6 = 36

2 mitiyset @hHS@ELW: eteviGeu, n(S) = 36

A ez Qrewi()  LseLselen Gy

& wIHlseT LODIDL B yeg Qrewi(H

LSEOLS6M6ST (& L seMeT dnse0 4

-5 lenLss10un|b BlapESlae ces.

etemGeu A ={(1,1), (2,2), (3,3), (4,4), (5,5), (6,6)}
B={(1,3),(2,2),3,1)}

. AAB={2.2)
stem@eu n(A) =6 ,n(B)=3 ,n(ANnB)=1
Py - DAY 6
A) =—==—
nS) 36
Py =28 _ 3
n@S) 36
y _n(AnB) _ 1
P(4nB) —n(S) 36

- P (CGr (pa wdliseT 960608 (s
wSHLILs6MesT Fn(Dge0 4 Hew_&&) = P(AUB)
P(A4UB) = P(4)+ P(B) — P(ANB)
6 3 1 8

2
wHmib P(4 wHmb B)= %, aTer @m&GLomm
Semwwd  QPrewt@) Blawpssear  eresfled,
Ueraimeuartaunanms Srewrs.

() P(A 606081 B)

(if) P(A-1b @edeme0 widmyd B-1b Bedenev)

i. P(4 60008 B) = P(AUB)

P(4) + P(B) — P(AnB)
11 1 5

P(A siobeogi B) = 5+ > = = = ¢
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. 50 wrewTeuirsmeT 2 efer @@ eu@Liled, 28

. Qrewi® usHLSZ6T @M (YD 2 (HLLLI

ii. P(4 -1b §edenev HMID B-1d Gevemev)
= P(A N B)
=P (A v B)
~ 1-P(4UB)
P(A-1b §edenev wHmid B-1d @evemev)

W

Guir NCC-uflgoyid, 30 Guir NSS-goiib wdmyd
18 Guir NCC wpmid NSS-eb Geirdllprirser.

@@  lorewieuir  sweumduy  penpuiled

Gzt H\&sILHSDTT. Sjeui

(i) NCC-ulled @mbgl, apermed NSS -60
Sedeumoed

(ii) NSS-60 @wBgI, permed NCC-ufled
Leveomined.

(iil) &G @aiifled L Hib Cirtg)
BOLULSHETET BSDSHHMETS SHTETTS.

NCC NSS
28—

8-18 18 30-18
=10 =12

Olon5 WevwTeuTS6NeTT cTeutTEN TSNS
n(S) =50

i. A:NCCuiled Geitbg NSS-ulled
Garmned 2_ 616 Lom6ewsTeUTS 6T
puay="A 10 _1

n(S) 50 5

ii. B: NSS-60 @i NCC-uled
G&Fmney 26116 LDTEUTTEU TEH6IT

AN 6

25

iii. C: e1Cn epevided L Bib Gz
B(HEGLD DTEsTTEUTSH6T

n(C) (10+12

o= MO _ - )

22 11
50

u@derper. (W 0 LsmLulled (s WL
SrievL Ll L eTewT VNG  (PH
wgliyseflar saH)Fe0 8 9,58 SenL_LILgnHeTer
BlspSsmald SHTenTs.

56

. @® Quiigulled 3, 5, 7, 9, ... 35, 37. eei

gio:

S={(1,1),(1,2), (1,3), (1,4), (1,5), (1,6)
(2,1),(2,2), (2,3), (2,4), (2,5), (2,6)
(3.1), (3.2), (3,3), (3,4), (3,5), (3,6)
4,1), (4,2), (4,3), (4,4), (4,5), (4,6)
(5,1), (5,2), (5,3), (5,4), (5,5), (5,6)
(6,1), (6,2), (6,3), (6,4), (6,5), (6,6)}

n(S) =36

A = 560 usenL_ulled (s WS

B enL_LiLienL 616wt SlenL_d@L
BaLp&S e16t18.

A= {210, (22), 23), 24), 2.9), (2.6)
(4.1). (42), (4.3), (44))@.5). (4.6)
(6,1), (6,2), (6’321A()6’4)’1(86’5)’ (6,6)}

n

n(A) = 18; )= 2 S

B = & wdlliLsefet gn (D360 8 HlenL_&@Lw

BlaLp&S er6t1s.

B=1{(2,6),(3.5), (4.4), (5.3), (6,2)}

\ _nB) 5
n(B) =5 P(B)= S 36
AnB = {(2,6), (4, 4), (6, 2)}
n(AnB) =3
3
P(AnB) = =
P (AU B) = P(4) + P(B) — P(ANB)
_ 18 5 3 _20_5
36 36 36 36 9

aemrseT GUISSLIULL. F(DseT 2 eTerer.
gweaumiy ennuiled srHSSLILHIL wm F-OH
46T G| 7 -60T LDL_EISHTS |6060)] LISIT 6T600T6UTITS
BOLULSHETET BlBNISMmaIsH STEwTs.

Sitey:
§=13,5,7,9,11,13,15,17, 19, 21, 23, 25,
27,29, 31, 33, 35,37}

n(S) =18

A etet1LIg) 7-6%T DL_EISTS Q(HSELWD Blaspas

616318

A={7,21,35},n(4)=3

3

P(A) = m

B e16vTL1g| LIS 6T6s0TONOTTS @\(H@ELD HlapEs]

616018

B={3,5,7,11,13,17,19, 23,29, 31, 37}
11

n(B)= 11: P(B) = 3

ARB = {7} = n(4~B) = 1
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6ILD6DED HHSLD LDTERTRUTEHEHSSTE mECILIB

. Sgren  ePRTM  BICRTWEISST @M  (PEOD

19.

1
P(ANB)= —
(ANB) T

P(4 21606081 B o918 @(&&) = P(AUB)

P(AUB) = P(A) + P(B) — P(A~B)
3,11 113

sewiLUu@OHainer. HFluLsd 2 Lsser

9|60V F] GSODHIULED 2  Fmeosar

HeOLLILSHSTET BSLDSHMaS STEwTs.

sirey:

S={HHH, HHT HTH, THH, TTT, TTH, THT,

HTT} n(S) =28

A = g flauLsb Qrewi(h LhéaseT SlenL_s@L
Blap&s erevis.

A= {HHH, HHT, HTH, THH, TTH, THT, HTT}

n(A) =7 P(4) = %

B = @eonhsuL_sb Qe seneogei
SlewL_&@L Hlapas eevis.

B={HHT HTH, THH, HHH}

n(B) = 4, P(B) = %, P(4B) = g

P(AUB) = P(4) + P(B) — P(AB)

& 8 8 8
oW FacmLullgeter 80 weEhser, 70 Haiy
wHpmid 50 Ceusteners LysseaflelimBg  Fo
eumiiy apennufled e L G570z HEsILHIDL
Gurg g WEHFT Ievevg) Flail BipL
Leurs Qs Blapsse) creTem?
QgL L,sa6fle sesrentiléeans

n(S) =180+ 70 + 50 =200
LDEha6i L&aelle erewttensiigens n(Y) = 80

. _n@) _ 80
- PO =) T 200

Seuliy wsseflen stesvtensiigens n(R) = 70
L pRy="R) 70
n(S) 200

Y wmmiLd R eTedtLIen spetienmGlwimestny elevd@Ld
Blapadlser P(YUR)=P(Y) +P(R)
LDEhF6T 60605 Seuli BlpLl Lyeuts Q(H&s

Sopasay PRy~ 0 4 10 150 3
P& 200 200 200 4

20. m GYuilmpLiiled 1 (pged 100 eueny 2_ater

&5 eTewT s rewTL al(Hisefledl(hbg ) Faumuii
wpeopuiled peatemns CsibosHisEw Curg
SBs el yar 56| eent of S eTewt
VNG| (PIPAUTHS 6TERT IVVG (PP
ST 6TERTEMINS S LILSDHSTRT BISLSSHa]
STERTS,

Qlorgs ef(Hsafer srewTenisens n(S) = 100
556 616587 ZTL_6HL_ 6TEUVT6VIINS
SlenL_LiLgmanen Blap&sl A etevis.

A= {2,4,6,8, .. 100}
n(A) = 50
. P(A) — LA)_S_O
N n(S) 100

&G6Y 616501 (LP(LPEUITES: 6T6T0T6TVTNS,
SlewL_LiLgmanen Klasp&s B erevis.
A = {154, 9,16, 25, 36, 49, 64, 81, 100}

n(A) = 10
. _ n(B) _ 10
-~ PUID n(S) 100

&56)] 6T6T0T (LP(LD S6T 6T6TVTCTVTNG
Slen_Liugnasnen Hlapss C erevis.
A = {1,8,27, 64}

P(AnB) =P

(@61 616w3T OHMILD (LP(LPEUTES 616D 5

SlewL_&5) = 100

P(BNC)=P

(P 6uiT&S 61638T LOMMILD (LP(LD SH6UT 6T6TTT
SlemL_&5)

P(ANC)=P

(@761 6T6w3T OHMILD (LP(LD SH6VT 6T6VTT

" 100

2

SlewL_&5) =100
P(ANBNC) =P

(BT 6oL 616w8T, (Lp(LDEUTES 6T68T, (LP(LD 561{1

61630 SHlevL_&5) =100

Coemeuwnen Hlapgse,
P(AUBUC) = P(A) + P(B) + P(C) — P(ANB) —

P(BNC) — P(ANC) + P(ABNC)

50 10 4 5 2 2 1
= -+ -+ —

T 100 100 100 100 100 100 100
65 9 56 14

“ 100 100 100 25
% %k
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@ @ MeY&EMHLD SMiTLIGGm LD
A—

2 1DSHILIEHIBHET

eresfled, k ullest wiewus smemwts.

Bieu:

fix)=3x-2 glx) =2x+k

fog=/1g)] gof =g [fx)]
=/12x+ k)] gof =g [3x—2]
=32x+k) -2 =2(3x-2)+k
=6x+3k-2 =6x—-4+k

fog=gof=>6x+3k—2=6x—-4+k
=3k—k=-4+2 =2k=-2 = k=-1

2. fof (k) =5, fik) = 2k — 1 eresfled, k-ulles
IILInLIS SremwTs.

girey:

Jof (k) =5

fok—1) = 5

2x-1)oQRk-1) =5

20k—1)-1 =75
4k—2 = 5+1

4k-2 = 6

4k = 8

k=2

3. #Gps Qan@ésuLL Gaier [ oHob g g
smjysenetl LweTUHSS) f0g WLHMID gof-28
srewts. fog = gof ererugl eflur Cendlss.

(@) .f ) =x2— 6, g()=x’
(i)f@=", gw=22-1

(i) £ () = 52

iV f(x)=3+x, gx)=x—4
WM f)=4?-1,g(x)=1+x
giey:
i) f(x)=x-6,gx) =x

(fo@)(x) = flgx) =fix’) =x* 6
(go/)x) = g(flx)) =g (x—6)

= (x—6)>=x>—12x+36
. fog # gof

28(X) =3 —x

LrHM| (PEOM:

fog=@x-6)o(x)=x-6
gof=x*0(x—6)=(x—6)

. fog # gof

B Gg Cued HM SHewsTs @GS LD ClFuIg

LITT&&60MLD.

i) /0= 2, g9 =271
(fo)(x) = flg(x) =2~ 1) =
(20)(X) = ()

2
Ix? —1

iii) fix) = ]
(fog)(x) = flg(x)) =3 —x) =
_ 9—x
3

(20)(x) = (/) =g[x;6

—3_ x+6 _ 9
. fog # gof

iv) f(x)=3+x,gx)=x—-4
(fog)(x) = fig(x)) = flx —4)
=3+x—-4)=x-1
(goN(x) = g(flx)) =g(3 +x)
=3+x-4=x-1

.. fog = gof

V) fix)= 4x*-1, gx)=1+x
(fog)(x) = flg(x))
= A1 +x)
=4(1+x*+2x)-1
= 4x* +8x+3
(gof)(x) = g(fix))
= g(4x* - 1)
= 1+4x* -1
= 4y’

. fog # gof

(3-x)+6

-x-3 6—x
3 3
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2
L< |

4. fog = gof eresfled k-ullest FLienLIS HTewTE.
Hfx)=3x+2,g(x)=6x—-k
(i) f(x)=2x—-k,g(x)=4x+5
giey:
i) fix)=3x+2 gx)=6x—k
¥ ¥
(Bx+2)o(6x—k) = (6x—k)o(B3x+2)

36x—k)+2 = 6(3x+2)—k
18¢ - 3k+2 = 185+ 12—k
3kt k=12-2
2k = 10
10

i) ix)=2x—k gx)=4x+5
fog = gof
R ¥~
2x—k)o(@x+5) = 4x+5)02x—k)
24x+5)—k = 42x—k) +5
8 +10—k = 8" —4k+5
—k+4k = 5-10

5. fix)=2x-1, g(x)=
fog = gof = x etewrs &TL_(H5.

+1
—— etexflev,
2

Jog =gof

5 [x+1] g
2. 2

e =2
X 2>

X =X

~.fog=gof=x
FfluniésiuL L g|.

6. flx)=x*—1,g(x)=x—2 wHmd
gof(a) = 1 eresfled, a-gm& snewrs.
gof=1
x-2)o(@-1)=1
ad-1-2=1
a-3=1
a =4

a=+2

5 1D IGILIGOIBHET

1. &miyf:R — R g6z

2x+7; x<-2

x’-2; -2<x<3

3x-2; x=>3

6TEUT QUEMITIIM|SHSLILIL_L_T60

@) f@ @i f(-2) (i) f4) +21 (1)

(iv) w e fuaipder wSiLsemers

S =

_3)
STEUTS.
1 11 \; 111
X6 5432 19\2P)5 4 5 6X
fz) = 204+7 fwp=-2 flz) = 322

SIHSHed aniquieeriig gy [ pewg 1, 11,
I etesim QevL_Oleushizafed euemTULMISSHL
WCEALER

x = a e OarpssiucL wdHiadng a
BmesGw BenLCleusienws sewr(HLiy S8,
bS5 Ben_Oeusuled  fla)-m&  smewr
Ceauewt(hlLd.

i. X = 4 syevg) eperipreug GenL_Glausluiled

2_aTenens Hd STEsT60MLD.

@i, f(x)=3x—2;/(4)=3(4)-2=10

ii. x=—2 9y ev18) Qrewt_neug Gen_Cleuafuiled
2_61T616m & HLD SMETITEVNLD.

eteoi@eu, £ (x) =x° —2; f(-2) = (-2)> -2 =2

iii. (i)-eSma1, /(4) = 10. £(1)-6ir wienLiés
sevet, x = | oy evig) @rewi_neug)
Bew_Glaueluled 2_siteng). oy ensullewmmed
() =x*2 Sl /(1) =17 =2 =1
srenCeu, £'(4) + 2/ (1) =10+ 2(~1) =8

iv. f(1)=-1,f(4)=10. etev18 sHewwTGLMLD.
f(3) -emwis snever x = -3 oy 6u15)
evipreug QenL_Gleusulled 2 siemens s
STevuTeVNLd. Y emaullevtmed f(x) = 2x + 7,
srenCey, £(—3) = 2(-3)+ 7 =1

F(1)-37(4) _ -1-3(10) _
£(=3) 1

2. fetetm mLTCTS)
xX+2;
Sx) =125

x—1

etevTG60,

x>1
-1<x<1
3<x<-1

6T6UT Q.IGIDI]'ILIQ]SB’:IJIJI_I_IT&)
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L3 ]

®.f@) (i) f(0) (i) f(-15) (v)f(2)+f(=2)

SpFlweuprier Il semers srewts.

i f3)=x+2=3+2=5
ii. £(0)=2

iii. f/(-1.5)=x—1=-15-1=-2.5

iv. £(2)+1(-2)
—[x+ 2]+ [x—1]
=[2+2]+[2-1]=4+[3]=4-3=1

""" £ -5, 9] - R areirp smijLreng) Mefreugsionm
YL TV EEANIRTGYEAT Y

6x+1; -5<x<2
fx)= 5x—1; 2<x<6 erew

3x-4;, 6<x<9
ueTunISESILHEIDG) erefled,
Ueraumeuathenms smesmrs.
@) fE)+HfQ) (ii)f MD-f@

f(-2)-£(6)
(iii) 21 (4) + £ (8) @i )—
, f@)+1(-2)
Siey:

i f(-3)+/(2)
=[6x+ 1]+ [5x*— 1]
=[6(-3)+ 1]+ [5(2) - 1]
=[-18 + 1]+ [5(4) 1] =17+ [20= 1]
=_17+19=2

ii. f(7)-f(1)

= [3x—4] —[6x + 1]

=[3(7) —4]—[6(1) £ 1]

=[21-4]-[6+1]=17-7=10

21 (4) +£(8)

2[5x2 =17+ [3x — 4]

2[5(4)* = 1]+ [3(8) - 4]

2[5(16) —1] + [24 — 4]

2[80 — 1]+ [20] =2[79] + 20

=158 +20=178

2/(=2)-1(6)

f(4)+1(-2)
 2[6x+1]-[3x—4]
- [5x-1]+[6x+1]

2[6(-2)+1]-[3(6)-4]

[5(4) —1]+[6(-2)+1]

iii.

iv.

2[-12+1]-[18-4]

~ [5(16)-1]+[-12+1]
2[-11]-[14]
~ [Bo—1]+[-11]

_ 22-14 36 _ -9
79-11 68 17

4. yeluiiiyelenesuiler sryewrionsallermg sefled

Q@ QurmeT SLS@GW FrTwrerg S(7) = % gt
+ at + b ereurs Qar(HssLILL (DeTterg). P a,
b gyFluenau wrledlser (g ezl LalluTiiy
aflenauiler sryewriors erHLBID (WPHSSW) S(7)
SQOTH| QRETNISO\STHTMHTET  STTLTGT  6Tewr
SIS,

s(t) = %gter at+b

s(?) eresiugl 1 - 1" gy 601 #niyL eTevt HlemLiGs
CeuewgnigullmLiLIG 60

s(t) = s(,)

1 1
Egt12+at1+b= Egt22+at2+b

1 1
Egt12+atl+b—Egtzz—atz—b=0

%g(tlz—tzz)-Fa(tl— ) =0
|
:Eg[(t ) (T talt,—1,)] =0
t,— 1) [~ S8 )t =0
= t,—t, =0
L gl + )+ az0]
2 1=t
1 2

-.8(t) eteitug 1 - 1 oy6u1 FmifLINGLD.

‘v etevrm emumeg OFedflwueniled (C) 2 afer
QaiuBlenevenwwid, LmyeTanL .60 (F) 2 erer
QaiuBlenevenwuwd PeneRTHGD FTTLITGLD.
Gmguu’:agt C)=F etewr suemyum|&&LILIL_L_IT6D,
(@ri@ F = _ C+32).

(i) #0) (i) #28) (iii) #(-10)
(iv) 1(C) =212 5,5 @méHEwWeUNg C-evr I
(v) Q&eddlwerd wIILD LimyesTafi_

iy DmeEweurg QeiLiBlenso

S Flwaupenns; sernfls.
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[ 4]
i. #(0)= J (0) + 32 =32°F giey:
S giftx) =glf fini]l=glfGx+1)]
i, (28)= 2 (28)+ 32 = 50.4 + 32 = 82 4°F =gBCx+ D+ 1]=g0Ox+4)
> g(Ox+4) =[(Ox +4) +3]=9x +7
iii. /(—10) = 2(—10) +32=_18+32 =14°F feg(x) =flglgx)}]=/[gx+3)]
e o = f163) +3]=/ G+ 6)
. #e)= , @@&@;’ sl F(@+6) = [3(x+6) + 1] =3x + 19
212:§C+32 = gC+32:212 gff(x) ngg(x)
2 c=212-32 =2 Cc=180 eteorGeu 9x +7 =3x +19
5 s 5 Ix—3x=12=6x=12=x=3
=  C=180% = =100°C | e
9 8. Qar@&suuLrLf(x),g(x), (x) eyFluahenns

V. Q&e0&lwend iy = unresiadL” iy
C= % C+32=5C=9C+ 160

—9C—5C=-160= 4C=-160
_ 160 _

. S =2x + 3, g(x) =1 — 2x womid -(x) = 3x
ereufled fo(goh) = (fog)oh ererr Bimiays.
giey:
fx)=2x+3,g(x)=1-2x, h(x) =3x
Qulunps, (/0g)(x)= flg(x))
= f(1 -2x)
=2(1-2x)#3
=2-4x+3
=5—4x
Cuogud  (fog) 0 h(x) = (fog)(h(x)) = (fog)(3x)
= 5-4(3x)
=5—12x
(goh) (x) = g(h(x)) = g(3x) = 1 —2(3x)
=1-6x
=f(1-6x)
=2(1-6x)+3
=2—-12x+3
=5-12x --(2)
(1) wHmid (2) -eNHHE BSE:S SenL_LiLg,
(fog)oh = fo(goh)

— (1)

Gueitd fo(goh)(x)

) =3x+ 1 gx) = x + 3 gfluemar @m
gmyser. Cuoew gfflx) = fgg(x) aefled x @&

STEUUTS.

Qarewr(y) (fog)oh = fo(goh) ererrs srL(hs.
(i) fix)=x-1,g(x)=3x+ 1 Hmd i(x) = x?
(i) fix) =x%g(x)=2x wHmib A(x) =x+4
(iii) flx) = x=4, g(x) = x* OB ~(x) =3x -5
(fog)oh
[(e=1) 0 (3x+1)] 0 x*
[B3x+1—1]0x?

=/fo(goh)

=(x-1) 0 [(3x+1) 0 x*]
=(x-1)o[3x*+1]

[B3x]ox? =3x*+1-1
3x? =3x?
(fog)oh =jfo(goh)
FfunfssliuLLg).

(fog)oh = fo(goh)
[(;{4)? x*] 0 (3x=5) =(x—4) o [x*0 (3x-5)]
/\
[x?—4]o[3x—5] =(x—4) 0 [(3x—5)7]
[3x—5P-4 =[3x—5)*-4
[(a—b)2 = a2 — 2ab + b2]
(fog)oh =jfo(goh)

FunissiuLLg|.

(fog)oh = fo(goh)
[(x*02x]o(x+4) =(x*0[2x0 (x +4)]
K K
[2x]* 0 (x + 4] =x% 0 [2(x + 4)]
[2(x+ 4] =[2(x+4)]*
(fog)oh =fo(goh)
FuniésliuL L g.

* %k
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GTGIISGMLD O\GMLIToUTanE8(6iHLD
A

ii. 867 wHmud 255

210 womp 55 gHwepdler BUGCL
Qurg au@gdleow 55x — 325 ereiipy augailed
sTpSlewrmed x-wilewt WL srewis.

giey:

Wh6iMIq.63T 61@GS5SH60 auLl(penmenwILs
LweTL(HSH CaTHSSLILIL L 616515 EHHE
15.6lum.eu srewsTGLIMLD.

210 = 55x3+45
55 = 45x1+10
45 = 10x4+5
10 = 5x2+0

5l =0

25Gau, senL_& LigHleneoullest eu@sd) 5
Spengl 210 wpmin 55-ullest LIGILIH Qung)
UGSIWN@GLD.

BUICIL@, Cung) eu@sdl S5x — 325 = 5 eten1ds

Qar(saLuL(DeTeng.
55x = 330
x =6

waeflgar aEsSsed aflpernenwl Liwer
u@sgll Uerameusraunmlesr - 1S.Clum.a
STEwTS.
() 340 wHms 412
(iii) 10224 wHmyb 9648
(ii) 867 wpmud 255
gitey:
wpeflige8r CHmiiLg.
a=bg+r
i. 340 wHmid 412-8@ 15.C\um.6u Smewr
Geuswt(hLd.
412 = 340(1)+72 7240

340 = 72(4)+52 5240
72 = 52(1)+20 2040
5 = 202)+ 12 1240
20 = 12(1)+8 8 £0
12 = 8(1)+4 440
8 = 4(2)+0 8 = 0
a8 eu@sd) 4 e16vled 15 = 0
. 340 wonib 412 et 15.Clum.eu 4

867 = 255(3)+102 102#0

255 = 102(2)+ 51 5140

102 = 51(2)+0 88 =0
. 867 wombd 255 @evr 15.Cum.eu = 51

iii. 10224 wHmb 9648
10224 = 9648(1)+576 576#0
9648 = 576(16)+432 432#0
576 = 432(1)+144 . 144#0
432 = 144(3)+0 58 =0
- 10224 whHmib-9648 @t 18.Qluim.eu = 144

32 wopmd 60 yHAweiHler BUCLW, Clurg)
g d erars. d = 32x + 60y eresfled x wHMILD
Y 616D (P(LDSHEMETE: SHTCTTS. .

w6l 68t G HmLiLilg
a = bg+r
60 = 32x1+28
= 32 = 28x1+4
28 = 4x7+0

.32, 60 ev1 15.Clum.eu 4
ismeugl d =4 Guoed d=32x + 60y
- 4 = 32x+60y

4 = 3202)+60(-1)
=.x=2,y=-1 oy@Lb.

70004 wHmd 778 o Flw erewtHeneT T 460
AUGHES SlenL_ &G ISHemws Srewrs.
70000 60181 7 24,60 euGU(HILD 6TEUTLISTED
70000 = 0 (@ 7)
70000+ 4 = 0+ 4 (b _(® 7)
70004 = 4 (bL_@® 7)
e1651Gel,
70004 -g5 7 24,60 eu@S58 HenL_s@L W 4
=TT e T 4,60 eu@GU(HID 6TETLISTE)
777 = 0 (L@ 7)
T77+1 =0+ 1 (0@ 7)
778 = 1 (b 7)
s1eu1G6v,

778-23 79460 658 SHenL_s@Lw W 1.
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5.

15 = 3 (o d) eTerpeurm) Sienwwjd d-ufler
wdllienu Sioreflss.
15 = 3 (b d) etesIg 6wt Clum(mesit
15-3 = kd,
B k e165TLIG) 6(1F (Lp(LD 6T6VT.
12 = kd
d syeuz) 12 & eu@sEid.
12 @evt su@sdlaemmeuss 1, 2, 3, 4, 6, 12.
d sye518) 3 2 el g Sls1ons Q)(h&e GCouewT(Hibd,
e10\esterlen LSS 3 eumbgl6itena).
e16uGeu, d -& FTgSLNES SHLIL|SET
4,6, 12 gy @b.

Ueraumeusreudniin@Lt QLIm(bbSs8n.ig. L
SODHIULEF Slens X-205 SHTewTs.
(i) 67+x=1 (L@ 4)

(ii) 98 (x +4) (b 5)
i. 67+x = 1 (o4
67+x—1 = 4n
66+x = 4n

66 + x et6uTLIG) 4 63T LOL_MEI(S).
66 m el iFlaLonest 4 6v1 OL_EIE 68.
e1euTGeu X 68T GHEODBSLLF Sy 2.

ii. 98 = (x+4)(b@®S)
98 — (xt4) = 5n,
1 61681 ICHEILD (1 (P(LPSHST.
94—-x = 5n

94 — x e16vTLIG 5 B6VT LOL_MEI(G).
94 e ellL_& @enmeunes 5 @eur OL_miE 90
e1651Geu x Q6T GHWDHSLIL & I 4.

Frés: 8x =1 (bR 11)
x—1=1ln=8=11ln +1=x
n=5=>x=7

n=13=x=18 .......

_1ln+l

10* = x (- 19) sT@rmeurm Siemiowid x
wllienus senTsdl(Hs.

girey:

102=100 = 5 (oL@ 19)

10" = (1027 = 5 (oL@ 19)

10% =25 (L@ 19)

10° = 6 (oL@ 19)

[etesimeunmy 25 = 6 (L@ 19)] stewiGeu, x = 6

9.

. Uetaupd  swerur(hsener mBleome] Geunwus

3x =1 (b@® 15) etatp &FATLUTL QNG
TSR (PP 6TEWT STQFH6T 2 6TETEU 6TEUTS
STCwTS.

Siey:
3x = 1 (bl@® 15) eres1Iens;
3x-1 = 15k
k e1681L18) TCHEILD 62(1H (LP(LD 6TV 6T(LPSEVMLD.
3x = 15k+1
_ 15k+1
3
x = Sk+ 1
3

Sk e163TLIG) 6€2(TH (L(LD 6T6TTT 6TEHILISTED
Sk + % 6T6TTLIG) 62(TF (L(LD 6T6T0T. 606V,

e1651Geu, @FFIETUNIQNE) (PP sTewwT FiTGeu
Bevemev.

Salgll. @GWDBSULE Slens (P x-er
IZILIHLIS STewTS.

(i) 71=x(wb®m8) (iv)96= ; (L_® 5)
(i) 78+x =3 (bL_® 5) (V) Sx=4 (- 6)

(iii) 89 = (x+3) (L@ 4)

i. 71 =x (v l( 8)
= 71—-x =8k
= 64+7—x =8k
: x =7

il. 78+x =
= T8+x-3 =5k
=75+ x er681LIg) 5 B6vT LOL_EI(S.

x =0

3 (LL@ 5)

i, 89 = (x+3) (bl (B 4)
= 89-x-3 =4k
= 86 —x =4k
= 86 — x e16vTLIG 4 B6VT LDL_MEI(G).
86 m ellL_& @enmeunen 4 Q\evr OL_EiE, 84

x =2
iv 9% = — (b S)
96 — % = 5k
96 — % eTeuTLIg) 96 g el @enmeumest
5 @evr LEIG 95
: x =7
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V. 5x =4 (bl @ 6)
Sx—4 =6k
k=1 etexMe0,
S5x—4 =6
x =2
11. Siés: 5x =4 (oL@ 6)
Siey:
5x = 4 (b 6)
5x—4 = 6k
5x = 6k+4
o= St 6
=1 erefled 6()+4 6+4 10
X = Lz;z_zz
5 5 5
k = 6 6168160
_6(6)+4 36+4 40
X = = :—:8
5 5 5
k=11 etevnled
o= 60D+4_66+4_70
5 5 5
x=2,8,14, ......
12. Siygs: 3x—2=0 (oL@ 11)
3x—2 =0 (bl @ 11)
3x—2 =11k
3x = 11k+2
11k +2
x = k;  k=2.5.8. .
k=2 e16tl60
11
i (2)+2:22+2=g:8
3 3 3
k=35 e16vl60
11
3 3 3
k= 8 e16v1M60
11(8
3 3 3
x=8,19,30, ......

5 1D IGILIGOIBHET

1. 396, 504, 636 gySweunnlesr 15.6LT.cu HrewTs.

Siey:
ClaET(HSSLILL L epevTn) TewTaaent LS.GlLIM.6u
snewst, B (PHedled (P60 B eTewsTHaMewT
15.Clum.eu srewTGLIMLD.
396 wmHmibd 504 sy Sweunilest 1S.ClLT.6u
S6wT, WhSaTIq.68T 61(&HSSH60 euLdl(LpemmenuIL
vweL(hSS Kb Clumieug,
504 =396 x 1 + 108 @i, B4 108 # 0
396=108 x3+72 @mEi& 5872 #0
108=72x1+36 @m@bd36+0
72=36%x2+0 - Qmig 58 =0
e1681Geu, 396, Hmid 504-ullest 15.Clum.eu 36
636 wHMID 36-ullesT 15.ClLIM.6u 6w,
W S6MIg 63T 61&SS60 euLbl(penmenwiL
vweu(hiSS B Clumieus
036=36%17+24 @mrig 5524 +#0
36=24x1+12 Grg B 12%0
24=12x2+0. @EiE B8H =0
e1681Geu 636 WHMILD 36-uflewt L5.GClLim.eu 12
e1681Geu 396, 504 wHmid 636-ullesr LIGILIEH
Qung euGSSH 12 oy @Lb.

2. wseflger UGSS560 auflpenpenwiLl
vweru(HSIL Neraumeusraunler 15.6um.eu
STEwTS.

84, 90 wmHmw 120

84, 90 wmmywd 120
whefigest CammLiLg a = bg + r

90 = 84g+r (6+#0)
90 = 84x1+6
84 = 6x14+0

. 84, 90 ev1 15.Clum.6u = 6

Goeitd 120, 6 631 15.ClLm.6u Smewst
120 = 6x20+0

. 84,90, 120 661 15.Qim.eu = 6
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3. e sy Ozr_iaflmsulled sSmwbs gewihw 3900 2 widpg. Uflwureler
3IW355HSs ewarm 2 miLiseflar sabHFed 27 wrempdlré Gy 320,000 SewLw
wHmbd Sjeunnler Clumssnueer 288 erefled, STelaueTa] STEVLD QL GLH?

SIES CPRTM] 2 MILILISMETS STewTs. [Py Siey:
1 eu(pL_1d 2 eupHL-Ld
gal (DS Clan_euflensulled emiohs euHonesd T 15,000 % 16,500
DE5OSS epeinl 2-DILILS6i Qzevey % 13,000 % 13,900
a-d, a, a+tdeets. GaflLiy T 2,000 T 2,600
RPSIDI 2 DILIL|S6flen sn (HZ60 - eupL Gediiy T 2,000, T 2,600, % 3,200 ...
a-dtatatd = 27 a=2,000, d = 600, ¢, = 20,000
3a = 27 a+(n—1)d = 20,000
a = 27 —2000 + (7-1)600 = 20,000
3 = (n—1)600 = 20,000 — 2000
@9 = 18000
ppesImI 2 MILiLsaesr ClLhHSS60
(a—d) (@) (a+d) = 288 = n—1 N2
a(@®>—d* = 288 600
99— ) = 288 = AR - 30
= n = 31 eu@pL_misen
81— = % 31 eimLEIsERsEL Lng Lflwurelest
§1- - 3 G DIORG
49 = P 6. @wm sl gaiaflb 2 ater I 207m Fal(HiS
J = 47 GCzr_feuflensuiled S|MOWLD epeTm
ursEiserrsl  Uflsss sergl epeim)
- @al (DS Cam_ieuflenaulled HemLomha eL6sTm) SpbmssErsEn Qsres  almbLiermy.
2 miuiyset 2, 9, 16 (Siedevg1) 16, 9, 2 Seunrled Pm HAflu  CFrensseafler

4. B® sl @S Azm_jariemeullen 6-aug HDI>
8eugl 2 miiiysefler aflflgw 7 : 9 erafled, 9-eug
womb 13-eug 2 miuyseflar allflgw srewrs.

LPSIM| GLPHeGS6T LI C\FTens dnl (DS

Qu@mssHueer I 4623 oW, eaiGlaurm
GPhaswyw Cunib Cgramsulamers srewTs.

Siey: QsrLireufenaulled iemDaUsHTed Heumen
S S De®D
e tg=T7:9 a—d, a, a+deieus.
t, 7 &Y 7 Qg remauilest ga(Hge0 I 207 eT6eiTLIGTE)
>t =—= = —
s 9 a+7d 9 (a—d)y+a+t(@a+d = 207
= 9a+45d="Ta+49d = a=2d 3a = 207
ty : t,5-6m6u Siewst Ceuesmt(HLbd. a =69
t,  a+8d 10d 5 B Alw Cgrensaseilest ClLHESMHLIeV6ET
: _—= = = — . .
ty  a+12d  14d 7 4623 ereinized
— = 4623
5 : 7 etetiuient Ggemeuwinent afllflsomn@Lb. (@~ dja
______________________________________________________________ (69 — d)69 = 4623
5. Jflur gerg o560 wrg aimoresiors 315,000 4623
rLQ#prT. sigar g eaiGari gyemwrHn 69—-d = 6 67
Sleurg wbrg eumorersd I1500 e widpg. d =2

SeuEnmLW  (PHe0 rg OFwe; 13,000
HMID SjaleTg) LIFTESITE G eeaiGary
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e160TG6), PLPESTM| (FHLPIHENSHEHHGLD Sl BT
HNSg18 CarbSs gnems S; 5 [2a+(3n — 1)d],
T(69-2),369,%(69+2)

3izreug) < 67,3 69 womib I 71.

S, 8, = 2_2” [2a+2n-1)d) - 5 [2a+(n-1)d]

7. 300-6@H  600-5@H QeoLGu  T-g46 = 2 [[4a+22n-1)d] - [2a+(n-1)d]
aguOL marsg BDued  erewrsefler 2
Sn[BH\S60 HITEWTS. S,—S, = L x[2a+(3n-1)d]
giiey: 2
301 +308 +315+..... +595="7 3(S,-8,) = 3n [2a+(3n—1)d]
a=300;d="7;1=595 2
N R
0 ] 9. @m ®msES T aiflwmsullar 4 -ag
7 [300 71600 2 miiy i HMILD 7-eug 2-MILiL], 26443 ereufled
56 4
% 20 SihL1 QLmEES CsTTauflensamwus sremrs.
14 35 Biey:
6 5
6 — 4eug) o miLy 1y = $ =8 - (1)
a=300+7-6 /=600 5 ? ?
a =301 /=595 Teusi emitiny £, = O
595300 243
n = — +1 64
= ar®= — - (2)
- =224 243
7 et (2) & (1) o160 eu@ss Cumieug,
n =42+1
64
= 43 64
" ar® 243 64 9 8
n - =<1 = _" —_ =
Sn=§(a+1) ar’ 8 243 8 27
9

S, = % (301 + 595)

43 27
= — (896) . a- : :
2 r Qe wllienL FwesiLn® (1) Geo KFHudl,
= 43 x 448 7? 8 B
S, = 19264 ax|Z| == =a=3
8. §,,S5,, oHmid S, sTerueT (WennCw e Fal-H'S steriGeu, Caemeuwines QLI(HEESS
Asmjeuflensuilar pged 7, 2n whmud 3n Qsr_ieuflens a, ar, ar.....
e muyseflar sahised Gw. S, = 3(S, —S,) 4
eTer Blimieys. iFmeug 3, 2, 3

S, S, S, eeviuen (peopGuw @ FmL B
Qi euflewsullest (pged n, 2n wHMID 3n

2_mILiLsaTest gn (D360 eTevlev,
S, = g [2a+(n — 1)d],
S, = 22 2a+(@2n - 1)d],
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10. @m® sa_(h$ Csr_jauflmsuiler earugTag)
e pulleT eatug) LLEGW, LMmaThsTag)
e puller uglenearihg WLEE@W Fwow erefled
Bmuss wratsrag emuler  oym
ILEISTETg Lh&FAb erer Blimiays.

Siey:
9, = 15t ... (1) etevias
6t,, = 0 ete01& HILL_
GeuestT(HId
(= 9(a+8d) = 15(a+ 14d)

9a+72d = 15a+210d
15a—9a+210d-72d =0

= 6a+138d =0

= 6(a+23d) =0

= 6t,, =
61681 BlemLISSLILIL L ).

11. 450-53& GmDeuns 2_aTem MATSS] DHENMD
Slens pp&seaflear saHed srents.
Coemeuwiner gnl (NG O mir

=1+3+5+...+449
QmiE, a=1,d=2,1=449

n:[l—aj .
d

_ 449-1

+1=225
225
- Sn= T [1 +449]

S == [a+1]

n
2
=225 x225=50625

kksk
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0
3 Suwiaanfsi
A

2 1DSHILIEHIBHET

1. Sirss:2x—3y=6, x+y=1

giey:
2 -3y=6 (1)
x+ty=1 --(2)
(Hx1l= 2x-3y =6
2)x3=  3x+3y = 3(+H)
S5x =9
9
= x = =
5
)= —+y =1
@ SR
4 5 5
4
Vo
4
am@m,ng,yZ—
5 5

2. deraumw ellflswmn Careneusener sraflu
agalhG& & HsEs.

2 2
i) x -1 ii) x —-11x+18
xP+x x’—4x+4
p -3p-40

2p° —24p*~64p

siyey:
-1 _ x0T :(x+1)(x—l)
X +x x(x+1) x(x+1)
:(x—l)
X
Lo —1le+18 L (x-9)(x-2)
. = - = 7
x? —4x+4 (x—2)(x—2)
:x—9
x—2
i 9x2 —81x 9x(x+9)
x—8x* —9x x(x2+8x—9)
_ %x(x+9) _ 9
(x)(x+9)(x—1) x—1
W, P =3p=40  _ (p=8)(p+5)
2p’=24p*—64p  2p(p-8)(p—4)
_ (p+5)
2p(p—4)

3. Jeraumw muiné swerur@sefler

epeorEisaflar SATEHMILS HTETHTs.

@ x*—x—-20=0

(i) 9x?—24x+16=0

(i) 2> = 2x+9=0

i ¥-x-20=0
@EE, a=1,b=-1,c=-20
seTeOwaTL g A = b* —4ac
A= (=1~ 4(1) (-20) =81
A=81>0
sTeuTG6, FLOETTLIML Iq.63T pLpevmIS6iT Gloul
wHMILD FLBledEw6V.

ii. 9x%— 24x+ 16=0
@miE, a=9,b=-24,c=16
SN g, A = b* —4dac
A= (—24)? — 4(9) (-16) =0
A=0
1616, FLOEGHTLIML Iq.63T pLpevmIS6iT Gloul
LOHMID FLOLd.

fii. 22— 2x +9 =0
@mE, a=2,b=-2,c=9
seatemwaL g, A = b? — 4ac
A= (=27 —4(2) (9) =68
A=—68<0
61691G61, FLOSITLIML 1q MH(&) GILOUT PLPEVEIGEIT
Bevemev.

4. eit TEWT LHOLD ST Fene0S gy Flweunfiewr
aflgFwrsd
STEwTS.

giey:
x etevTLIg CHemeuwwimest 6T65T 6T6vTa5.

%srsuﬂe\'), SlHT  ETEWTEHEUITS

1 eTITLIG) Semevd L
o 1 24

X—— = 5 616518 STLILIL (h6Teng)
x
x’ -1 _ 24
x 5
5x%—5 =24x

5x2-24x—-5 =0
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12
5x? 25x+x—-5 =0 y=2
£ =5, S16060g1 —— x=1,y=2 eten (3)-uled Sy
S 1 +2+z=06 etetlev,
5. Ueraumw muiné swerumsefler i =3 - -
epenisaliar SiEOMLIS Sap)s. el A

() 152 +11x+2=0
(@) ¥*-x-1=0
gier:
i 15x*+11x+2=0
a=15, b=11,c=2
A =b*—4ac
=117-4x15x%x2
=121 -120=1=(+)ve
. QPEVMEIGET GlLOUT LOHMILD FLOLD 606V.
ii. xX>-x-1=0
a=1,b=-1,c=-1
A =b*—4ac
= (1) - 4(D)(-1)
=1+4=5
. QPEVEIGET GloUT OHMILD FLOLD H{6V6V.

5 1DSWICLICHIBHEIT

1. dereumb epeirm wriflsefled sjemwng Cuifl
gweaturL_(p) Qgr@LLilemers Siss.
Ix-2y+z=2,2x+3y—z=5,x+y+z=6

Siey:
3x-2y+z=2 -—-(1)
2x+3y—z=5 ----(2)
X+ ytz=6 ----(3)
(1) oHmibd (2) 208 Fal L
Ix2y+tz =2
2x+3y—z = 5(+)
Sx+y =1 -—--(4)
(2) wHmID (3) W& Fnl L
2xt3y—z =5
x+ty+z =6(+)
3x+4y =11 -—--(5)
(4) x4-(5)
20x +4y = 28
3x+4y =11(-)
17x =17 =x=1
x =1 616wt (4)-ufled LFSlull,
S5+y=7=

2, gigg:x+2y—z7=5S;x—y+z=-2;
~5x—dy+z=—11

x+2y—z=5 -—-(1)
x—y+tz=-2 ---(2)
—Sx—4y+z=-11 ----(3)
(1) oHmibd (2) 208 saL L
x+2y—-z =5
x—y+z =2(%)
2x+y =3 ---- (4)
(2) Smbail (3)e8 sflés
x—y+2 202
—Sx—4y+z=~11(-)
6x+3y =9

3-3160 UGES, 2x+y =3
(4-ed@pal (5)-28 sfss,

- (5)

2x+y =3
2x+y =3
0=0

BriE 0=0 e1631D (PHODTHEOLD HewL_SH D).

eT60rG6u, OBT(H&sLILL L FwesturL_ ()

CsnELLSINE) eTevtTerIHD &6s6i 2 68T(DH).

3. Sids:3x+y—-3z=1;-2x-y+2z=1;

—X—-y+z=2.
Ix+y-3z=1
—2x—y+2z=1
—Xx—y+tz=2
(1) Hmbd (2) 28 sal L,

Ix+y-3z=1

2x-y+2z=1()
xX—z =2
(1) omid (3)-28 Fal L,
Ix+y-3z=1

—Xx—-y+z=2(+H

- (1)
- (2)
—-(3)

- (4)
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5
2x—2z =3 —-(5) Sieu;

S)x1=2x—-2z =3 x+2y-z=6 (1)

(A2=2x—-2z = 4(-) Bx—2y+5z=-12 —-(2)

x—2z=3 ---(3)

0=-1 (H+@2)=> 2x+4z=-6 - (4)

@riE B 0 = —1 61681 Heummes (WPigemeuLl
QS CGmmd.

ereriGeu, Q55 Cgn@LiLneng)
Q(HEISHEDLOEUNDS).

Cuaid CETHiGsLILL L Fweum(h

QsrELINEGS Sie| eoene.

4. Spsergyib apain) wrflsefled SEMLHS
eESmL Crflwed FwaTur(HiS

Qzr@LLsmeTS SiTds.
X+y+z=5;2x—y+7=9;
x—2y+3z=16
siey:
x+ty+tz=5 - (1)
2x—-y+z=9 -—--(2)
x—=2y+3z=16 -—--(3)
(1)-3) = 3y-2z=-11 ---(4)
2)= 2x—-y+z=9
(H)x2= 2x+2y+2z =10 (-)
3y—z=-1 ---(5)
)+ 5)
3y—2z =-11
3y—z=-1(+)
-3z =<12
z=4
z=4 e16v1 (5) 60 Lr&luih_
By—=4 =-1
-3y =3
y=-1
y=-1,z=4 eev1 (1) 60 yludl_
x—1+4 =5
x+3 =5
x =2

Spsereyd  FweUTL(HS CsmELysefler
Srasaflear satenweanws srewrs.
x+2y—7=6;—-3x—2y+57=-12;
x—2z=3

(4)+(3)x2= 2x—4z = 6

0=0
CFMEGLIL QRHEIGENIOE] 2 DL G
cTewTERTSEnSHWMD & iTeySHenerL
CUIHM(BHSELD.

STSaT, Shewg LOHMIL - eurewfl g S
epaufler srrefl auwg) 53. srssraier anugled
ung), shenguiler auwgled eparfled ewm LES
wHmw  eurenflufler auwled Brerdled e
urE SFluaipdlar. Fahized 65. BreaiE
S HBEHEHG . e srssrailar  auwg)
auresfluilest auiensCLired mmesT (@) oL sTesfled
epaufler sHCUTMSW eSS STenTs.

giey:

aliteseTl, Shensg LHMILD STHSBMedlest
SHGLITEOSW euwiIg) X, V, Z 616315,

Qar(sasLuL L eneu:
Xt+y+z _ sy
3
= x+y+z =159 -—-(1)
1
—z+ 1 y+ 1 x =65
2 3 4
6z+4y+3x — 65
12
3x +4y+ 6z =780 ----(2)
(z—4) =4(x—-4)
z—4 =4x-16
4x—-z =16-4
= dx—z =12 - (3)
(1) & (2) Slmia

(1)x4 =>4x+4y +4z = 636
2)= 3x+4y+6z =780

(868) x—2z =—144 - (4)
(3) & (4) S

G)2=  8x—2z =24

4)= x—2z =144
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10 Spid QUL - Henfisd a7
L1
(5L55) Tx = 168 ----(5) f(x) = 6x* — 30x% + 60x — 48
168 = 60— 5%+ 10x — 8)
x = 2 =24
7 g(x) =3x°—12x>+21x— 18
(3) 60 x = 24 er6v7 OFIIN = 3(*— 42+ Tx— 6)
424)-z = 12 61601 @\(BLILIST6D, HHEILIM(LPSI BLD
96 -z =12 X —5x% + 10x — 8 wHpmid x* —4x> + 7x — 6
z =84 o168y LeoIMILILS Caremeuullest 1S.ClLim.6u
(1= 24+y+84 =159 sressrCLUIMLD.
14108 = 159 |
y = 159-108 B =52+ 10x—8 | X —4x2+ Tx— 6
= y =51 X =5x2+10x - 8 (-)
. eurestnullest HCLTEDGW euwrg) = 24 xX*—3x+2
eunessTuilesr iHengullest sHELITENSW WG 0
:S;ﬁum_ o o 2 3x+2 [ 52+ 10x 8
6_11;4 61 Fgsneales sHGCLTENSW euwig) P 3 ox
R ~2x*+ 8x - 8
7. X +x*—x+ 2 wopmd 2x° —5x7 + 5x — 3 gyl 2>+ 6x—4 (-)
ueOIMILILG Caremeusefler 15.QlLT.cu STewTs. ox—4
=2(x-2)
f(ox) = 2x°— 5x% + 5x — 3 wHmILD 4 1
glx) =x° +x? —x +2 X—2|x*—3x+2
2 X*-2x (5
XAt —x+2|2x* -5x*+5x -3 —x+2
20 +2x2—2x+4 (-) x+2 (O
—Ix*+Tx -7 0
=7 -x+1) BrE, 58 LEAWD oG
—T(x*—x+1)#0, —7 erevt1gy g(x) ~ullevr e(mh

U5 Sis0e0. BEIE semeowimus s (Lps&aeT 3 HMILD 6-6v1
gx) = x + x* — x +2 -z 1I8Hwined 6u@GHdHs
(orledls srresflenw ellRSs), B ClLimeug

15.0lum.eu 3 gu@Lb.
et6o1G6u, LS.GlLIm. 61
[(6x° — 30x2 + 60x — 48, 3x° — 122 + 21x — 18)]

x+2
X—x+1|X¥*+x—x+2 =3(x—2) _____________________________________________
Bax’+x (0 9. Spsergmid uONINILILS — Csreneusefler
2xr—2x+2 15.0ur.6u Srewrs.
202 —2x +2 (i) x*+3x*—x-3,x*+x*—5x+3 (as0.20)
0 (i) x* -1, x* —11x2 +x — 11
Bilemeoulled, LSS LLFSAWILD oy @Lb. (i) 3x* + 6x° — 12x* — 24x,
s160r@6u, 1S.GlLm.6u 4x* + 14x° + 8x? — 8x

8. 6x —30x* + 60x —48 wHmud 3x° — 12x* +
21x — 18 opéflw ueOWIMILILSG Carencuseflesr
15.0Lur.qu SrewwTs.

Siey:

(iv) 3x* + 3x2 + 3x + 3, 6x° +12x7 + 6x +12

dieu:

i. f(x)=x"+3x°+x -3 woOmIDS
gx)=x+x*—5x+3
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-
x+2 x—2
X+ Sx|x*+3x°+0—-x-3 X+H4x+4|x°+2x*—4x -8
T3 x4+ x> -5x% + 3x X4t +4x ()
2x% + 5x* —4x -3 —2x*—8x -8
208 + 202 — 10x +6 (=) -8 -8 (9
3x? +6x -9 0
=3(x2+2x—3) 2 (f(x), g(x))-15.6lum.eu = x(x* + 4x + 4)
x—1 iv) f(x)=3x+3x2+3x+3
X+2x =3[P +x>-5x+3 3P+ Hx+1)
X2 3x () g(x) = 6x* +12x7 + 6x + 12
—x?-2x+3 =6(x*+2x* +x+2)
¥ -2x+3 (0 (3,6)-6v1 5.Qum.eu =3
0 1
s (f(x), g(x)) -8.6lumeu = x> + 2x — 3 B+x2+x+ 1|3 +2x3%+x+2
""" i )= ¢-lopps it Vi A )
X2+ 0x+ 1
gx)=x-11x*+x-11
x+11 A
xX—[x*+ 0x* + 0x* + Ox —1 =+ 00 @ +x+1
It ¢ e+ 2 -1l () Xty ()
1Y+ 1lx— 1 e Oxt ]
HE—1212 +11x— 121(0) £+t
120x% + 120 0 ,
e L -0, 80 - B Qe =307+ D)
x—11 10. s@®&©s.
X2+ 0x+1 [ -1 +x—11 b’ +3b-28 . B*-49
X+ 0x?+x () b’ +4b+4  p’—5p-14
11+ Ox— 11
1122 — 011 () b*+3b-28 . b —49
0 b +4b+4 b —5b—14
- (f(x), g(x))-15.0umer = x> + 1 _ (b-4)(b+7) ) (b=7)(b+2) b4
fii. flr) = 3 +6x0 = 1202 — 24x (b+2)(b+2) (b+7)(b-7) b+2
= 3x(x*+2x* — 4x — 8) 11.A—2x+1, poud B = 25~ erasled,
g(x) =4x*+ 14x3 + 8x?— 8x 2x-1 2x+1
= (2 + T+ dx— 4) LA - B—
3x, 2x) -6v1 15.6lLm.eu x A8 A5
o 2x+3
1 2B
X +2%—4x 2+ Tx* +4x—4 1-B AL£_pB
-8 [2x* +4x> - 8x—16 (-) o 2B
3x2+12x + 12 _ﬂ—m
=3(*+4x+4) . A+B-2B (4-B)
~ (4+B)(4-B) (4+B)(4-B)
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I 1
 A+B 2x+1 2x-1

2x—-1 2x+1

1 o (2x+1)(2x-1)

C(2x+1) (201
(2x+1)(2x-1)
[2x] - 12
4" +1+4x+4x> +1-4x
_Axio1 _ 4l
- 8x” +2 - 2(4x2+1)

(2x+1) +(2x-1)°

13. &meHEH: ———
656 x2-5x+6

Siey:
1 n 1 B 1
¥ =5x+6 x*-3x+2 x*—8x+15
1 1
- o+
(x=2)(x-3)  (x-2)(x—1)

1
()3
. (x—l)(x—5)+((x—3)(x—5;—(x—1)(x—2)

- (x=1)(x=2)(x-3)(x=5)
_ (x2—6x+5)+(x2—8x+15)—(x2—3x+2)
(

14. Spsaen Carenasaflar airssepeold
STERTS.
6x* +x—1)(3x*+2x—-1) (2x* +3x+1)

girey:

\/(6x2 + x—l)(3x2 + 2x—1)(2x2 +3x+ 1)

= JBx-1)(2x+ 1)(@Bx—1)(x+1)(2x +1)(x+1)

=[Bx-1)2x+1)x+1)

15. @wresfler FnHCurengw auwiglesr
SmwwLrEGaT(H QRETEONE 8oL 1q.6UTIT6D
HewL_LILg), Gwreflar Qrent_rewi(HsEnsS
PhmzL el Sjeuflar 4 oyt (HsEhsE
Hisensw anwengwb CLmEss e LILgnEGs
gy erefled, gaufler sHCUTMSL aIwmSS
STEwTS.

Sirey:
Gwrefes SHCLTENSIW UG X Y ewT(D\SH6IT
6160185,
2 o emT(h&EHES) (W6 euwg = (x — 2)
26T (D\S6IT.
4 o emT(h&EHSHE Lbmsw aiug = (x +4)
24,6001 (D\S61T
QET(N&s SsauedLI,

x-2)(x+4)=1+2x

X +2x—-8=1+2x

X-9=0
(x-3)(x+3)=0
x==3

QUWIG) GHEWD 6TEVTTEUDINS Q)(HSHS (LPIqLLITF).
e1681Geu, G Loresiesr HGLITemSW euwig)
3 sy emr(hsei.

16. QaearensruileflmBS aflpansses3nHE
240 A FMSMSs SES QWM
uwenflzer CFTlTauenTind@ @M eafllomre
Qgr_ireuewmrgemweaill. 1 wewfl GCrywd
sa(goorss GCsmaiiudng. Lwenflsar
Qgzrireuewrguiler Ceusd, eflewre; Qg mir
acwrguiler Ceaussmzgall 20 &5/ wewfl
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Goone eresfled, Q@ CFTLTeuewrigsafler
grref] Causmsmens senrssl(Hs.

vwesflaer GlgmL_iteuewiqulles rnef GeusLd

x &5/ 6w 616018,

snHGungl, eleorey GG ieuewtiquilest symef
Geusd (x+20) &5/ eweN 616818,

240 8.8 sL_saL1 Lwewsilsen ClFTL_TeuesTig.
24
(D &@Ww Cryw = 240 Lo6wsTl
x
240 8.8 sL_&8 elenrey CGTL_iTeuesriq

240
s1(h&@EW Crrw = ——— wWewh
e Gpmd = =3
QarssLILL L &aeueds6ls L.,
240 240
— = +1
X x+20
240 240 _
X x+20

240[1— ! :|
x x+20

0 x+20—x 1
x(x+20) B

—

= 4800 = (x*+20x)
x*+20x-4800 = 0

= (x+80)(x—60) = 0

= x = 80 yevevg) 60

CeusLbd 6 &HEWD 6TEwTTETNS B)(HSHS (LPlgWITG).
eteuiCeu, LiwevtTlsen O\GL_iTeusstiiquilest srme

Geusid 60 &.15 /wevsil.

c1eoiGeu, ellemrey OClGm_ireuewriquilest srmef
Geusd 80 &.15 /woevvil.

. @@ Cumpgl 90 &5 Qgremevencus Ermer

Caizsdled sL&8Dg. T GCeauswd 15
#iS/wewfl gyfsfsasiL L red, Lwewr Crrd
30 Hfl_miser Gmneng ererfled, CumBSlesr
Cazgmss senrsdl(Hs.

gieu:

x 61651118 Ernent Geusld 6T6vT8.

90 &1.15 ClzTEnevEMEUS HL_58 Y EGLD HTEVLD

o %
x
Geusd 15 815/ wewl ySHaMeasiiuiL_med
(5816 Oametepw Crrw 7, = %0
x+15

. (¢ = ab)x’ =2(a*— bc)x + b* — ac = 0 erevim

19.

Tl_Tzzl
2
% %0 _1
X x+15 2
90(1— 1 j:l
x x+15 2

( —x)
90 x+15—x :l
Lx(x+15)) 2

90( b J -1
x"+15x 2

x*+ 15x =2700
x*+ 15x—2700 =0
(x+60)(x—45) =0
x =45, x =-60 (QUmBHSIS)
= Gupndler Frnes Ceusio= 45 &.15 /6wl

FOATLIML 1960 CPVEIHAT FOW WHMID Gloul
erefled;.a = 0 evevg a® + b* + ¢ = 3abc et
BlemLil.
giey:
(c*< ab)yx* —2(a*> —be)x + b*—ac=0
A=c*—ab, B=-2(a*—bc), C=b*—-ac
gLpeVEIG6T Gloul MDD FLOLD 6T6vTLIGTEd A = 0
B?>—44C = 0
[2(a® — bc))? —4[c* —ab] [b*—ac] = O
4(a* — be)? — 4(c? —ab) (b* —ac) = 0
A[a*+b*c* - 2a*bc] — 4[b*c*—ac*—ab*+a*bc] = 0
Ala*+ b*c?—2a’bc — b>c? + ac*+ ab® — a’bc] =0
a*+ab® + ac® —3a’bc = 0
ala*+ b+ c—3abc] = 0
a=0 (&) a+b*+c*3abc=0
= a’*+b*+c* = 3abc

x?—13x + k = 0 erevtTm FL06WTLIML 19 68T
eweorisafler aflsSwrew 17 sresfled, k-uflesr
IS Srewrs.
giyey:
xX>=13x+k=0, a=1,b=-13,c=k
o LOHMID B FLOESTLIML 19 68T PLPEVBISHET 6T68TS.
b =(=13)

atp=——= =13 -—---(1)
a 1

a—p=17 - (2)

(Qar@ssliuLLg)
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m
(1) + (2) snever, 20 = 30 SlewL_s@Ld. 23434210
etenGeu, o = 15 T 10
a =15 gg (1)-ulled Llylul_ _ —133
15+p=13 10
p=-2 2.3¢ + Tx — 2 = 0 a@ip sweLm e

opemed (2)-ebel of = - -
15 x (-2) = k er601Geu, k =30

20. x* + Tx

+ 10 = 0 ereord &FOGTLML Ig 60T
epevmEigeT awdmiLb P ereufled Llesreu(meuceum et
LIIIYSENETS STEwTS.

o-p i) a2 + p*  iii) o® - p?
iviat+p* wv) a+£ vi) 0; 'Bz
y

¥+ 7x+10=0@m@, a=1,b=7,c=10
0o LHMILD P FLOETLITL 1q 63T PLPEOEISHET 6T6vTI60,

b -
a 1
1
ap=<=1_1
a 1

i (0—B)=+(a+p) —4ap

— (-7 -4x10 = 9 =3

ii. a*+p>=(a+p)y-20p

= (=7 —2x 10 =29

=(a—PB)’ +3af(e.—P)
= (3) +3(10)3)=117

iv. o'+ Bt=(o2+ B2 = 2a’p?
((i)-eSmpat s 02 + B = 29)

__________ aonCo, IRSg X (10r=641
L @ f_arp _(a+f -2
p o af of
_49-20 _ 29
_________________________ 0 10
i, L _dtE
B a ofp
(a+ﬁ)3—3aﬁ(a+ )
af
_ (-343)-3(10x(-7))
10

epevEisear o O f erefled CerHEsLILLL
IILILSENETE SHTEwTs.

2
pe B o B
p o p «
siyey:
3+ 7x-2=0
@miE, a=3,b=7,c==2
0 LOHMID B FLOGITLITL Iq.63T PLPEVIEISET;
steoTG601,
b -7
+R=_2Z =~
i at+p » 3
c =2
ap = = —
b a 3
a B _a+p (o+ B) —20
B« aff of3
(—7)2_2(—2] 49 4 49+12
_ 3 3)_9 '3 9
= 2 T2
3 3 3
61 3 —61
_ot 5 _ %
9 =2 6
_________ > @ AL
i, LB _a+B
B« of
_ (e+p) —30B(a+ )
of
3
5)-G)5)
_ 3 3 3
=2
3
343 42 —343-126
_ 27 9 _ 27
=2 =2
3 3
217 3
= — X —
27 2
:—@
18
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22. 2x* —x — 1 = 0 eTe¥TD FLORTLIML I 68T CLPEOMEISGET
a wppw P eaefled, SCp GCsrssuLL

cpeomIGmeT L QHLIGEF FOATLITL L5

iii. 20+ B, 2p + o
eLpeVEISETe dn(hiFed = 200+ 3 + 2B + o
=3(a+P)

STERTS. B 3(1) 3
(i)l,% (ii) o* B, B (iii) 20.+ B, 2B + @ T\ 2
o
PLPEVMEISEMETT GILI(THE &M LIEV6TT

2 —x-1=0@m@, a=2,b=—1,c=-1

= (2o+B)x(2B+a) =4op + 20>+ 2%+ aff
=5af + 2(o* %) = Saf + 2[(o+B)’— 20f]

b —(-1) _1
atp=——= - —5(_1 +2[l_2 _li|
CRER -3)+23
af=— =-—
a 2 L =_§ + {lﬂ}
i. Qar@&siUL L epeomiIsaT —, E 2 4
ot
5 1 ¢
PLPEVMEISEMETT T (D160 =l+l:a+ﬂ __5+5+2__2+2 0
a B o , ,
Cxemeuwnen gwesin(p), x> —
1 (epevmissiilett ga(H)GH60)x +
- % =-1 (epevmisaflest LS sHLIeVesT) = 0
2 X0 % x+0=0
eLpeVRIGENETT GILI(HEESMHLIEV6HT M @ I
= 1 X l = L = L =_0 | L g T T T T e
a B af 1 23,02+ 6x —4 = 0 -ullesr eweomimer 0, B ereufled,
2 SPEBEWTL_UDEND  CPOEISHMTSES OClSTerTL

Caemeuwimen Fesiin(p x> —
(epevmIsaTesr Fn(h&ev)x + (epevmisemest
CumSSEMHLIeVsET) = 0

BMmUIKEF F0STUTL HL& STEwTS.

() o widguis B (i) 2 wpgud =
a

B

X—(-1)x—2=0 (iii) o’ wHmIb B

= x*+x-2=0

""" i e ppae L T o wpps B

epevmIsees gn(Bige0 = o} + fa x*+6x—-4=0
= af(atp) a=1,b=6,c=—4
_ _l[l) vl atB=—0=_6 op="2=_4

282 4 1 1
pLeVmIGEMesT GILI(H &S MHLIEV6TT PLOEVMEIS 66T &n (D560
o +p* = (0tP)P-2aP

= (o?B) x (B*e) = (ap)’ = (-6)2—2(-4)
_ ( 1j3_ 1 - 36+8
V2 - 44

Caemeuwnen gwesiun(p), x* —
(epevmIsaTesT Fn(h&ev)x + (ppevmisemest
CumHSSEMLIeVEET) = 0

x*— (—ljx— 1 0
4 8

= 8?+2x—-1=0

PLPEVMEIGEMETT GILI(THSSMLIE6TT

@ = (0B = (4= 16

x? —(epevmiseilest ga(HG60)x +
(epevmiseiilest QL(mEsMHLIeVEET) = 0
X2 —44x+16=0
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i, 2 whgus 2
. = wbpib

PLPEVMEISEMETT T (DI FH60
_2,2 _2a+2p
a B ap
_ 2(a+ p) _2(=6) _ -12
ofp —4 —4

PLPEVMEIGEMETT GLI(THEEM LIEV6TT
2 2 4 4

=~ X Z =—"=_"_ =_1

a B
x* —(epeomigeest gn(hge0)x +
(epevmiseilest QLm&sMHLIeVETT) = 0
SxP=3x-1=0

i. o’f womib fra
epevmIGaTe dn(Hge0 = o} + o
= af (o + B) = (-4) (-6) =24

PLPEVMEIGEMETT GLI(THE &M LIEV6HT

= (o) (B0) = 0'B’ = (o)’ = (-4)’ = 64

x* —(epeomigeest Gn(hge0)x +
(epevmiseiilest QLmEsMHLIeVETT) = 0

x?=24x-64=0
24. 0, P eretuewr Tx* + ax + 2 = 0 -uller
e -13 . .
epeoEigser wHmd f-o = ——. erefled, a-uflesr
wliLs srewis. 7
Tx*+ax+2=0
= atp=— — (1)
2 -13
af==;p-0=—=
p . p
13
= 0= — (@

(a—B)* =(oF By —4ap

BRGRE

2

169 a 8
49 49 7
169 _ a*-56
49 49
a’—56 =169
a’> =225
= a==+15

25.

. CQuuitluenTaener epemEIsTTSES GlsmesmT

2y> — ay + 64 = 0 eTeiT) FLATUTL 96T (h
epeold HMewey Gurer BpoLEiE eresfled
a-uilest LIS STewTE.
giey:

2y —ay+64=0
@mi@, a=2,b=-a,c=64

at+p= 4
2

- (1)

o= — =32
b 2

60160, o = 23

(2)= af =32 = 2p> = 32
=>p=160= p=+4
B=4g(2)ed ySludlie
= 4o = 32 et6tlev, 0 =8
B=-4g(2)e6d KlyHlul_
= —40 = 32 e16tled 0. = —8
()= 4+8=% :>12=%

()

soa 7 24wpmi a =24

3x + kx + 81 = 0 etevtp FOATUML 19607 ELPEVLD
LHEDI, eyevgSler airssw eresfled, & -ufles
IS STewTs.

giey:
a, B etevtient 3x% + kx + 81 = 0 6vr
PLPEVBIGHETT(G)LD.
@m@ga=3,b=k c=281
k
+B=—= ----(1
o+ 3 (1)
afp=27 —(2)
o = B? eren1& Can(ssLiLL(heTeng
(2) Owbg
=27 = PB=3
La=9 i i
MH=9+3=-= = 12=-—
3 3
k = -36
(4 3 1) (2 3 4)
A=[2 3 —8J,B=L1 9 2J
1 0 4 -7 1 -
(8 3 4)
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A+ (B+C)=(A+B)+C seraruensé sflunirss.

Siiey:

4 3 1
A+(B+C)=[2 3 -8
1 0 —4
2 3 4) (8 3 4
+l1 9 20+1 =2 3
-7 1 -1) (2 4 -1
4 3 1 10
=2 3 8|+ 2
1 0 —4 -5 5 =2
14 9 9
=14 10 -3 - (1)
-4 5 -6
4 3 1 2 3 4
(A+B)+C=||2 3 8|+ 1 9 2
1 0 -4) -7 1 <1
8 3 4
1 =2 3
2 4 -1
(14 9 9)
- (2)

=L4 10 —3J
4 5 -

(1) wHmbd (2) edlmibg LHS = RHS

J I.D'I'DQ]I.D

30
X-Y= [0 4} eresfled, X wmmid ¥

I gjewflseners srents.

(7 0
X+Y= b 5 — (1)
30
X-Y= (o 4) - (2)
() +Q2)=2X= {130 gj
5 0
X=13 9
2 2

2 0
A
2 2

| W W
Nl o
|

29. x +yL32] L6 eresfled,

X LOHDID y-6T WIS SHeTs SHrewTs.

giey:

(&) (3)- (6
- (-

4x -2y =4
= 2x—y=2 -—-(1)
—3x+3y=6
= X +y=2 - (2)
(1) +(2) =4,
Q)=>4+ty=2
y=06
(2x 2) (8 5x)  (x*+8 24)
Xy T a0 6

aain jewflé Fwarumiged x-ar LhFfluwnn
wliemwLs STemnTs.

2x 2 248 24
. X Iy 8 Sx _, x
3 x 4 4x 10 6x
2x2 2x n 16 10x
= 3x _x2 & 8x
_ 2x*+16 48
20 12x
12x )
x? +8x

) (2x2+16 48)
20 12x
L12x=48=>x=4

3x+8=20=23x=12=>x=4
x>+ 8x = 12x

= xX—4x =0

(2x*+16
=
3x+8

= x(x4) =0,
x =0,x=4
Lx=4

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

10 Syib QIGLIL - Sewfigid

3]
31. x, y-m5 Siss. { 3 + 2( 2:} [Sj
(Sien: )
X 5
(y ] [ ] 8)
(x> +(-4x)) _ (5
Ly +(-2) (8)
= x*—4x-5=0 - (1)
y'=2y-8=0 - (2)
(D=>@E-5x+1)=0 (. smesliL®S560)
x=5x=-1
(2) >0-4)@+2)=0 (smeliubBsse)
ny=4,y=-2

(1 -1) |
32.A=(1—12),B=L2 1J wHmib C = (2 ]
1

-1
3
eresfled (4B)C = A(BC) erens &1L (.
-
AB =(1-12)|2 1
1 3

=(1-2+2 —1-1+6)=(1 4

1 2
(AB)C =(1 4) (2 5

=(1+8 2-4)=(9 £2)

-1 3
ABO)=(1 -12)| 4 3
7 -1
—(-14+14 3-3-2)=(9 -2
~.LHS = RHS

kokskoskosk
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3]
B e

2 1DSHILIEHIBHET

saifler Suquilelimhg 4 Sy CFTanevaled
e eter  gewflunergl. &efler 2 &fleow 7
3y 2wrsHled GCFT(HGwesfled CxHenauwimesr
genfluiler Bersengs srents. afllnLeow 6
5510 L5 BSSOS 5B 4
erevtuflest Senmd AB = x 616578
BC=4 99, AC=T7 .
Hgrered Copmsdleiig,

AB? = AC*+ BC*

X2 =T+ 4 - mhsl

¥’ =49 +16

=65 ereiGeu, x= 65 =8.1
J65 Speugl 8 wmmitd 8.1-&@ QewL_ulled
emwEng.

e1eu1Geu, erewnullest e GCamymuwons 8.1 g

é‘b@jm.

7 219

o, weaflgar 18 15 Hpsls Ceerm et
24 S aLsCs Oseddlprer. OFTL55
BleneoulledpBS Siauit Bm&EGLWD CFTanecoameais:
STEwTE, C
Sirey:

€q
<
a

A 188 B

ClemCanevt (p&Ganewnd ABC ulled
AC*=A4B* + BC*
AC = (18) + (247
=324 +576
AC* =900
AC =900 = AC =308
- QFTL_58 Hlemeoulled QHHEI SieuT SL_bS
gy =30 8

gmyrailer afliqeflmhg Cxwaller ailignEs
Qzeder QPrewmi(h euflser 2 eaTerer. e el
'C' etesip Qs euflursd  CFdaSTSLD.
wHenr® aufl B wHmis 4 gflw Csmaser
aflursé Geeaugr@w. Crrg ureng C
afl CFeod Gurg CZremeve; eralaleTeay
GODWYD? (U-SmsL1 LwaTLHSSIS)

1.5 emwedser

2 emipedSET
Qg C sauflwns Qe bGLITE),
Wsnasren CammLiLig

8I = (1.5 +(2)

= J2.25+4 =./6.25

= 2.5 emLD60S6T

B wpmib 4 euflF Glgede)i5ed
SP+PJ=1.5+2 =3.5 enwedse6
Crrquwrs Ceesim Cg i eufllCw QFsstmmed
1 e»ib6d GHeHmuLd.

A ereurp Yereflufled @wig B ereitm Lerafls@é
OedauznN®E@ M Gorw eflurs, BbLbS
Qlzeden Cauemt(Hid. Gomd aufiCw Clgsdeuengs
gailtés 34 15 QzHCawyw, 41 15 Hss
Crrsdlub pL&8 Cauewt(Hid. GseTd auflurss
QeedausnN@L LTMmT IJMDLSSH LILTDS
afiCu QFatmred sTalauara] ISL L it QgTeneva]
Caflsau(pwn?

\¢
@6‘

418 =

4 348 C
Crriquwins @snbd euflCw 1606|560
AB* = AC*+ BC?

= (34) + (41

= 1156 + 1681 = 2837
AB>=2837 = AB = \[2837 =53.26 18
Sps @ Clgnans Claeoa) 560
AB =AC+ BC

=34+41=758

Crrquns @emb euflCuw ClFetmmed
75 —53.26 =21.74 15 gy @enmULd.
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124 |
5. 30Q&.5 gyrpeier auL LSSl enwowgSeSlmibS Siey:

5 Q8.5 Qzremevalled 2 ster LeraflullellmBs
aL L $8DE eaeruiulL QsrHCasrL g 6T
BerLd SreswTs.
QarssLiuL L g
OP =5 Q&.15,
S 7 =3 Q&1
Qg Can g6 HerLd
PT & snevot
QemCaewst (&Ganewrd OTP -ulled

OP? = OT* + PT* (Wgn&ren Canms e )

52=3%+ PT?

= PI*=25-9=16
Qe Gan g6 ard PT =4 Qlg.5

uLgdled 0 et e Lgglar emwowid.

PO spengl @@ Brewt gEb. AsTHCHTE

PR syeorg mrewt PQ-eei P-ulled 50°

Caremrseng erpLHSSerred, L/ POQ srewts.
P R

A
ZOPQ =90°—-50° =40°
(QzTOCaM 1 NED, SpTSSHDEGD
BenL_Cuwwyerer Casmesord 90°)
OP = 00 (euL_L_gJ\ev1 94 TEIS6NT FLOLD)
ZOPQ = ZOQP = 40°
(AOPQ syev181 D mHEwLSES (psCaHTewid)

AN =AM =3 Q&.§

(Cr Qeusfliym Leefulled)mba
euenTwiLL L QgrTHGasM(H&e FoLb)
BN=BL =4 Q&.8

CL = CM=A4AC—-AM
= 9-3=60&.15
BC = BL+CL
= 4+6
= 10 Q&.8

Brewi® Curgl emwow e L Esefler sy rEISaT
4 QeiS, 5 Q&S SYyBW. @M L FIler
Brewieng  wHEpr® . L SHDGS
QsTHCaTLIs MLHSTO Ijaiai L SHler
Brewsfleur HerLd STewTs.

e}

04 =4.6ls..5 OB =5 Q&.5
Guevib OA4 L BC

OB’ = 04>+ AB?
= 52 = 42+ AB?
= AB? = 25-16=9
et6o1Geu, AB =3 Q&.5, BC=2AB
e1651Geu, BC =2 x 3 =6 Gl&.15

aLL dlar  ewwiHmugs 25 Q.S
Qzemevaliled 2 ater P eteerm LereflulleflmBs
aL L $8nE eaeruiulL. QsrMCarL T
pembd 24 Qa.S erefled, euL Sl oy TId

ZPOQ = 180° — LZOPQ— ZOQP -
ZPOQ = 180° <40°— 40° = 100°

7. uLgdled AABC spengl @M el LFmss
QsT_(p&Csreni() e L SmzE  &pof
SimwhgleTeng erefled, BC-uller Bergengs
STCwTS:.

UL §HeSmibg OP =25 Q&8
AP =24 Qg..8
r = \JOP*> — AP’
= 625 576
_ /B
r=70&.8
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10. O-em6u emOWIOTS 2 _6HL_W a.u;l_g',glg')@

. Qsr@Car(y ST e Lgdlemer B e

P-uledmig  euespuiulL.  QsrHCsT®H
PQ. QOR syeng) il Lib oy, euL L Sed
ZPOR =120° eresfled, L OPQ -228 srewts.

0
L SSedlmHS)
Z ROQ =180°, ZROP = 120°,
- Z POQ = 60°

(- ZROO = ZROP + /POQ)
/POQ + ZOOP + ZOPO = 180°
(A Slevr LiessTL l6vTLILG.)

60° +90° + ZQPO = 180°
(ZOQP=90° A dlevt LiewtTLN6tTLILG.)
150° + ZQPO = 180°

ZQPO = 30°

s1e01Geu LOPQ = 30°

yeteflulled Qsr&mg. <ABT = 65°. AB
TRTUZ @M Brewr eresfled, LAOB-g snewis,
BIed “O0” is et QL FHeT ewowid

SHS1D.

LSSl mbba)
ZOBT=90°
(. OB o> o4&, BT 0gnhGan(n)
.. Z OBA =90°-65° =25°
wonib LOAB = 25°
(04 = OB, s1efled ZOBA = / OAB)
:. ZAOB = 180° — (LOAB + ZOBA)
=180° - 50°
ZAOB = 130°

12.

. L5 Fled 2 etereunm) @ (PHECHETERT algeud

Brewi() Clurg evww e LEseafled, 16 Q&5
serenw Quflu el GHar mBrewTroN)
6 Qsil5 Spywerer fAflw e LSSDGS
QsrHCar_ns SIMDHSTEV, Quiflw
QL L SFlaT QLTLD STewTs.

DY

ANS T S7B
AB =16 Qg.18 wpmid OC = 6 Gl&.18
peommed OC L AB wpmibd C gyeug) AB-,
2 swunsrisemsl LsSHemg).
(- eulLSgisaner CanmLilig )
wonid AC = CB =8 0l&..5
OB & newst Geuewt(HLd.
Ysnaren CammLiLig,
0B = Joc*+.BC?

OB =10 Q&.5

& 600TGUUTITLG. ZOGUTUTENEV (LP(LPEWIDWITS: 2_(IHEUMTES
o Afu sovavTaSIieT(h QM SHed
BlyewT @S CoemailiL(pid HDH SewTeRTm.

Flewt(Hserflest eTEISeneTL Qurmss|
IU(HESHS Czenauwimer &EWTEWTITIG.S
FIMTIq. T BOTSHNSH HeNTHEIL_aLb.

s
L gdedmbsl y /&

AE =3 Q&.8, BF = x,
BD =3 Q&.8, EC =4 Q&.15,
FA=5 0.8, CD=10 Q&.5
Feurerd CammLiLIg,
BEF CD  AE
FA DB EC
10
X — X
3

Il
—_

X
= pas
5

= MW

x =2 0g.8
831Geu Caemeuwimensn@Lb.
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14. feurero Cxmmid: A uL§Sledlmbs)
AB =12 Q&.8, BC =8 Q&.18, AC =10 Q&.15
E Y Gleuafuiled 2_aier LsireMuled BB
auenTwiiL(Ob CgTHCasT(H
B D C AD=AF=x,DB=BE=y, EC=CF =z
SaHm: L& Sed\(hiba)
ABC e1651L18) (1 (P&HCHTETILD 6T6vT55. x+y = AB = 12 (1)
usamiset BC, CA wpmib AB uiled 2_efer 4z = BC = 8 —-(2)
yerefaeT (pewmCw D, £ wnmid F eTetis. sty = C4 = 10 —-(3)

p&Catems et Lssmsen Cr SengenuiL

1)+ (2)+ (3
Qunmssl, AD, BE, CF eteip Selwissiaai M+@+G)

AB+BC+ AC =30

%;_%mfgbfzi ol = x+ytytztztx =30
DC EA FB = 20x+y+2z)=30
aeunm alfgsdlemenud FeneodHwins xtytz=is —-(4)
wrpfemed  Cumhemdwg o ewtenwCu. AB =AD+BD =12
e10leresiled 1-uflest SemevdLhl Retim) Sy @L. = xty+tz=15

15. Quesfleorery CxHmLd Q Yz =15
(MENELAUS Theorem z=3
(Without Proof)) d = x+ty+z=15
Samhm|: R x+8 =15
168D (LpSCHMeTETSSl6vT x=7
Lésmiset BC, CA, AB i p ¢ = xtytz=15
(21606081 teumdidlesr 5L-51) 05 v - 15
~ulled 2_efrem LysireRlaseit pemmGui P, O, R Y
pSlwes e Cam_emiohg LsTeflsenns y =3
Semwwg Coemeuwmes wHmD Guimg)wmest AD =7 @Q&.8, BE =5 Q&.5, CF = 3 Glg.15
Bupgemen 2. @m allas@ swusdler 2 wrb 6 1. Fer
BP CO AR . L
— X —= X — =], Siquilefimig 8 15 Cgrenevailed 2 arer @
PC 04 RB wad, swusems Curesl em @GMiuil
Bsé GSSISSled 2 eften Qzremevey BmaTHIDG. swUSSleT 2 Fdl&EGL0
(35-5".';@\591“&@.56‘“ SAWESSID> Sevs soourps wsdl Bosew PLSIDEw
FMTHSEDEUWTSLO. BeoLuulL. Cgremeve), LhFH swbuFmS

Corsdl BaTHg Cgrameailn@s Fwd eresfled,
i susdlear siquilelimbs Lbéd sHOUTRSI

1. u;g’,ﬁs\')lg 5rr|;1q.u.|6frmu1q6.], 5 8 Q&b sTelauaTey Qgrencvalled 2_cirers)?

10 Q&5 wOomw 12 OGls. LIS & EIS6T —

eoLw WiCsreasdlager @M eI LLd

Siemwhglererg eresfled, AD, BE wpmiw CF

@& STCWIs.

5 P IALIDIBEIT

A

allené@ SLUSHET Il &H@LW, LLFSSEGLD
Qoo Ll L Qgrenevey BD = 8 15,
allené@s awugdles 2wy AB = 6 15
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x 15 Qgremevey BaTHG L6, LLFSH Q(Hs@L
@1b C 61618,
AC = CD = x et6u18,.
Gueoith, BC=BD — CD =8 —x
AABC -uled, £B =90°
AC* = AB* + BC*-\edmia!

x? = 6>+ (8—x)

x? 36 + 64— 16x +x*

l6x = 100,x=6.25

eteviled, BC=8 —x=8 - 6.25=1.7515
e1651Geu, LpFSlwinengy ellend @ sbLIS 6w
SqulleSlpibgl 1.75 1S Clgnemevailed 2 _siteng).

518 bem(perter epit erewflunmerg e Cl&EiG5I
sair 155 EsmigEs  emeussLILHEIDSI.
genfluflesr Guoed Wener saienr 4 15 2 wIrSHed
QzTdmgl. gemfluiler Spener seueny
Crursdl 1.6 15 BaTSSILMHWOUTS), erevwfluiler
Gueopemer &eaufled eTalauema) GFTenevay
CuedCrrad mamLDd cTeors sewr(HiLily.

E

II |_
1.6 D

erewsilullest ey AC =5 15,
geuflest 2_wipd, BC =4 15,
AD = 1.6 Q&..8, EC = x eT6v15.
LSSl mbba)
(i) Ysrared CanmLiig,
AB =+ AC* —BC* = +25-16
AB=3
LLSSleSmhel
(i) > AB=AD + BD
3=16+BD=BD=14
ADBE-6d Yignaren CemmLiLig
(BEY = (DEY - (BDY
(4 +x)? =52-(1.4)?
(4 +x)* = 25.00 — 1.96 = 23.04
4+x = /2304 =438
A x = 0.8
e16w3l GLoed Crréd) mamLd Clgmenevey 0.8 LS

4.

uL5gled, QemiICarent (W&Camewrd ABC
-ufled Gamewrd B gy ez ClFEGsrewrid
womb D, E eretm Yeteflemer usasw BC g
epeirm| swL@GSlserrs LflsSing eresfled,
8AE* =3A4C* + 5AD" ereur Bimieys.

4

B D E C
D, E syeu1g) BC -g5 (p&&108 daf(DEME)I.
BD =DE=EC=k, BC=3k BE =2k.
AABC -ed Yignared CommLiLig,
= AC? = AB* + BC?
= AC? = AB* + (3k)?
AB*=AC* -9k
AABE «60 tgnsirerd CammLiLilg.,
= AE*= AB* + BE?
— AE? = AB> + (2k)
AB? = AE* — 4k*
AABD -ed Ygnsren CammLiLig.,
AD? = AB* + BD?
= AB>=AD* - I?
(1, @)=
AC* — AE2 =512 (- (1) = (2))
(), (3) = AE> — AD* =32
4)x3—(5)x5
= 34C? - 34E* = 15K
5AE* - 54D* = 15k

(1)

~-(2)

~-(3)

—--(4)
~-~(5)

34C*—8AE* +54D* = 0
. 84F* = 34C* + 54D’ etew HemLA&SLILIL L8
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5. 5 Qs.5 gyrpeter L SZled PO ey | 6. @m wwECsrawsdler Camewr Fmsw

8 Qa.5 Ber(perer Brewr Sy@GWb. P wHMID
O-aflar aufiCu Gleedgd QsrHICsTHSeT T
arerp Letafluiled sngsdng sresfled, TP erestm
QzTHCHTL1q.607 SeTLD STEwTS.

TR =y e1ev18.

OT syemg) PO -ullevt Qlemi@s5s B)\(meaw
OeaiLlg oy @L.
PR=0R=4Q&.8
AORP -uiled
OP*> = OR?+ PR?
OR* = 57-4*=25-16=9

= OR = 3 Q.8
OT = OR+RT
= 34y (1)
APRT-u9e0,
TP = TR+ PR ===(2)

wonId AOPT -eS(mhE!

OT* = TP?>+ OP?

OT* = (TR*+ PR +OP?
(2)-e9mpal TP’ -g3 Lirguil)
(D-eSwibal OT -gg Vrgluil)

9+6y+y* =y>+16+25
6y =41-9, steuieu, y = %
(2)-eSmmag TP* = TR* + PR*

2
TP2=[E] pgre 26,4200
3 9 9

20
ste01@eu, 7P = 3 Q&.18

Qe g6 e Lerafluller auflurss Clesdeyid
cTerTs ST (hs.

giey: ¢

A D B

A ABC-60'0' e1Ggemid 62 Lyeitei 616578
B mawbleuiqaet CD, AE wpmib BF elevtLiew
wpewnCw AB, BC, CA g flus Lu&smisenen
D, E, F yenefissied endléSng) cevis.
AAOB -6d, OD eteviuigy £AOB -ev1
BmFwolaIL g S @GLD.
04 4D
0B DB
(B® swllai iy CoppLiig) —=~(1)
ABOC-6d, OF e1eviigy) ZBOC -6t
BmFnlaiL g S @LWb.

OB  BE
Y= (2)
ACOA-60 OF etev1Ligy]
ZCOA -ev1 @mEOaIL g Sy @LD.
_CF _CF
" FA FA
(D *x@2)x3)=
% X % X C_F = Q X E X C—F
OB OC F4 DB EC FA

AD  BE CF _,

- 7 x — x

DB EC FA
opeuned AE, BF wmhmibd CD etestues of LA, LB
woHnibd ZC @ Fwblal g semm@Ld.
AB _BE BC CF CA _ AD
AC EC’ 4B FA’ CB DB
CumaewiL 3 gweiLir(hseed®Hhg
BE CF _ AD
EC  FA DB
AB _ BC _ 4

x 2= x =2 =1 ((4) e
“c a8 “cB (4) wba1)

p&Canewig et Canewst Q(mHELoleUL g S6T
@ Yeief eufluinss Glgedenitd.

~-(3)

* %k Kk
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-\

8L IU5 05 TMEVEY 6ugediLIey

2 1DSHILIEHIBHET

1. Qsr@ssuuLL yeraflsener Senevrs@Ld
Crir&Cariar srimeals STewrs.
() (=6, 1) wpmd (=3, 2)

(ii) (14, 10) wHmd (14, —6)
girey:
i. (=6, 1) womid (-3, 2)
gmie m = poon o271 2-d
X, — X, —3—(—6) -3+6
S Emiey, m = %
ii. (14, 10) wHmwb (14, —6)
smiiey, m = H=n _ —6-10 _ -16
X, — X, 14-14 0

S EmeYy, m = _T6 UEDTWMISHS (LPIGUITS)
2. QeréstulL  Ustefsemer  Bevemieis
CrirCariyer sruieneusd Sremrs.
(i) (5, 5 ) wpmib gyBisiaf
(i) (sin 0, —c0s0) wHMH (—sin0, cosO)
Siey:
i) (5, J35) wHmid (0,0) etesTLew STl L

Leitefaer
gne]= m
:.%_Y1:0_J§
X, — X, 0-5
_ 5
N3

i1) (sinO, —cos0) wHmd (—sinbd, cos) etevTLIEwT
STUUL L LjeTemaer

gnlie| = m
_ NN
X, =X
_ cosH—(—cosH)
—sin@—sin @
= 2C986 =_—cot0
-2sin@

3. (2,2), (5, 8) erevrp yereflsar auiflé Cleeoedid
Crir&Car(m r womb (-8, 7), (-2, 0) gydw
yereflser auflé Cleeogpd Crir&ECHT® s oy@Ww
aefled, Crr&ECan(y r ey CrisCGar®H
5-8@ CFmIGSSTS J|eMOWLOT?

giey: s 2 6
CrirsGan(® r-ues snliey, m; = — = —
5+2 7
0-7 -7
G o G _uj] . . , - —
Bir&EGaET(H s-ullest smuliey, 7y S8 6
. . e ("l
gnuieseflesr OlLI(H&Hs6e0 = % ’ =-1

SIBTeug| m; m, =<1
s1e51Geu, CriTaCan( 7 yengl, CrirsGan(
5-8@ OCFEIGSHTS SEDLOULD.

4. (3,-2),(12, 4) eresrp Yeeflaer auifls Cleeoa)id
CriraCar® p womiw (6, —2) womw (12, 2)
areurp Leraflaer aufle Qeedad CrrsCam® g
SLGID. P YT -5 BOERTWTGLON?

(ow 22 |(&5.22)
p -Wlevt gmuiey m, = 4r2 _6_2
12-3 9 3
. . 2+2 4 2
q—uﬁlm&nwmmZZEZEZE

BHemHg CrieEGan® p -uileT smniey =
CritsGan® ¢ -ullesr #muiey.
s1651Geu, Crir&EGan(n p -wnesg CritsGCan
q -5& Gevert oy@b.

5. (-2,5), (6, -1) womud (2, 2) flw Yereflser
o Car_enwhbs Yeataflser erard sm(H.

giey:

X -4

\

Yy’
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E
. ~1-5 -6 -3 diey:
AB -Wllevt &muiey = 512 “3% 7 &mﬂ&l:u:’j—_a:3—a
o 241 3 3 x,—x, ~ 9+2 11
BC -Wlest gmiey = —— = — = — L . 1
2-6 -4 4 Qar&sIuL L Fruie] = — 5
AB-wWlest emiiey = BC-ullest gmuliey 3—a 1
eteviGeu, A, B, C e1681m Leitefaseai eCir 11 2
CritGaL 1q 651 Gloed jemLomH G 6ierent. 6-2a =—11
25Geu, 4, B, C eissiuient e CanLenobg 2a =17
it Y
(=3, -4) , (7, 2) wimd (12, 5) ereirp ysradsar “T 5

o Car_enwbsme s ST (Hs.

Biiey: o 2 (-4)
AB-Wlest miey =
7-(-3)
6 3
=62 (1
10 5 M
BC-uledt smiten = % - % —(2)
s
AC-Wevt gmuiey = 12-(3)
9 3
=2=2 (3
15 5 )

(1),(2),(3)=4, B, CeteviLient (1 GCaHm_emLoevéwr
SO,

G, -1), (a, 3) wHmb (1, -3) eyl epeimy
yereflzmer @ Cam_emwbgemeu erasfled a-uflest
I SHTewwTs.

A (3, -1), B (a, 3) womib. C (1, -3) gy &w
eI Li6iTeNaer (i Cam_enibseme.

- AB-ullesr gnuiey = BC-ullesr snuiey

3—(= 3_
N (=1), = -3-3
a-3 l1-a
4 _ -6
: =
a-3 l-a
= 4—4a = —6a+ 18
= 2a = 14
= a =717

(-2, a) wvomd (9, 3) aaip yereafl eufls
Qeeog)d CrirGaTLIq.60r Fmuleay _1 qefled a-air
Iy wrg? 2

. (=2, 2), (5, 8) erevrp Yereaflsar aufle CFeoepiLd

(-2, 6) wHmd (4, 8) ererm yereflaer aufls
Qeeod Crir&ECarnrerg. (8, 12) wHmd
(x, 24) eterm yereflaer euflés QaedLD
CrirsCariyn@s Oemigss erefled, x-ufler
L SrevTs.

Sirey:

(-2, 6) wHmID (4, 8) p&lw Letefsefes sy

86 2 1

(8, 12) wmmbd (x, 24) sy&lw Lsisflsaest
gmiie|
S24-12 12
x-38 x-38
@rewi(h CrisCar(haen GlFmIEs5s)
6TEUTLIS 6D
my X m, =—1

my

Crir&Gar(y r wHmwb (-8, 7), (-2, 0) op&lw
yereflser auflé Geedin CrisCar® s o @w
aresfled, CriraCan@® r gyerg CriaCar® s-5@
QerIGSSTS eMOWLOT?

giray:

. L 8—2 6
CrireCan( r -wles smiey, m = 372 7
@ . '@ lﬁ] . . — 0_ — _7

BiT&Gar(H s-ullest smiey, m, = 53 6

. . .6

gmieysenlest ClLmSHe = — X r3 =-1

Signeug m m, = -1
steniGeu, CrT&ECHETD 1 yevg), CriteEGar(
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$-5(& OFRIGSI1S JieMOULD.

11. 3, -2), (12, 4) erewtp Yereflsar euyfls QFeded
CriraCGar® p womw (6, —2) womw (12, 2)
ererm Ueteflaer auflés Qeeoed CrirsCsr q
SLGID. P HOTHI (-5 PORTWMTGLON?

g""u;m oy _4t2 62
- gl =——==—==
P M3 T 9 3
s 242 42
q -l smiey m, = o0 = = 3

B Hedmibg CrirsCan p -ulles gnuie] =
CriraCan@® q -ulles #nuiey.

ereu1Geu, Crir&Can(n p -wresg

CrisaCan® ( -&@ Qenewt oy @Lb.

12. Jesraumid efleursisenery) LwerLhS)
CrirsCam i swearumr() Srewrs.
() smiey S wHmd y QeuHGgiewT(H ¢ = -9
(ii) Fmiey Gamrewrd 45° wHmLD
y Qai_(gsiemr(m 11
i. @miE emnieym=>5,
vy Qeu_(p&giewi(d ¢ =—9
CrirgGa g6 #wesiLin( y = mx + ¢
y =5%-9
0=5%-y-9
.. Gaemeuwnest FwestLm(® Sx <y —9 =0
ii. #niey&Canewrd 0 = 45°,
gnwiey m = tan 0
m = tan 45°
gmieym = 1
¥ Qeul_(saiemi( C = 11
CrirgCan iqesr #weiLin@ y = mx + C
y=1Ix+11
0=x—y+11

. Gaemeuwnest FwestLm @ x —y + 11 =0

13. 8x —7y + 6 = 0 erevrp CaHEMLIg607 FMUlQ] WHMILD
y Qe (hSgiemT(H pSlwainenn sewrsdl(His.

&qx—-Ty+6 =0
8&x+6 =7y
7 24,60 61(&&S
8 6 7
_x+_ =
R

8 6
7 7 4
y = mx+ C et Uil
gmwe|m = 8
7

y Qeu_(psgiewwip C

14. (3, —4) sresp yeirefluflesr euifl OFeoeugs, —

-gn smleuns 2 enLwgorer CrirsGsmig.eur
EOGETLNL_L_& ST60TS.
(x]syl) = (33 _4)

gne|, m = — 5

CritsCan g 651 #oevTUn(h)
Y=y =X =Xx)
o) =2 oY)

Ty +4) =-5(x-3)

Ty+28 =-5x+15
Sx+7y+28—-15=0
Sx+7y+13 =0

15. (2, 5) womb (4, 7) eteim yereflaemers
Cars@w CrrsCGsriiyn@Gs CFE@GSsTaaw,
A4 (1, 4) eerp yerefl aufl Qeededeugiomesr
CrirsCamLiqar FaTUTL oL g STenTs.

i
i R R e e i

QarasiiuL L Lereilset 4 (1,4) , B (2, 5)
womibd C (4, 7)

Caemeuwinent CrTGaML 1q.681 &MUl m 616578
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32
s CrirsaGann BC-5@) temi@ssns Siey:
2 _eiengy. e16vTG6, (1, -5) woHmib (4, 2) etesin Lsitefaemnen
mx1 = —1 Benerrig @b Caniq et BH\LILsief M
m = —1 6T60TS.

: o _ (144 —5+2) (5 -3
8&Cannengy) A (1, 4) euLfl QOFedeusTED, M (x, y)= T, BCHEY
Coemeuwnen CrirsCar iq.6u1 F6sTLIM(D) i X-oibihe Severmunen Gan i e

Y=y =mx—xy) gwesiun(y) y = b
y—4=-1(x-1) . (5 —3] i
pod= x4l 8 &Can( 2 auLfl Qz608Ima).
e1eoiGeu,x +y—5=10 y = —%
16. yw SiEHHEPLT FoLISQD, T GBld = yt 32

2L Qe (HSgewihsemer  gOLUDSIS,
(5,7) erevrp Leirerfl euifl Q6o eYid Crpirs:GamLig.6or
FLOGTLTL_6OL_5 SIT60TS.

girey:
x Qeu_(pSgiewi( ‘a’, y Cleul (S glewt( —a’
QeuL_ (hSzieT(n euigeiled CrirgGam g 6ot
Festun(h)

i_{_l =1
a b
22 - 1 (@rGsb=—a)
a b
6165i@eu, x—y = a ---(1)

(1) spemg (5,7) auflé Glgedeusmed
5-7=a-emhg a=-2

25661, Caemeuwinen CrirgCamiq.eir
gwesLm(p) X —y = —2; ggneugl x —y+2=0

. 4x—9y+36=06reirm Crir&:Cair(H W & Fsefled

gpURSSID Qe (HSIieT(hiseners Sresmrs.
Siey:
Qar@ssuuL L CriGar_(n swearun
4x—9y+36=10
61651G6u 4x — 9 .= -36
LBUDL —36 60 IS,
XY

2 (1)
(1)-g3 Qe BSg1emiD eugausgiL e Uil
x Qeul_ (DS gIew(®H a = —9;
y Qeul(h&aiewi( b = 4

. (1, -5) womw (4, 2) eaam yereflsener

Bwemagw Car_(hgiewnger BHLLeTef]
aflurss Ceedeaugid, SpssanTeunilns
BememTiLTETSILOT 60T CrirsCamiq.er
FaTUTL L& srewrs. (i) X Q&a (ii) ¥V g&a

2
= 2y+3 =0
ii. Y-=2158m@ Qenewtiwines Camiq 681
gwetun(h x = a

5 3
[OEACE3 () (E, 7) auLfl Qze0dIma).
5
&) -
5 2
e T & 5 - 0 =2x-5=0

19. Qar@ssuurL @m Yeteflaer auflé Qaeded
CrirCam g e FaTUTLOL5 STenTs.

4 2 .. (-1
0 (23) wos (2]
(i) (2, 3) widmb (-7, 1)

Sirey:
Grewi( Laef eufle Cleedenid Gam_iq 6ot
gestun(h

Yy—-h _ X=X

Vo= N X, =X

(2 v (3

Cxemeuwines gwesn(p)

y—% x—2
3=
L2 52
3
3y-2
3 _ x—2
D T
3 2
N 3y-2 _ 2x-4
-8 -5

= 15p+10 = —16x + 32
—16x—15y-22 =0
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[33]
SRR
ii. (2,3) wHmb (-7, -1) Sy
Caemeuwnen goem(p) i x Qe ssiew® a =4
y-3 _ x-2 y Qeul(psgiewwid b =-6
-1=3 =72 CrirsCa g6 eI
y-3  x-=2 y Xy
- _— = —_ . = J— - =
4 9 e DAV
= 9y +27 =-4x+8 Xy oy 6x—-4y
= 4x-9+19 =0 4 6 24
20. @ e xy-gesHed (-6, —4) eaip 203x-2y) L 3x-2y
Lereflufled 2 sz, (5, 11) ererrp Laraflufled 24 12
Q@@ UTed Uiy eneussLUL(heTergl. Ljener 3x-2y =12
flss @miSinw b uwenllggL Lred SihbS 3x-2y-12 =0
afllpwyding erefled, LTemeOL] LIHGHUSDSS ii. x QeuPsgiewwi a =5
Czemauwrer  urenguiler  FETUTL L& J Ol D6 B = 3
s, 28 4
CrirsCanL g6 swesLn(
(-6, —4) wHmb (5, 11) eTedtm Lsitefaemen LY o QI |
- .. . a ‘b -5 3
Benewrié @b CanL g6t Foesun( 3
L A X4y 3x—20y
Vo= N X, =X _—5 T =1 s 1
— y=(-4) _ x-(6) 3x—20y =-15
11-(-4)  5-(-6) 320y +15 =0
= %4 = x1+16 23. Qer@ssuuL L GuiGsrsefler  &wer
UL iq.68\(m w Faseflor  Cued
= 11y +44 =15x+90 FOGE U S

. (-1, 2) ereerm Leirerfl eulfl QFedaugiid,

. &Cp OQar@&ssuul(eter x, y Qe (S

= 15x— 11y +90—44 =0
=  15x—11y+46 =0

gmiey —% 2_enLwgjwrer CrirsGsmL g et

FOGTLITL_6WL_8 SIT6w0T8.
giey: S
sroul L yeiefl (<1, 2) emiey _T

Caemeuwnest gwestun y — y, = m(x — x;)
=5

= y-2=7 (D)

= 4y -8 =-5x-5

=5x+4y-3 =0

gewi(hsmers OCarewt CrisCar(haeafler
FORTUT(HSHENETE ST,
W46 ()-S5

gpUBSSID Qe (HSIierT(Hsemers Sresmrs.
()3x—2y—6=0(i)dx+3p+12=0

Qe (DS gieT(D euigeud Fwesiun(p
Y o=
a b

v a —x Ol (NS gIewT(H
b —y Qeu (NS g6w1(H)
i 3x-2y-6=0

:>3x—2y=6:3_x—2—y=
6 6
= Xy 1o a=2b=23
2 -3
4x+3y+12=0
4x + 3y =-12 (+ —12)
A 3y
12 -12
BN S
3 4

= .. a=-3,b=-+4
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24. 6x+8y+7=0 etevrp CriT&CHTL1q.607 FTUIeNEUS

. (i) 3x—7y=11-4@ DewewTwimesr

2x+ 3y —8=0,4x+ 6y + 18 = 0 gl

STEUT S,
Siey: |
] —X-6%1 Q& (LD 6 3
smieym=——————=—— =—=
y-6v1 Qas(Lp 8 4
3

ereuiGeu CritsCaMLIq.691 Fmuley — " S LD.

(i) 2x — 3y + 8 = 0 -5 QemEGSSTeT
Crir&CarLiqar sriiameais SremTs.
Sheu: ]
i. Qar(ssuul L CrirsCamiqes
gwestun(p) 3x — 7y =11
3x-T7y—-11=0

Bemever Can(haeflest nuiege
&b e1681LISN60 3X — 7y = 11 61681
CritaCan i n@ enewruing CamL_iq.evr
&nuley % ShSLD.
ii. QarsasLuLl L CrirsCam iq.65
gwesun( 2x — 3y + 8 =0
gnue| m = 2.2
-3 3
REMISH0 BTN C\&FEIGS S ew
CritsCGan_(p #nuieysefes
CLHSBSHMLIEVEHT —] 6TETLIGTED
2x =3y + 8 =0 etet1n CriT&Caniqn@F
OlemIGSSnen CaL iq.6v1

CrirCar(hser Qenewt cTarrd ST (NS,

Siey:

2x + 3y — 8 =0 e161n C&HML 19 63T FMUIEY
_ x-erlasw )

m=——-———=—=

y-ev1 QL 3
4x + 6y + 18 = 0 e16v1n CaHML_1q 68T FMUIEY
_ x-erlasw )
" y-ev1 QL 3
Qi m, = m,
ereriGeu @eriall(m CritsCanaeEpd

FMUI6Y&6T FLOLD.

BemewwTim@GLd.

27.

x—2y+3=0,6x+3y+8=0 g
Crir&Cam(haer eetmis0lsrem)
QeriGSF Tt 6TETS ST (DS,

siyey:
x—2y+ 3 =0 erev1p CriTtGCaM 19687 FMUI6Y

-9 -{1)-

6x + 3y + 8 = 0 e1ev1n CrriTGaML 19 68T FMUI6Y
a 6)
= —_— = — = _2
2 [bj [3

m XmZZ% x(-2)=-1

gniie|seNest QLSS HLIEVSS = =1 g &LD.
- Qer@ssuul L @rewih CriCar(hsenLd

Ol&FEIGHSSTTEDEUILITELD.

. gmuley srewrs. (i) Sy—3=0 (ii) 7x — % =

giey:
i 5,-3=0
; —x-61 Q&(1p 0
gnuley, m = - =—==0
y-6u1 Glap 5
i 7)c—i =0 =>7x= =
17 17
=0+7x+—
) _ x-e Qs -7
Fnuiey, m = Vet Qg ey

. (i) y=0.7x-11 -8 Qenewrurs

(i) x =-11 -& QerIGSSTS jeMOULD
CrirsCamiger sruienais Sresmrs.

(Siveu:

i. y=0.7x—11 ete51pn CaL 191 QewewsTuimest
Gamigesr gwestun(® v = 0.7x — k
. Gamigevr gmuiey = 0.7

il. x=-11
=>x+0p+11=0 (1)

(1) er6v1D CHHML 19651 ClFEIGHSHG) 6ulg LD

Ox—y+k=0

=>y=0x+k

. Camigeer gmie] = 0
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Stage - 2
E
Lo e A, S TAGE A | 3. AABC-Wesr ussmisar AB, BC wpmw AC
o - s Flwauprler  BEHLYeTellEaT  (penmCu
1P 1, —4), O (b, ¢) wdpud R (5, 1) eresriem P (11,7), Q (13.5, 4) wpmyd R (9.5, 4) erers.
8y CriCam1q60 Semwuw Leteaflser eTers. wsCaremsdear (pewerts ysteflser A, B
Gugid 2b + ¢ = 4, arefled, b wHMIS ¢ -uflest whmd C srewrs. Coeid, A4BC-ufler LpLienu
I srewrs. APQR-ulesr uptiyeir UL,
Siey: giey:
P (-1, —4), O (b, ¢) womid R (5, —1) etev1 P = AB-6v1 epwowiiyerefil
yeenaer G5 CrTCaM 1q.60 emaugTe) - [xl +x, y+ yz) _(11.7)
POR-wWlest Lty = 0 2 72 ’
X, +X
-1 -4 AT ] o =22 (1)
Lib ey n+y
215 -1 =>=—=2=7 =pyty=l4 —---(2)
-1 4 QO = BC-ev1 emwwiLienef
X, + X +
%{(cbzo)(4b+5c+ 1y =0 = [ e y22y3)=(13.5,4)
—c—b—-20+4b—-5¢c—-1 =0 X, +x,
3 6c ~21 (=3) = 2 F35\ = xytx = 27 —-(3)
P +
b-2c =7 (1) Y2~ X > 2 N 4 =y, ty;=8 ----(4)
Giogoi, db+e =4 —(2) v
(Qsr@ssuLLs) R = AC-6v1 emowiiyenen
(1) wHmid (2) SriLgest epeod B ClLimeug = (%, %} =(9.5,4)
b=3,c=-2
-------------------------------------------------------------- S35 295 Sxtxn=19 —(5)
2. A(-3,9), B (a, b) wipmud C (4, -5) ereviLiom
o Car_emwkg Yereflemer womuw if a + 5 =1 N Y _ 4 — 4y =8 (6
eresfled, a wHmID b -ullesr wHLimLS Srewis. 2
Siey: D+ +G)= 20r +x;+x;) =68
A4 (-3, 9), B (a, b), C (4, =5) elevtuewr @ X txtx; =34 ---(7)
CanLemwbg Lsiefilse wnHm)Lb Q)+@+(6)= 20, ty,ty;)=30
atb=1 -—-=-(1) Vitymtyi=15 —(8)
Gy CarLenwnhg 3 weafaer Olsrem_ () - (1)= x;=12
(p&Canevsrg st LirLi =0 7= G)= x,=7
Xo» y? ? (1) =(5)= x,=15
=2 bl-0 ®) - ()= y;=1
SR I (8)- @)= y =7
ol B0 (3)-(©)= 1,=7
= -3b-5a+36)—(9a+4b+15)=0 A(7,7), B(15,7) wpmib C (12, 1)
= —5a—-3b+36—-9a-4b—-15=0 X » 7 7
—14a-7b+21=0
- ¢ AABCsu"ruqu=lx2 vl LS 7
= —14a-7b=-21 2 DA TA 212 1
= l4a+7b =21 (+7) x 7 7
= 2a+b=3----(2) = 2 [(49+ 15+ 84) — (105 + 84 + 7)]
QarssliuL(heteng a + b =1 ----(1)

()-Q)=a=2 b=-1

N = N

[148 — 196]
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5. Qer@mssuurL.  yeteflser  ClemiGamesr

= % [-48] = 24 &.5

(. urliueTey GeHDWINg: B\(HHSS))

X0 11 7

APQR-est Ly = l X, W _ l 13.5 4
20x, y,| 295 4

XN 11 7

[(44 + 54 + 66.5) — (94.5 + 38 + 44)]

[164.5 —176.5]

= = N~

[-12] =6 5.9

(. urliLeTey GHeODWNS B\(HEHSS))

@uGuing) APOR -ev1 ULy = 6 &..9)
AABC-evt upliy = 24 5.9

. AABC-ev1 iy = 4 x APQOR-ev1 LipLiY

(-3, 8) ereip yeirefl eaufl GQFedeugd, Sw
sFasaflar  lems Qe (HSgiewr(Hsefler
Fa(pze0 7 2 enLwgorer GCuirsGsmLiger
FDATLITL_ L& SHTEwRTS.

a, b erss1Liest CleuL_(H&giewT(DG6I 6T6rTl60
a+b="T7 008 b=7—-a

Qe PSS B aulgeuld f+% =

a

%5(36u,£+ |
a T-a

©&Canneng) (-3, 8), er6v1m. 66N 6ULNE
LTINS Y

-3 8
—+

o S @Fess
= -3(7—-a)+8a = a(7—a)
21+3a+8a = T7a—a*
&8, a’ —Ta+ 11a—21=0
Bgemesid STLILIGET ppeoLd
@-3)(@a+7 =0
a = 3 oevevg a =7

a e16vTLIG) LDl6n; 6TEWT 6TEHTLIZT6D ¢ = 3 LHMILD
b=T-a=7-3=4

steoG60l, §+l =1

25Geu, Caemeuwinen CriréCam__iq.ev
gwestn( 4x +3y—-12=0

WECaTaTSmS IJMSGD 6Tars HTL(Hs.
Cueuw UJsrsred GCspmiens Blenpey
Qaulujior eTesT Sy TmUls.

(i) 4(1,-4), B (2,-3) womw C (4,-7)

@ii) L (0, 5), M (9, 12) widmd N (3, 14)

giey:

i. A(1,-4),B(2,-3)womwd C (4, -7)
S-(4)

1

AB-ullest muley = = - =1
Mo 1
7 (- —4
4-2 2

AC-ieir smitey= — 2% N2 23 4
4-(+1) 3

(ABuWlest #muiey) *(A4Cullest muiey)

1 x(=1)=-1

. AABC sievigy GlemiCanevst

(P&CaHmemnomEGLb.

(- ABLAC)

Agrared CammLiLig.,

AB* + AC* = BC*

(-d= \/(xz _x1)2 +(, _yl)2 )

AB? = (2 1P+ (-3 + 4y
(122

AC* = (4 1P+ (-7 + 4y
=3P+ (3= 18

BC> =(4—2)+ (=7 +3)?
= (22 + (-4 =4+16=20

AB?>+ AC*=2+18=20=BC*

61681 Blem LSS LILIL L ).
- QarssliuL L Lemalaer Lgnsrend
Capmgeng Blevpe Glauiub.
ii. L(0,5), M(9,12) wpmib N (3, 11)
LM-ulevt gnuiey = 12=5 _7
9-0 9
MN-west gnuiey = -2 _2 _ 1
3-9 -6 3
LN-wWlest gnuiey = =5 _ 9 3
3-0 3

(MN-wWest gnuiey) x (LN-ullest gmuiey)

(o

A. SIVAMOORTHY, BT. Asst. GHS, Perumpakkam, Villupuram Dt.

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

=

~MN 1r LN - BCevt #miiey = ADevt gmuiley.
A LMN e GlgmiGanewst (p&GamemTiomn@Lod. e1601Geu BC wyd AD wjib QemessiGCan(pser.
Ugrared CammLiLig, . e1e0iGeu ABCD epit Qemewsiarsens
MN? + LN? = LMP SIEDIDESD.
MN*=(3-9) + (14— 12)’ 7. A2,2), B (-2, -3), C (1, -3) wpmb D (x, y)

= (-6’ +(2)=36+4=40 Hw yereflser Denemarseng enos@d
LN* =3 -0)+ (14 -5)? ereufled, x HMIB y -wWile wienus srewrs.

= (3)2+ (9 =9+ 81 =90 Siray:
LM? =(9—0)* + (12 — 5) A4(2,2),B(-2,-3),C(1,-3) wpmud

=(9)*+ (7> =81 +49=130 D(x, y) e1681p Leitefisselt Qeveriarsens
MN?+ LN* =40+ 90 = 130 = LM’ SADLESGLD TSN

-RQar(&asLuL L LsTeflas Kgnarerd AB || €D wipmd BC || AD

Cahmsms Hermey Qeuiuib. - AD-ev1 gmile] = BC=et1 &l
-------------------------------------------------------------- y—2  -3(3) $—2 ~0
6. A4 (2.5, 3.5), B (10, 4), C (2.5, -2.5) wHmd = 2 1-(2) " —2
D(-5, 5) gpflwer Qemewrarglar (pener = y-2=0=y=2
yereflsat eremns sr(hs. CD-ev1 muiey = AB-61 gnuiey
giey: - y=(3) ~3-2
A(2.5,3.5) B (10, -4), x—1. 2.2
AB“'T&"U'_,Q_IZM C y+3 _ -5
X=X x—-1 -4
_A=35 _75 =-1 Y =2 et6vTLIS 60
10-2.5 7.5 5 5
C(2.5,-2.5), D (-5, 5), = =7 Dx-1=4=x=5
. 5-(25) PN Y | o T s e
CD evt gmiey= ————— 8. 4, 2), B (-5 -1) womw C (1, 9) -y
-5-25 . . .
75 wemerserres Carewr A4BC-uflesr (ewewr
= O+25_ Toe -1 Al mBg  auemTuiL@L  BHESCHTH
B et o _C7‘D5 ) _7"5 LHMID  GSSSCHETIgaT  FLATUTL L5
&1 gmiiey = CD 6wt &muley STERITS.
e1661Geu ABwyd CDw1b QewevstGam(H\sei Zier: 46,2
B (10,-4), C (2.5,-2.5),
-2.5-10
_ 25+4 _ 15 10
_ - . B D C
=75 -7.5 10 5,-1) 1,9
_I1s 1 AuledmHE euenTwiiLL L BH&GSHML Lq 65T
=75 5 gesium(h)
4(2.5,3.5), D (5, 5), BC Wt p@isiiehl = D (‘5; L ‘12+ 9)
-5-(3.5
ADevt gnilie] = —( )= —1'5 = —1'5 ><2 =D (-2,4)
-5-2.5 =75 =75 10 . .
s | AD et swesiun® A (6, 2), D (-2, 4)
T 5 s Y=h _ X7X%

Vo= W X, =X
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y-2 _ x—6 .. 3-0_3 1
= — = AC evt gniiey = =— ==

4-2 2-6 ENTFER TN

AC 1 BE

N y—=2 _ x-6

T g B (10, -2) BE et smiley =5
N y-2 _ x-6 B ulleS\mpiigl (p&Carems e siHliusasSns

1 -4 euemTWLILIL L &5816CHTL Iq 681 Fwestun(p)

= x—6 =-4y+8

Y=y = mx—xp)

y+2=-5(x-10)

y+2=-5x+50
5x+y—48=0

= x+4-14 =0

A ulleS(Bbg euenTUILILIL L (&53I5CHTL 1q.65T
Festun(h)

B(-5,-1),C(1,9)

smiey BC= 2221 — 9+1 _10 _ 3 10. Jsrared  Capmsmst  LwaTLHSSTLO60

Loxo 1456 3 1, —4), (2, -3) oy (4 ~7) er&i penewLy
AD 1 BC, ereurLigmed yeteflser em QeriGCsrem (p&Caramgamg
smiey AD = _?3 wHmd 4 (6, 2) MG 6Ters ST (HS.

A (1,-4), B(2,-3)wonib C (4, -7) pélwiewt
(P&CaTesTSH68T (LPem6sIL) Li6TaNSaT 616815,

AD e1681) &S515CHM 1q 651 FLoevn(h)
Y=y =mx-x)

-3
= y—-2=—=(x-6) -
5 AB-ullést gmiiey = SH4 1
= 5p—10 =-3x+18 2-1 1
= 3x+5y-28 =0 BC-Wllevt gmiiey = _47+23=_74=—2
9. AABC-uleir pewewsar A (-3, 0) B (10, —2)
womib C (12, 3) ererfled, 4 wHmid B-ulledpBa AC-Wlest muiiey = T4 -3
w&Caremrgdlar eFTUSSSHDEG eumTUIL 4-1 3
U@ GS535CasTLIgeT  FwaTLT(HSMeTS AB-ullett emiey x AC-ullest emiey = (1) (-1)
SRS, 4 &40 =-1
giey: &Ceu, AB gyev1g) AC-5) Clem@GSSnELd.
b STl S ©551S
B(10,-2) C(12,3) ZA=90°
BC et smivey = Vo= N Fa S stes1Geu, AABC gy ez ClamGeanevt
X, L\, N010,-2) (12,3) (Pp&ECHTERTLD Y @GLD.
3+2 5 | T T T T T T
~ 12J:10 = % 11. 4 (-4, 2) wHms B (6, —4) steip Lereflsener
BC 1 AD PwemsEw  mwLWS  (GS5ZSCHTLIq 6T

2 . . . .
AD 6UI' EITU:IQ.| _ g A (_3’ 0) FLOGUTLITL_ 605 SHITCUITS,.
( Sirey: |

A4 (-4, 2) womibd B (6, —4) etedin Yeieflsenern
Bemewrid @b CaL g6 Fweaun(p

A WeSpibgl (p&Canessle sidliusasSns
euemTWLILL L &5&I6CaHML 1q 651 e

Y=y =m(;c—x1) _ y=2 _ x—(-4)
y=0 ==~ (x+3) —4-2  6-(-4)
5y = 2x—6 N y-2 _ x+4
- 10
2x+5y+6 =0 6

= 10y-20 = —6x-24
A(=3,0) C(12,3)
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%]
= 6x+10y+4 =0
= 3x+50+2=0 -—--(1)
QlemEIE58 FweaLn(h

5x-3y+k=0 ---(2)

gwern( (2) syeo181 AB-6v1 enowid euLlF

AEZNEAY:
AB-wlest emwowiieiel = (

L2Q)=5()-3-1)+k=0
=>5+3+k=0=2k=-8

Caemeuwnent gwesrun@ 5x — 3y —8 =10

skksk

—4+6 2-4

Y

2
= (19_1)
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-\

(5 & TaRTEdILIcY

5 1DSWICILIGDISH 6T

2
1. cosec® + cot) = P eresfled, cosO = Pz —1
sraLms BenLlssaib. P +1
girey:
cosecO + cotd = P (1)
cosecl — cotf = % -—--(2)
1
(H+@2)= 2cosecd = P+ >
2
2 cosecl = P+l ---(3)
P
(1)-Q@)=  2cot) = P %
2
2 cotd = il -——-(4)
P
P -1
2cotd P
4)/(3) = -
#/6) 2cosecl P +1
cotd _ PR-1
cosecl P +1
cosé i Pr—1
- X sinf =
sin@ P> +1
2
cosd = L —1
P> +1
BlepLssliuL L g).
2. (cos’A—sin’4) _ (cos’A+sin’A)
cosA —sinA cosA +sinAd
=2 sinAcosA erierueng BlepUlSsaLb.
giey:
cos’ A —sin’ 4 [ cos® A+sin’ 4
cos A—sin 4 cos A+sin 4

(cos A—sin A)(0052 A+sin® A+ cos Asin A)
cosA—sin 4

((cos A+sin A)(cos2 A+sin® 4 —cos Asin A)\
cos A+sin A
[- a*~b* = (a—b) (a*+b* +ab)
a*+b® = (a+b) (a*+b*—ab)]
= (1 + cosA sind) — (1 — cosA sinA)
=1+ cosA sind — 1 + cosA sind
= 2co0sA sinA

3. Udeteumd pnomr@menwsener BlemLissab.

sin*A+cos’4  sin’A—cos’A4 _
sinA4 + cosA sinAd — cosA4

@EI@ x = s5ind, y = cosA elevis.
sin® 4+ cos® 4 N sin® 4—cos® 4

sin A+ cos A

LHS =

sin A—cos A

STy =@ ty) (e xy )
=y =(x—-y) (+mty?)
B (sin A+ cos A)(sin2 A —sin Acos A+ cos® A)

sin’4 +cos-4
N (sin A—cos A)(sin2 A +sin Acos A + cos’ A)

sind—cos A
= sin’A — sindcosA + cos*A + sin*A + sind cosA
+ cos’A
=2 (sin*A+ cos*A) (. sin*4 + cos*4 = 1)
=2 = RHS 61w HlemLisasL1LL L g).

4. seoquiler 185 ewm yereflllellmbg 30
5 2 wpepeter  sULLSZler  Cueyerer
owm GCamyrsdlar o wOMWL 2 Fufler
agnnsCaremrEiser (penpGu 45° wHmid 60°
aefled, GCamursdler 2 wrSmss sSrewrs.

(V3 =1.732)
AAPBed
TSSO
tan0 = —— — R
3I(DSSI6TET LISSHD o
tan 45° = ﬂ
BP
o 30
BP
BP = 3015
ABPC o5 tan 60° = B€
BP
\/g _ h+30
30
303 = h+30
h =303 -30
=30(1.732- 1)
= 30(0.732)

. Gamyrsdlest 2 wird = 21.960 15
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Stage - 2
7]

5. emair SeameLw afilgnE Geuefluiled &
BlarniClsrent(H @b garareler 254 whHmid
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GSIUL_OLear el uilmearyw Carsg eripgayw.
1. A={a,b,p}, B=1{2,3},C={p, q, 1, s} eresfled n[AUB)*B] sy eurg:
3 8 <) 20 @12 /)16
2.  n(A)=p, nB) = q aafled A -ulleflBHg B -5@ FlenLs@Gw Qwrsg 2 peajsaflear aenrenflsmawurearg

30 <) 1 @H2ri—1 ) 2P

3. F,=1,F,=3wvomw F,=F, , + F,, aewé Qar(hssLiger, F; syerg:
33 ) S a8 m) 11
4. t, ty, t; ... TRTUGI R Fal_HS QASTT euflens ereufled, tg, tys, tig, .... TATLG:
) @@ CUmHEBEGHS QBT auflens =) @ FL- (DS R auflens
8) @@ LS CaLiT suflenawwedev, CLHSES QBT auflengu|ede0
) (1 Hledls QFMLiT euflens
5. -3 Ty -27 eTETLIG):
y 3y
9y 9y’ 21y —-42y+21 Ty =2y +1)
) — R ¢/ A ) —- 2 7
)3 =) (21y=21) & 3y’ ) y?
6. @ BmUY FLATUNLIGET QITLLLD Q5 .
1) CrisCan® &) QUL L LD @) ureuemeTwILD ) SiFlLTeuenenud
AB B
7. DE % eresfled AABC wmmis AEDF erliQumpg) eugOaurssenauwns gienowb?
o) [B=[E <) |A=|D 8 [B=[D m) [A =[F
8. aLLsdlar AsrHCarOw Sigar YT CFEIGSSTS Sjenown L Lb:
S|) mwwLd <) Qsryeief 8) wrgeled ) BT6UST
9. X-9FH&E CFRIGIHTE 2_ater CHISCHTL g6 FTlay:
) 1 <) 0 @) ) —1
10.  sin6 = cos0 ereufled 2tan’0 + sin’0 — 1 -ewr WEILy:
3 3 2 2
2 -z = ) — =
31) 5 ) 2 ) 3 ) 3
11.  gymbd 5 Q.5 wHmibd Frywrw 13 G&.15 2 amLw CriaL L& sabLiler 2 wyb:
3) 12 Q&8 <) 10 Qg8 @) 13 Qe.8 /) 5 Q.5
12. swwrer el Lib wHMID WKL 2.mLW @F 2 mHeeT, @ Saldl LOMID oW, Csrerggler ser
Sisraysafler alldlgib:
s)1:2:3 <)2:1:3 @1:3:2 m)3:1:2
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13.

14.

GIui L sreyl yereflseflar sn@ged wHmis syrefl syfluene wenmGu 407 wHmd 11 erefled,
graju Leteflaefler srewtewflaenaswmeg:

o) 37 =) 4477 8) 396 ) 418

S EIHlev TS ZIF6T (2, b, ....., Z) -eBHESI R TS FwaumiiLiy wenpuiled Cxie) CeuLLBIHDF!.
SIBS TSI X -6 Whewgw awssisafle) paiprs JoLusperer Blspsse:

12 1 a2 3
=D 73 <b) 13 ) % )

26

GMILL: eremauCuggid 10 aflerrssens@ allomweflss. allarr aen 28-8@ s_Lrwwrs el weflssab.

15.
16.
17.

18.

19.
20.

21.

22.

23.
24.

25.
26.

27.

28.

10x2=20
B xA={(-2,3),(-2,4),(0, 3), (0,4), (3, 3),(3,4)} etexled A wmmid B gy Hwieumenms srevvis.
fof (k) =35, f(k) =2k —1 etetilev k -6t oSl 1emLIS Snewsiss.
x+ 6, x + 12 womubd x + 15 eteviuest e CQLBSEGHS QOMLiT euflensulles GClgr_ESwinest epesim)
2_MILILSET 6T6vTl60 X-63T oSl IenLIS SHTeswis.
x+2 X’ —x—6
12y?
Aesreumd @ Ul é FLO6TLITL 1 68T ppeomiseTles Seemioenwis snewres, 2x° —x — 1 =0
UL 560 AD eteviuigy ZBAC -ullest @mawbleuiqwin@d. AB.= 10 @g.15, AC = 14 Q&5 wnmyw BC
= 6 Qlg.15 et6vled, BD wpmid DC -8 snesis.
A

&i(H&G5.

6'cm
QR Lhewer Xy sensdled (—6, —4) 6t Lsienuiled 2 etengy. (5, 11) etedim Leieulled e LIMed LjL ig.
emeussLILL (DeTengl. Lhewen &S @GniSlw smmd Lweisgit uned SmphS elmwLSIng eele,
LITemeVL! LIh&GeuSn @SS Caemeuwimes Limensullest FLOGITLITL 60L& SHT6wtTs.
12y = — (P+3)x+12, 12x-7p.= 16 o 8w CrisGarbae eeinistsnam tami@sg) seled, 'P' -ulles
wSlLIeMLIS SHTewTs.

secd sin@

— te . . .
sinf  cosp oL eeiLiens Blem L1556, LD.

Hegrenens Qaremi(h 7 S r@pw, 24 15 2 WHQPL 2L W QU Faldl| QlqelsH Fnl MILD
2 (HeurssLLGBEDS. ClFaiaus algeals SEsnele seob 4 L5 616860, B LD SHTews.

B Canemmissiles g rmset afllflgw 4 : 7 eefled eunile sevr SieneyseileT el srewrs.
Qar&sLILL L Sra|ll LsTelsensd efFa wpmib efFas Clapemneais srems.

63, 89, 98, 125, 79, 108, 117, 68.

A vpnid B opflw @ eflewtesriiugnriaet [T -ulled Careugnanss srsHmLLeiser. Qeuaeied
A Caib0shssliL@eusnaes Blapassey 0.5. A wpnibw B @@meumw Caibls®éssiu@eugsnane
Blawpssey 0.3 sefled, B CsimnolshsasliL@eusnanes Hapgaea) 0.8 e HlemLlssea,b.

p? x q' x r* x $*=3,15,000 etetrmeunmy emLowjib 616816d p, q, I LOHMID S SpHweuHBles LI semens
SHTETTTS.
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GPILIY: TemauCueyd 10 aflerrss ems @ allenweflésalb. aflerr et 4 2-8@ sL_LTwwrs aflsLweflssa)b.

29.

30.

31.
32.

33.

34.

35.
36.

37.

38.

39.

40.

41.

42.

10x5=50
f: A — B etesip enjunesig f(x) = z_ 1, erevt eusmTwniSsLILGEDG. @EiE A = {2, 4, 6, 10, 12},
B=1{0,1,2,4,5,0} =5 @mé@w Cung eniy f -2 Weteumd (penm&eied @nlésea|b.
(1) sufleng Camgaeier sewrd (ii) L euenewwr (iii) SLSEGM UL D (1V) euewrLLLD
@ Qgmallaister aT(DoHEHSHE 1 (P60 49 euenr CIFT_TEFS WSS 556060551 auPEISLILIL (H6ToTg).
OQendledlenr el 1un@ (pevienigns 2 eten af(Dsaller sgalessnsalar gl (hg Clgramawnerg
Oengledls afi1gn@L Letengns 2 sren af(haaler ssalovssrisailea gl (Hd Csramass@s Fowb
e168led FbSedlesr aTL (H& 5560160555658 SHTEvTTs.
5+55+555+ ... 61681 QBT euflengullent (LpFHed N 2 MLiL|S6eM6wT Fn (DGO SHTEwTs.
Spaanemid epein) widlselled Siemwhs ebEIsmL Crilwed FwaLn_ (B CanEGLisamer &i&Hs.

3y

x+20=7 +10=2z+5=110 - (y+z)
529 b7

A= [1 ) SJ’ B=1|1 2 |emefle0 (AB)T =BTAT 6'T6'6.'I'IJ6'6)Q')3‘ Elﬂurﬁ]’é;&mﬁ)_
5 -1

P ST @ew_Oleuslulled 'a’ S L wpmud 'b' LT 2 wiypeien @resti(n STevwigsT 2 6Tenewr. ST
ewviseen 2 FSulledlmbg s1HCTween grewiaeies oilq 8@ eusnTwi(Hib Car\asT Fhdle@Lw
a

b
P B LT sTetTLIEnS HlemLiSa6a L.

Ganever @(heEwbleuL g CannHens 61(pd) lemLlGse L.
(8, 6), (5, 11), (-5, 12) womid (4, 3) HHw Gerefaener (pewenaemias CleTewTL BIMHaTSHHeu

LTLI68)LI& SHT650T15.

yeirefflullest 2_wiriomevg,

Tx — 3y = =12, 2y = x + 3 ydw Crisabarbser shdlegn Letal eufl ClFedeugin X-oi&66E
B enevrnesigionest CniT&EGHIL 1q.60T ELOTLINL_6WL_5 SHT6wTs.

Q@ seomsamT allensssdler o FSllemHhg eHO TS LssEISile 2 atenr Grewi( sLiLedseT 30°
woHnibd 60° @n&ss Catamgdled LMFssLLOSames. seomaar alasasdler 2 wrw 'h' 1S. @
SLILISOS6IT LDHMILD HEVEISHEN] eleTSHSHH6UT 3)iqL1LIGHS %@wmm 075 CrT&GaM1q.60 SjemLndleimest
6168160, QrewT(H HLILIVSEHHE BevLLILIL L ClgTeneve, N 5. o651 HlemLS &6 Ld.

i 2 Hememuilest oymid HMID 2 wrEiseiler elflsn 5 @ 7 oy @Ww. e euswenurLi 5500 &.0&.15
6163160, 2_(HemaTullest. QLTLD LHMILS 2 UIFLD ST6EsTTs.

D6 Ferig GHBBU aflpralng 150 BUTS6T SEIGEUSDE QR(H FalTID HEOWLEIDTT. dnl_MTSHSHlewr
SlqliL@Gd 2 mever eugailein CuopL@Gd) gnbdL eugelle)d 2 6Tengl. meT SEIGuSNE 4 &.15
Slglin@dl urtiyw 40 &.15 smpnib CaemauliLGEng. FaL_Tr5Hle 2 (Henetullesr 2 wirnd 8 1S eTeled
SnlbLI60T 2_ WD ST6vwTs.

Brewi(h Ernevt LasewLsaT (ewpwins Cr CrrsHled 2 mHL L LiLSlemest.

(1) @rewi(® usemLs6iaibd Cr(ps WL HenL_&s

(1) (& LI saMeT CILIHESBHLIVETT LIS 6TEsTewwTNS SHlewL_5d

(ii1) (& LI saMNET n(HG60 LIS cT6wTERTTS SlenL_&a

(iv) s wélliyseiler anzed 1 e BmHss

A={xeW/x<3),B=xeN/1<x<5)wpm C = {3, 5, 7) etefled A x (BUC) = (AxB) U (AxC)
CTVTLIENSE FHlLIMTSHS6LD.
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GOILL: Smarsg allamssens@ allwLweflssa)b. 2x8=16

43. =) 4 Qg5 guueTeT euL L LD euenThgl, SiFe enwwSSHedlmhg 11 ClF.15 Clgreneuailediemer e(m
yeefenwd @GNsal, SLiyetefulledmhg eul L s8N Qrewi( CstCar(hssm euenrs.
(2166051)

<) Sigliussd BC = 8 Qe85 LA = 60° wpmin LA -eit @ gwbleu_qwinesigy BC -g D eresim
yetefulled BD = 6 Q.15 eresimeunmy sidladmg steled, (p&sGanewiio ABC euemrs.

44. o) eafafler QeuaiGeun ema seMed 6 UL L RS eUMTHSTET. L L auenesrulled 2 eTereumm,
eealbleun el L dlesr el L SHM@w, Sigesr anpetalh@n 2 erten Camrmus CETLiLs@
(1 UETLILLD euenTuwa|b. Jigener LeL(hSd) el L onesig) 6 Q&5 o8 Sme@w Cung
auL L SJlei &MHDeTeneUs Hrewsis.

el L1b (X) Q&.18 1 2 3 4 5

apmerey (y) Q.5 3.1 6.2 9.3 12.4 15.5

(1606051)
&bV =x"—5x— 6 -3 euDTLILLD uemTTHSI, iFenertlt LweLBSS x° = 5x — 14 = 0 651
FLOBTLMNL_6OL_5 &T&HHea L.

%k Kk
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